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6ÕFDNOÕN�HQ�X\JXQ�E�\�PH�VÕFDNOÕ÷ÕQGDQ�\XNDUÕ\D�GR÷UX�oÕNWÕ÷ÕQGD�IRWRVHQWH]�YH� VROXQXP� GHQJHVL� ER]XOGX÷XQGDQ�� ELWNLOHUGH� E�\�PH� \DYDúODU�� 6ÕFDNOÕN� DUWÕúÕ��ELWNLQLQ� NHQGLQH� |]HO� HQ� \�NVHN� E�\�PH� VÕFDNOÕ÷ÕQÕ� JHoHFHN� ROXUVD� ELWNL� |QFH� ELU�GXUJXQOXN� GHYUHVL� JHoLULU�� (÷HU� EX� VÕFDNOÕN� DUWÕúÕ� X]XQ� V�UHOL� GHYDP� HGHUVH�� ELWNL�WRSUDN� �VW�� RUJDQODUÕ� LOH� GHYDPOÕ� ND\EHWWL÷L� VX\X�� N|NOHUL� LOH� NDUúÕOD\DPD]�� |QFH�\DSUDNODUGDQ� EDúODPDN� �]HUH� \HúLO� RUJDQODU� VDUDUPD\D� EDúODU�� %LWNLQLQ� GHYDPOÕ� VX�ND\EHWPHVL� LVH��SURWRSODVPDQÕQ�SÕKWÕODúPDVÕQD�YH�ELWNLQLQ�|O�P�QH�QHGHQ�ROXU�� �%X�GXUXP�VÕFDN�U�]JDUODU�HVWL÷LQGH�oRN�GDKD�KÕ]OÕ�VH\UHGHU��(VHU�����������
'L÷HU� PH\YH� W�UOHULQGH� ROGX÷X� JLEL� ELU� oLOHN� oHúLGLQLQ� EHOLUOL� ELU� E|OJHGH�\HWLúWLULOLS� \HWLúWLULOHPH\HFH÷L��]HULQH� HWNL� HGHQ� IDNW|UOHULQ� HQ�|QHPOLOHULQGHQ�ELULVL�GH� VÕFDNOÕNWÕU�� 6ÕFDNOÕN� IDNW|U�� GH� J�Q� X]XQOX÷X\OD� oRN� VÕNÕ� ELU� úHNLOGH� LOLúNLOLGLU��<�NVHN�VÕFDNOÕN�JLEL�ROXPVX]�NRúXOODUD�|]HO�NRUXPD�WHGELUOHUL�DOPDN�JHUHNPHNWHGLU�$QFDN�YHULPGH�EX� WHGELUOHUH�SDUDOHO�RODUDN�X\JXQ�ELU�DUWÕú�VD÷ODQDELOLUVH�HNRQRPLN�RODELOHFHNWLU��$÷DR÷OX��������
0RGHUQ�oLOHN�\HWLúWLULFLOL÷LQGH�NXOODQÕODQ�oHúLWOHULQ�VÕFDNOÕN�YH�J�Q�X]XQOX÷XQD�NDUúÕ� J|VWHUGLNOHUL� IDUNOÕOÕNODU�� GH÷LúLN� E|OJH� úDUWODUÕQD� DGDSWH� RODFDN� oHúLWOHULQVHoLPLQGH� |QHPOL� URO� R\QDPDNWDGÕU�� %LU� oLOHN� oHúLGLQLQ� HQ� L\L� úHNLOGH� DGDSWH�RODELOHFH÷L� \HU�� RQXQ� VÕFDNOÕN� YH� J�Q� X]XQOX÷X� EDNÕPÕQGDQ� LVWHNOHULQH� HQ� X\JXQ�FHYDEÕ�YHUHELOHQ�E|OJHGLU��$÷DR÷OX��������
,úÕN�� ELWNL� E�\�PHVL� LoLQ� HQ� |QHPOL� GH÷LúNHQGLU�� ,úÕN�� EDúODQJÕo� RODUDN�IRWRVHQWH]�LoLQ�JHUHNOL�RODQ�HQHUML\L�VD÷ODU��+HU�]DPDQ�IRWRVHQWH]LQ�ELU�SDUoDVÕ�RODUDN�ROPDVD� GD�� ELWNLQLQ� E�\�PHVLQGH� YH� JHOLúPHVLQGHNL� GH÷LúLPOHU� ÕúÕN� WDUDIÕQGDQ�NRQWURO�HGLOPHNWHGLU���$QRQ\PRXV��������
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)DUNOÕ�ELWNL�W�UOHULQLQ�IDUNOÕ�RSWLPDO�ÕúÕN�VHYL\HOHUL�YDUGÕU�YH�EXQGDQ�GROD\Õ�KHU�ELWNL� W�U�� LoLQ� EX� RSWLPDO� VHYL\HOHUL� NRUXPDN� LoLQ� ÕúÕN� VHYL\HOHULQL� G�ú�UPHN� YH\D�\�NVHOWPHN� JHUHNHELOLU�� +HUKDQJL� ELU� ELWNL� W�U�� LoLQ�� ELWNL� DUDOÕNODUÕ�� EHVOHQPH�VHYL\HOHUL� YH� ELWNL� \DúÕ� RSWLPDO� ÕúÕN� VHYL\HVLQL� HWNLOH\HELOLU�� <DSÕODQ� DUDúWÕUPDODUD�J|UH� oLOHN� LoLQ� RSWLPDO� ÕúÕN� VHYL\HVL� �������� PPROHV�P�VHF� RODUDN� EHOLUOHQPLúWLU����������$QRQ\PRXV���������
*|OJHOHPH�J�QHú�ÕúÕQODUÕQÕQ�PH\YH��\DSUDN�YH�ELWNL�J|YGHVLQGH�VHEHS�RODFD÷Õ�J�QHú�\DQÕNODUÕQÕ�D]DOWDUDN��PH\YH�NDOLWHVL��]HULQH�ROXPOX�HWNLOHUGH�EXOXQPDNWDGÕU��$\UÕFD�J|OJHOHPH�LOH�WRSUDNWDQ�RODQ�HYDWUDQVSUDV\RQ�YH�ELWNLOHULQ�WRSODP�VX�W�NHWLPL�D]DOPDNWD� YH� E|\OHFH� VX� VÕNÕQWÕVÕ� oHNLOHQ� E|OJHOHUGH� EX� VRUXQ� NÕVPHQ� GH� ROVD�|QOHQHELOPHNWHGLU�
*|OJHOHPH� DPDFÕ\OD� NXOODQÕODQ� J|OJH� PDWHU\DOOHUL� DúÕUÕ� VÕFDNODUÕQ� ROXPVX]�HWNLVLQL� D]DOWPDVÕQÕQ� \DQÕ� VÕUD� ELUoRN� E|OJHGH� �UHWLPLQ� HQ� |QHPOL� DúDPDVÕ� RODQ�PH\YH� ROJXQODúPDVÕ� G|QHPLQGHNL� úLGGHWOL� GROXQXQ� QHGHQ� RODFD÷Õ� PHNDQLN�]DUDUODQPD\Õ� YH� EXQXQ� VRQXFXQGDNL� �U�Q� ND\ÕSODUÕQÕ� GD� D]DOWWÕ÷Õ� ELOLQPHNWHGLU��,VUDHOL�YH�DUN���������
6RQ� \ÕOODUGD� \DSÕODQ� oDOÕúPDODUD� J|UH� J|OJHOHPHQLQ�� PH\YH� JHOLúLPL�� PH\YH�YHULPL� YH� oLoHN� WRPXUFX÷X� ROXúXPX� �]HULQH� ROXPOX� HWNLOHUL� EHOLUOHQPLúWLU�� $\UÕFD�\DSUDN� YH� PH\YH� VÕFDNOÕ÷ÕQGD� G�ú�úOHUH� QHGHQ� ROGX÷XQGDQ� GROD\Õ� PH\YH� NDOLWHVL��]HULQGH� ROXPOX� HWNLOHU� \DSPDNWDGÕU�� %X� VD\HGH� \�NVHN� VÕFDNOÕ÷ÕQ� PH\YH�ROJXQODúPDVÕ� G|QHPLQGH� \DSWÕ÷Õ� WDKULEDWODU� |QOHQPLú� ROPDNWDGÕU�� $\QÕ� ]DPDQGD�J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHULQ�� DoÕNWD� \HWLúWLULOHQ� ELWNLOHUH� RUDQOD� VX�W�NHWLPOHULQLQ�GDKD�D]�ROPDNWDGÕU��3HQJ�YH�DUN���������
0H\YH� \HWLúWLULFLOL÷LQGH� DWPRVIHU�ELWNL�VX� LOLúNLVLQGH�� ELWNLGH� VX� GHQJHVLQLQ�VD÷ODQPDVÕ� YH� NRUXQPDVÕ� VXODPD� DoÕVÕQGDQ� LVWHQLOHQ� ELU� |]HOOLNWLU� �.ÕUQDN� YH�'HPLUWDú��� ������� dLOHN� DúÕUÕ� VX\D� NDUúÕ� KDVVDV� ELU� ELWNLGLU� EX� QHGHQOH� GHQJHOL� ELU�VXODPD� \DSÕOPDOÕGÕU�� $úÕUÕ� VXODPD� VRQXFX� PDQWDUL� KDVWDOÕNODU� YH� NORUR]� RUWD\D�oÕNPDNWDGÕU�� dLOHN� VX\X� VHYHQ� ELU� ELWNLGLU� DQFDN� JHUH÷LQGHQ� ID]OD� VXODPD� VX\X�
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X\JXODPDVÕ� WDEDQ� VX\XQXQ� \�NVHOPHVLQH� YH� WX]OXOXN� VRUXQXQXQ� RUWD\D� oÕNPDVÕQD�QHGHQ� ROPDNWDGÕU�� *HUHN� DúÕUÕ� VX� NXOODQÕPÕ� JHUHNVH� GUHQDM� VLVWHPLQLQ� oHúLWOL�QHGHQOHUOH�HWNLQ�ELU�úHNLOGH�oDOÕúPDPDVÕ�\�]�QGHQ�]DPDQOD�WRSUDNWD�WX]�G�]H\L�DUWDU��YHULP�D]DOÕU���$QRQ\PRXV���������
0H\YH� LULOL÷L� YH� \�NVHN� YHULPLQ� DUWPDVÕ oLOHNWH� VXODPD� WHNQLNOHUL� LOH� |QHPOL�GHUHFHGH�LOLúNLOLGLU��dLOHN�|]HOOLNOH�NÕVD�V�UHOL�VX�VWUHVL�SHUL\RGXQGDQ��\�]OHN�N|NOHUH�VDKLS� ROGX÷XQGDQ� GROD\Õ� GDKD� oRN� HWNLOHQLU�� $\QÕ� ]DPDQGD� \DSUDNWDQ� RODQ�EXKDUODúPD� DUWÕNoD� YH� WRSUDN� VX\X� GD� \HWHUOL� GH÷LOVH� \DSUDN� VÕFDNOÕ÷ÕQGD� DUWÕú�J|U�OPHNWHGLU�� %X� GD� ELWNL\L� YH� �U�Q�� ULVNH� VRNPDNWDGÕU� �0DQQLQL� YH� $QFRQHOOL���������
6X\XQ� NÕVÕWODQPDVÕ�� K�FUH� JHOLúLPL� YH� E|O�QPHVL� �]HULQGH� ROXPVX]� HWNL�\DUDWDUDN� ELWNLQLQ� E�\�PHVLQL� HQJHOOHPHNWHGLU�� <DSUDN� VX� PLNWDUÕQGDNL� D]DOPDNORURILO� VHQWH]� KÕ]ÕQÕ� \DYDúODWWÕ÷Õ� JLEL� NORURILO� SDUoDODQPDVÕQÕ� KÕ]ODQGÕUPDNWDGÕU��g]HOOLNOH�NORURILO�ND\EÕ�ELWNL\H�YHULOHQ� VX�PLNWDUÕ� \DQÕQGD�X\JXODQDQ�VWUHV� V�UHVLQH�GH�ED÷OÕGÕU��<DSUDNODUGDNL�NORURILO�SDUoDODQPDVÕ�\DúODQPDGDQ�GD�ND\QDNODQDELOLU��6X�VWUHVLQLQ�ELWNLOHUGH�\DúODQPD\Õ�DUWWÕUGÕ÷Õ�ELOLQPHNWHGLU��.UDPHU��������
(ULú� YH� DUN��� ������¶GH� DVPD� ILGDQODUÕ�� .D\QDú� YH� DUN��� ������¶GH� úHIWDOL� YH�QHNWDULQ� ILGDQODUÕQGD� VX� VWUHVLQLQ� PRUIRORMLN� GH÷LúLPL� LQFHOHPLú� YH� E�\�PHQLQ� VX�QRNVDQOÕ÷ÕQD�ED÷OÕ�RODUDN�D]DOGÕ÷Õ�WHVSLW�HWPLúOHUGLU�
6XODPD�VX\XQXQ�oLOH÷LQ�JHOLúLP�HYUHOHULQH�J|UH�|QHPOL�HWNLOHUL�EXOXQPDNWDGÕU��(\O�O�� HNLP� G|QHPLPGH� oLOHN� ELWNLVLQLQ� N|N� E|OJHVLQGH� \HWHUOL� G�]H\GH� VX\XQ�EXOXQPDVÕQÕQ�JHOHFHN�\ÕOÕQ��U�Q�Q��VD÷OD\DFDN�RODQ�oLoHN�WRPXUFXNODUÕQÕQ ROXúXPX�YH� JHOLúLPLQH� NXYYHWOH� HWNL� HWWL÷L� ELOLQPHNWHGLU�� $\UÕFD� QLVDQ� G|QHPLQGH� WRSUDNWD�\HWHUOL� VX\XQ�EXOXQPDVÕQÕQ�PH\YH� WXWXPX��PD\ÕV�YH�KD]LUDQ�G|QHPLQGH� LVH�PH\YH�LULOL÷L��]HULQGH�HWNLOL�ROPDNWDGÕU���.UXJHU�YH�DUN���������
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dLOHN�� X\JXODQDFDN� VXODPD SURJUDPÕ� DoÕVÕQGDQ� ROGXNoD� GLNNDW� LVWH\HQ� ELU�PH\YH�W�U�G�U��d�QN��VXODPD�SURJUDPÕQGD�\DSÕODFDN�KDWDODU��QHPOL�G�]H\GH�YHULP�ND\EÕQD�\RO�DoDELOPHNWHGLU��dLOHN�ELWNLOHUL�VX�VWUHVLQH�NDUúÕ�ROGXNoD�GX\DUOÕGÕU��)DNDW�DúÕUÕ�G�]H\GHNL�VXODPDQÕQ�YH�WRSUD÷ÕQ�X]XQ V�UHOL�GR\JXQ�KDOGH�NDOPDVÕQÕQ�GL÷HU�N|N�KDVWDOÕN� HWPHQOHULQLQ� JHOLúLPLQLQ� DUWPDVÕQD� GD� \RO� DoPDNWDGÕU� �0F1LHHVK� YH� DUN�������������
%X�oDOÕúPD�*$3�%|OJHVL�NRúXOODUÕQGD�³0XLU´�oLOHN�oHúLGLQGH�\DSD\�J|OJHOHPH�X\JXODPDVÕ� DOWÕQGD� VX� G�]H\OHULQLQ� HWNLVLQL� DUDúWÕUPDN� DPDFÕ\OD� \�U�W�OP�úW�U��$UDúWÕUPDGD�oLOHNWH�PH\YH�G|QHPLQGH�\DSÕODQ�J|OJH�YH�VX�X\JXODPDVÕQÕQ�ROXPOX�YH�ROXPVX]� HWNLOHUL� LQFHOHQPLúWLU�� $UDúWÕUPDGDQ� HOGH� HGLOHQ� VRQXoODUÕQ� \D]� G|QHPLQLQ�VÕFDN� JHoWL÷L� E|OJHOHUGH� YH� |]HOOLNOH� VHPL�DULG� LNOLP� NRúXOODUÕQGD� oLOHN�\HWLúWLULFLOL÷LQGH�NDUúÕODúÕODFDN�VRUXQODUÕQ�o|]�P�QH�ÕúÕN�WXWDFD÷Õ�G�ú�Q�OPHNWHGLU�
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���g1&(.ø�d$/,ù0$/$5
'H÷LúLN� PH\YH� W�U� YH� oHúLWOHULQ� IDUNOÕ� LNOLP� NRúXOODUÕQGD� J|OJHOHPH� YH\D� VX�X\JXODPDODUÕQÕQ�� YHULP� YH� NDOLWH� JLEL� ELWNL� |]HOOLNOHULQH� RODQ� HWNLOHULQL� EHOLUOHPHN�DPDFÕ\OD� ELUoRN� oDOÕúPD� \DSÕOPÕúWÕU�� %X� oDOÕúPDODUGDNL� DPDo�� J|OJHOHPH� LOH� G�ú�ú�J|VWHUHQ�PH\YH�� \DSUDN�� WRSUDN� VÕFDNOÕ÷ÕQÕQ� ELWNL� JHOLúLPL� �]HULQGH� HWNLOHULQLQ� \DQÕ�VÕUD� \DSUDN� YH� PH\YHGH� ROXúDFDN� IL]\RORMLN� GH÷LúLPOHUL� LQFHOHPHNWLU�� <LQH� VX�G�]H\OHULQLQ� PH\YH� YHULPL� YH� ELWNL� JHOLúLPL� �]HULQGHNL� HWNLOHUL� ELUoRN� DUDúWÕUÕFÕ�WDUDIÕQGDQ� LQFHOHQPLúWLU��$QFDN� \DSÕODQ� oDOÕúPDODU� VRQXFXQGD� HOGH� HGLOHQ� EXOJXODU��EXOXQXODQ� E|OJH\H� W�U� YH� oHúLGH�� LNOLP� YH� WRSUDN� NRúXOODUÕQD� J|UH� IDUNOÕOÕNODU�J|VWHUPHNWHGLU��
6KRXER� YH� DUN�� �������� IDUNOÕ� J|OJHOHPH� NRúXOODUÕ� DOWÕQGD� oD\� ELWNLVLQLQ�EL\RNLP\DVDO�� IL]\RORMLN� YH� \HWLúPH� NDUDNWHUOHULQH� RODQ� HWNLVLQL� LQFHOHPLúOHUGLU��$UDúWÕUÕFÕODU�� \R÷XQOX÷X�����YH�����J|OJH�NRúXOODUÕ� DOWÕQGD� \HWLúWLUGLNOHUL� ELWNLOHUL�NRQWURO� ELWNLOHUL� LOH� NDUúÕODúWÕUGÕNODUÕQGD� oLoHN� WRPXUFX÷X� RUDQÕQÕQ� �����¶GHQ������¶\H�G�úW�÷�Q�� WHVSLW� HWPLúOHUGLU��<LQH�J|OJHOHPH�NRúXOODUÕ� DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGHQ�DOGÕNODUÕ�����WRPXUFXN�D÷ÕUOÕ÷ÕQÕ�NRQWURO�ELWNLOHUL�LOH�NDUúÕODúWÕUGÕNODUÕQGD�RUDQÕQ� ���� GDQ� �����¶\H� G�úW�÷�Q�� WHVSLW� HWPLúOHUGLU�� $UDúWÕUÕFÕODU�� oLoHN�WRPXUFX÷X�RUWDODPD�D÷ÕUOÕ÷Õ�YH�\R÷XQOX÷XQXQ�oD\ÕQ�NDOLWHVLQL�YH�YHULPLQL�HWNLOH\HQ�WHPHO� IDNW|UOHU� ROGX÷XQX� EHOLUWPLúOHU�� $\UÕFD� oLoHN� WRPXUFX÷X� \R÷XQOX÷XQXQ�J|OJHOHPH�NRúXOODUÕ�DOWÕQGD�D]DOGÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU��
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2VPDQ� YH� 'RGG� �������� ����� ����� ���� YH� ���� RUDQODUÕQGDNL� J|OJH�PDWHU\DOOHULQL� ³2VWDUD´� oLOHN� oHúLGL� �]HULQGH� GHQHPLúOHUGLU�� $UDúWÕUÕFÕODU� GHULP�|QFHVL� \DSÕODQ� J|OJHOHPHQLQ�� PH\YH� \�]H\� SDUODNOÕ÷Õ� PH\YH� HWL� VHUWOL÷L�� WRSODP�o|]�QHELOLU� NXUX� PDGGH� LoHUL÷L�� WLWUH� HGLOHELOLU� DVLW� RUDQÕ� YH� WD]H� PH\YH� D÷ÕUOÕ÷Õ��]HULQH� RODQ� HWNLOHULQL EHOLUOHPH\H� oDOÕúPÕúODUGÕU�� $QFDN� J|OJHOHPHQLQ�� PH\YHQLQ�IL]LNVHO� YH� NLP\DVDO� |]HOOLNOHUL� �]HULQGH� |QHPOL� ELU� HWNLVLQLQ� ROPDGÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU��%XQXQOD�ELUOLNWH�J|OJH�X\JXODPDVÕQÕQ�PH\YH�NDOLWHVL�� UDI�|PU��YH�GHSR�V�UHVL��]HULQGH�ROXPOX�HWNLOHULQL�VDSWDPÕúODUGÕU�
(O�*L]DZ\� YH� DUN�� �������� LNL� GRPDWHV� oHúLGLQLQ� PH\YH� YHULPL� YH� NDOLWHVL��]HULQH�J|OJHOHPHQLQ�HWNLVLQL�LQFHOHPHN�DPDFÕ\OD�\D]�VH]RQX�ER\XQFD�\DSWÕNODUÕ�ELU�oDOÕúPDGD�� ���� YH� ���� RUDQODUÕQGD� J|OJH� HWNLVL� VD÷OD\DQ� J|OJH� PDWHU\DOOHUL�NXOODQPÕúODUGÕU��$UDúWÕUÕFÕODU��PDNVLPXP�PH\YH� YHULPLQLQ� YH� KDFPLQLQ����� J|OJH�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGHQ�DOÕQGÕ÷ÕQÕ�VDSWDPÕúODUGÕU��+HU�LNL�J|OJH�\R÷XQOX÷XQGD�WLWUH� HGLOHELOLU� DVLW� \�]GHVLQGH� |QHPOL� GHUHFHGH� DUWÕú� ROGX÷XQX�� DQFDN� PH\YHOHULQ�WRSODP� o|]�OHELOLU� NXUX� PDGGH� YH� DVNRUELN� DVLW� LoHUL÷LQLQ� WDP� WHUVL� H÷LOLP�J|VWHUGL÷LQL� ELOGLUPLúOHUGLU��$\QÕ� ]DPDQGD� J|OJHOHPH� LOH�PH\YHOHU �]HULQGH�ROXúDQ�J�QHú�\DQÕ÷Õ�RUDQÕ�|QHPOL�GHUHFHGH�D]DOGÕ÷ÕQÕ�EHOLUOHPLúOHUGLU�
0LXUD�YH�DUN����������SODVWLN�VHUD�NRúXOODUÕQGD�\�U�WW�NOHUL�oDOÕúPDGD�����
OÕN�J|OJH� X\JXODPDVÕQÕQ� oLOHNWH� SULPHU� PH\YHQLQ� úHNHU� LoHUL÷L�� UHQNOHQPHVL� YH�E�\�NO�÷�� �]HULQH� ÕúÕN� \R÷XQOX÷XQXQ� HWNLOHULQL� DUDúWÕUPÕúODUGÕU�� *|OJHOHPH�X\JXODQPD\DQ� N�o�N� oDSD� VDKLS� RODQ� ELWNLOHUGH� oLoHNOHQPHGHQ� VRQUD� oLIW� VLJPRLG�úHNLO�J|]OHPLúOHUGLU��$UDúWÕUÕFÕODU�oLoHNOHQPHGHQ����J�Q�VRQUD�³D´�GH÷HULQLQ�KÕ]OÕ�ELU�DUWÕú� J|VWHUGL÷LQL�� DNVLQH� ³E´� GH÷HULQLQ� oLoHNOHQPHGHQ� VRQUDNL� J�QOHUGH� GHUHFH�GHUHFH� D]DOGÕ÷ÕQÕ� ELOGLUPLúOHUGLU�� *|OJH� X\JXODPDVÕQGD� PH\YHOHUGH� oLIW� VLJPRLGDO�PH\YH� úHNOL� WHVSLW� HGHUOHUNHQ�� J|OJH� X\JXODPDODUÕQÕQ� \DSÕOGÕ÷Õ� PH\YHOHULQ� WDP�NÕUPÕ]Õ�UHQJH�XODúDELOPHVL�LoLQ�oLoHNOHQPHGHQ�VRQUD�GDKD�X]XQ�ELU�SHUL\RGD�LKWL\Do�RODFD÷ÕQÕ� EHOLUWPLúOHUGLU�� $\QÕ� ]DPDQGD� DUDúWÕUÕFÕODU�� J|OJH� X\JXODPDODUÕ� \DSÕOPÕú�PH\YHOHUGH� NXUX� D÷ÕUOÕNWD����� D]DOPD�PH\GDQD� JHOGL÷LQL� VDSWDPÕúODUGÕU�� � *OLNR]��IUXNWR]�YH�VDNNDUR]�LoHULNOHULQGH�LVH�J|OJH�X\JXODPDVÕ�\DSÕOPD\DQODUD�QD]DUDQ�GDKD�G�ú�N�GH÷HUOHU�WHVSLW�HWPLúOHUGLU�
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0DQQLQL� YH� $QFRQHOOL� �������� oLOHNWH� \DSUDN� VÕFDNOÕ÷Õ� YH� VX� VWUHVL� �]HULQH�\DSWÕNODUÕ�oDOÕúPDGD��\DSUDN�VÕFDNOÕ÷ÕQÕQ�ELWNLOHULQ�VX�VWUHVLQLQ�WDKPLQLQGH�NXOODQÕODQ�\HQL� ELU� \|QWHP� ROGX÷XQX� EHOLUWPLúOHUGLU�� $UDúWÕUÕFÕODU�� oLOHNWH� PH\YH� LULOL÷LQLQ� YH�YHULP�DUWÕúÕQÕQ VXODPD�WHNQLNOHUL\OH�|QHPOL�GHUHFHGH�LOLúNLOL�ROGX÷XQX��|]HOOLNOH�NÕVDV�UHOL� VX� VWUHVL� SHUL\RGXQGDQ� \�]OHN� N|NH� VDKLS� ROPDVÕ� QHGHQL\OH� GDKD� oRN�HWNLOHQGL÷LQL� ELOGLUPLúOHUGLU�� $UDúWÕUÕFÕODU�� \DSUDNWDQ� RODQ� EXKDUODúPD� DUWWÕNoD� YH�WRSUDN� VX\X� ELWNL� LoLQ� \HWHUOL� GH÷LOVH� \DSUDN� VÕFDNOÕ÷ÕQGD� DUWÕú� RODFD÷ÕQÕ�EHOLUWPLúOHUGLU��$\QÕ�]DPDQGD��VX�VWUHVL�RUDQÕQÕQ�\DSUDN� KDYD�VÕFDNOÕ÷ÕQÕQ�|Oo�POHUL�IDUNÕ� LOH� \�NVHN� �U�Q� DUDVÕQGD� NRUHODV\RQ� ROGX÷XQX� WHVSLW� HWPLúOHUGLU��$UDúWÕUPD\D�J|UH�PDNVLPXP��U�Q�'7���q&�GH�DOÕQÕUNHQ��PLQLPXP��U�Q�Q�VXODQPD\DQ�JUXSWDQ�DOÕQGÕ÷ÕQÕ�VDSWDPÕúODUGÕU�
(O�*L]DZ\� YH� DUN�� �������� DUD]L� úDUWODUÕQGD� \D]� VH]RQX� ER\XQFD�� GRPDWHV�ELWNLVLQLQ� J|OJHOHPH� NRúXOODUÕ� DOWÕQGD� SHUIRUPDQVODUÕQÕ� DUDúWÕUPÕúODUGÕU�� %XQD� J|UH��J|OJHOHPH�DUWÕNoD�ELWNL�ER\X�YH�\DSUDN�DODQÕQGD�DUWÕú�ROGX÷XQX��IDNDW�\DSUDN�VD\ÕVÕ�YH� \DSUDN� NXUX� D÷ÕUOÕ÷ÕQGD� |QHPOL� GHUHFHGH� D]DOPD� ROGX÷XQX� VDSWDPÕúODUGÕU��$UDúWÕUÕFÕODU� J|OJHOHPH� DUWÕNoD� HNLP� LOH� oLoHNOHULQ� oÕNÕúÕ� DUDVÕQGDNL J�Q� VD\ÕVÕQÕQ�DUWWÕ÷ÕQÕ�YH�DoÕNWD�\HWLúWLULOHQ�ELWNLOHUOH�NDUúÕODúWÕUGÕNODUÕQGD��J|OJHOHPH�\R÷XQOXNODUÕ�DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGH� ELWNL� EDúÕQD� G�úHQ� oLoHN� VD\ÕVÕQÕQ� D]DOGÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU��$\UÕFD�J|OJH�\R÷XQOX÷X�DUWÕNoD�\DSUDNODUÕQ�WRSODP�SLJPHQW��NDUDWHQRLG��YH�NORURILO� D��E�VHYL\HOHULQLQ�DUWWÕ÷ÕQÕ�DQFDN�D]RW��SRWDV\XP�YH�IRVIRUXQ�DNVL�\|QGH�H÷LOLP�J|VWHUGL÷LQL�EHOLUWPLúOHUGLU��
,VUDHOL� YH� DUN�� �������� ³*UDLQG�1DLQ´�PX]� oHúLGLQLQ� YHULPOLOL÷L�� E�\�PHVL� YH�PRUIRORMLVL� �]HULQH� �o� IDUNOÕ� J|OJHOHPH� G�]H\L� NXOODQDUDN� ELULQFL� YH� LNLQFL� �UHWLP�G|QHPL� V�UHVLQFH� \DSWÕNODUÕ� oDOÕúPDGD�� ELWNLOHUL����������YH�����RUDQÕQGD� J|OJH�HWNLVL� VD÷OD\DQ� J|OJH� PDWHU\DOOHUL� LOH� NDSODPÕú�� NRQWURO� ELWNLOHULQL� LVH� DoÕNWD�EÕUDNPÕúODUGÕU��$UDúWÕUÕFÕODU�����RUDQÕQGD�\DSÕODQ J|OJHOHPHQLQ�oLoHNOHQPH�WDULKLQL��� J�Q� JHFLNWLUGL÷LQL� YH� VDONÕP� D÷ÕUOÕ÷ÕQÕ� ��� RUDQÕQGD� D]DOWWÕ÷ÕQÕ�� � ���� RUDQÕQGD�\DSÕODQ� J|OJHOHPHQLQ� oLoHNOHQPH� WDULKLQL� �� J�Q� JHFLNWLUGL÷LQL� YH� VDONÕP� D÷ÕUOÕ÷ÕQÕ�����RUDQÕQGD�D]DOWWÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU��
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����RUDQÕQGD \DSÕODQ�J|OJHOHPHQLQ�LVH�oLoHNOHQPH�WDULKLQL����J�Q�JHFLNWLUGL÷LQL�YH�VDONÕP� D÷ÕUOÕ÷ÕQÕ� ���� RUDQÕQGD� D]DOWWÕ÷ÕQÕ� EHOLUWPLúOHUGLU�� %�W�Q� J|OJHOHPH�VHYL\HOHULQGH� \DSUDN� DODQÕ� YH� YHULPLQ� D]DOGÕ÷ÕQÕ� DQFDN� \DSUDN� NORURILO� LoHUL÷LQLQ�DUWWÕ÷ÕQÕ�ELOGLUPLúOHUGLU��
1RH� YH� (FFKHHQ�� �������� D÷DoODUÕ� IDUNOÕ� D\GÕQODWPDODUD� PDUX]� EÕUDNDUDN��³*ROGHQ� 'HOLFLRXV´� HOPD� oHúLGLQLQ� úHNLO� YH� \DSÕVÕ� �]HULQH� ÕúÕ÷ÕQ� HWNLVLQL�DUDúWÕUPÕúODUGÕU��$UDúWÕUÕFÕODU� XOWUDYL\ROH�E� YH�PRU� GDOJD� ER\OX� ÕúÕQODUÕQÕ� NHVHQ� FDP�\�Q�� SRO\VWHU� ELU� WDEDND� NXOODQDUDN� J|OJHOHPH� X\JXODPDVÕQD� WDEL� WXWWXNODUÕ�D÷DoODUGD�� PH\YH� X]XQOXN� YH� oDS� RUDQÕQÕQ� G�ú�N�� IDNDW� PH\YH� UHQNOHQPHVLQLQ�\�NVHN� VHYL\HOHUGH� ROGX÷XQX� WHVSLW� HWPLúOHUGLU�� 0DYL�89%� ÕúÕQODUÕQÕQ� úHNLO� YH�UHQNOHQPH\H�ELU�HWNLVLQLQ�ROPDGÕ÷ÕQÕ�YH�NÕUPÕ]Õ�NÕ]ÕO�|WHVL�ÕúÕQODUÕQÕQ�LVH�PXDPHOHOHU�DUDVÕQGD�PH\YH�YHULPL�EDNÕPÕQGDQ�|QHPOL�ELU�IDUN�\DUDWPDGÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU�
<DNXVKLML�YH�DUN����������³)X\X´�7UDE]RQ�KXUPDVÕ�oHúLGLQLQ�PH\YH�NDOLWHVL�YH�LULOL÷L� �]HULQH� J|OJHOHPHQLQ� HWNLVLQL� LQFHOHPHN� DPDFÕ\OD�� D÷DoODU� �� IDUNOÕ� PH\YH�JHOLúLP� G|QHPLQGH� ���� RUDQÕQGD� J|OJHOHPH� \DSDQ� |UW�� PDWHU\DOOHUL� LOH�NDSODPÕúODUGÕU�� $UDúWÕUÕFÕODU�� PD\ÕV� VRQXQGDQ� WHPPX]� VRQXQD� YH� D÷XVWRV� EDúÕQGDQ�HNLP� EDúÕQD� NDGDUNL� G|QHPGH� \DSWÕNODUÕ� J|OJH� X\JXODPDVÕQÕQ�� VXGD� o|]�QHELOLU�WRSODP� NXUX� PDGGH� RUDQÕQGD� D]DOPDODUD� YH� PH\YH� UHQNOHQPHVLQGH� JHFLNPHOHUH�QHGHQ� ROGX÷XQX� VDSWDPÕúODUGÕU� 2OJXQODúPD� G|QHPLQGH�� � HNLP� VRQXQGDQ� DUDOÕN�EDúÕQD�NDGDU�\DSÕODQ�J|OJHOHPH�LOH�DoÕNWDNL�D÷DoODU�DUDVÕQGD�KDVDWWD��VXGD�o|]�QHELOLU�NXUX� PDGGHGH� RUDQÕQGD�� PH\YH� HWL� VHUWOL÷LQGH� YH� PH\YH� LULOL÷LQGH� |QHPOL�IDUNOÕOÕNODUD� UDVWODQPDGÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU�� *|OJHOHPH� LOH� DOÕQDQ� YHULOHUH� J|UH�PH\YH�UHQNOHQPHVLQLQ�JHFLNWL÷LQL�EHOLUWPLúOHUGLU�
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5RWXQGR�YH�DUN����������J|OJHOHPHQLQ�E|÷�UWOHQOHUGH�PH\YH�ROJXQODúPDVÕ��QHW�IRWRVHQWH]� RUDQÕ�� VWRPD� LOHWNHQOL÷L� YH� \DSUDN� NORURILO� LoHUL÷L� �]HULQH� HWNLOHULQL�LQFHOHPHN� �]HUH� \DSWÕNODUÕ� oDOÕúPDGD� ³� %ODFN� 6DWLQ´� YH� ³6PRRWKVWHP´� � E|÷�UWOHQ�oHúLWOHUL� WDP� J�QHú� ÕúÕ÷Õ� YH� ���� RUDQÕQGD� ÕúÕN� \R÷XQOX÷X� D]DOWÕOPÕú� J|OJHOHPH�NRúXOODUÕ� DOWÕQGD� \HWLúWLULOHUHN� NDUúÕODúWÕUÕOPÕúWÕU�� $UDúWÕUÕFÕODU� J|OJHOHPHQLQ� ³%ODFN�6DWLQ´� oHúLGLQGH� KDVDW� G|QHPLQL� ��� J�Q�� ³6PRRWKVWHP´� oHúLGLQGH� LVH� ��� X]DWWÕ÷Õ�WHVSLW� HGLOPLúWLU�� %X� G|QHPLQ� X]DPDVÕ\OD� ³6PRRWKVWHP´� oHúLGLQGH����� YH� ³%ODFN�6DWLQ´� oHúLGLQGH� LVH� ��� RUDQÕQGD� WRSODP� �UHWLPGH� DUWÕú� ROGX÷X� EHOLUOHQPLúWLU���*|OJHOHPH� LOH� IL]LNVHO�YH�NLP\DVDO�PH\YH�NDUDNWHUOHULQGH�ELU�GH÷LúLNOL÷LQ�ROPDGÕ÷Õ�J|]OHQPLúWLU��
&KHQ�YH�DUN����������0��HOPD�DQDFÕ��]HULQH�DúÕOÕ���\DúOÕ��&R[¶V�2UDQJH�3LSLQ��HOPD�oHúLGLQGH�� GH÷LúLN� WHUEL\H� VLVWHPOHUL� NXOODQDUDN�����RUDQÕQGDNL� J|OJHOHPHQLQ�PH\YH� YHULP� YH� NDOLWHVL� �]HULQGHNL� HWNLVLQL� LQFHOHPHN� DPDFÕ\OD� ELU� DUDúWÕUPD�\DSPÕúODUGÕU��<�WUHOOLV�WHUEL\H�úHNOL�LOH�6OHQGHU�VSLQGOH�WHUEL\H�úHNOL�NDUúÕODúWÕUÕOPÕúWÕU��%XQD� J|UH�� DUDúWÕUÕFÕODU� <�WUHOOLV� úHNOL\OH� WHUEL\H� HGLOPLú� YH� DoÕNWD� EÕUDNÕOPÕú�D÷DoODUÕQ�� 6OHQGHU� VSLQGOH� úHNOL\OH� WHUEL\H� HGLOPLú� YH� J|OJHOHQPLú� D÷DoODUD� J|UH�PH\YH� YHULPLQLQ� YH� LULOL÷LQLQ� GDKD� \�NVHN� ROGX÷XQX� WHVSLW� HWPLúOHUGLU�� <�WUHOOLV�WHUEL\H� VLVWHPL� X\JXODQPÕú� YH� DoÕNWD� EÕUDNÕOPÕú� D÷DoODUÕQ�� VXGD� o|]�QHELOLU WRSODP�NXUX�PDGGH��QLúDVWD�� JOLNR]�� IUXNWR]�YH� VDNNDUR]� LoHUL÷LQLQ��6OHQGHU� VSLQGOH� WHUEL\H�VLVWHPL� X\JXODQPÕú� YH� J|OJHOHPH� X\JXODPDVÕQD� WDEL� WXWXODQ� D÷DoODUGDQ� DOÕQDQ�PH\YHOHUH� J|UH� GDKD� \�NVHN� ROGX÷XQX� VDSWDPÕúODUGÕU� $UDúWÕUÕFÕODU� J|OJHOHPH�X\JXODPDVÕQÕQ��PH\YHOHULQ�1��3��.�LoHUL÷LQL�DUWWÕUGÕ÷ÕQÕ��YH�.��&D�YH�0J�LoHUL÷LQL�LVH�D]DOWWÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU�
3HQJ�YH�DUN����������dLQ¶GH�ELU�\DúOÕ�³'HOWD´�YH�³+LGNQLJKW´�SRUWDNDO�oHúLWOHUL��]HULQGH�\DSWÕNODUÕ�oDOÕúPDGD�VXQL�J|OJHOHPHQLQ�ÕúÕN�\R÷XQOX÷X��PH\YH�UHQNOHQPHVL���\DSUDNWDNL�QHW�&2� RUDQÕ�YH�ELWNL�JHOLúLPL��]HULQH�RODQ�HWNLVLQL�EHOLUOHPHN�DPDFÕ\OD�ELU� DUDúWÕUPD� \DSPÕúODUGÕU��$UDúWÕUÕFÕODU���D\OÕN�J|OJHOHPHQLQ���D\OÕN�J|OJHOHPHGHQ�GDKD� HWNLOL� VRQXoODU� YHUGL÷LQL� YH� J|OJH� X\JXODPDODUÕ� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHULQ��DoÕNWD \HWLúWLULOHQ� ELWNLOHUH� RUDQOD� V�UJ�Q� ER\XQGD� YH� oDSÕQGD� GDKD� ID]OD� DUWÕúROGX÷XQX�WHVSLW�HWPLúOHUGLU��8\JXODPDODU�DUDVÕQGD�\DSUDNWDNL�QHW�IRWRVHQWH]�RUDQÕ�LOH�
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KDYD� RUDQVDO� QHP� G�]H\LQGH� |QHPOL� IDUNOÕOÕNODUÕQ� EXOXQPDGÕ÷ÕQÕ�� IDNDW� DoÕNWD�\HWLúWLULOHQ�ELWNLOHULQ�J|OJH�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUH�RUDQOD�GDKD�ID]OD�VX\D�LKWL\Do�J|VWHUGLNOHULQL� YH� WRSUDN� VÕFDNOÕ÷ÕQÕQ� GD� DoÕNWD� \HWLúWLULOHQ� ELWNLOHUGH� GDKD� ID]OD�ROGX÷XQX�WHVSLW�HWPLúOHUGLU����
6RUUHQWLQR� YH� DUN�� �������� J|OJHOHPHQLQ� ]DPEDNODUÕQ� YHULPOLOL÷LQH� YH�IL]\RORMLOHULQH� RODQ� WHSNLOHULQL� LQFHOHPHN� DPDFÕ\OD� \DSWÕNODUÕ� oDOÕúPDGD�� IDUNOÕ�\�NVHNOLNWHNL� ELWNLOHUGH� �U�Q� VH]RQX� ER\XQFD�� \DSUDN� YH� KDYD� VÕFDNOÕ÷ÕQÕ�� \DSUDN�IRWRVHQWH]LQL�� NORURILO� LoHUL÷LQL�� \DSUDN� DODQÕQÕ�� YH� ELWNL� NXUX� PDGGH� PLNWDUÕQÕ�J|]OHPOHPLúOHUGLU��$UDúWÕUÕFÕODU�KDVDWWD�NRQWURO�ELWNLOHULQ��UHWLP�NDOLWHVL��J|OJHOHQPLú�ELWNLOHUGHQ� ELUD]� GDKD� \�NVHN� ROGX÷XQX� WHVSLW� HWPLúOHUGLU�� $\UÕFD� \HWLúPH� VH]RQX�ER\XQFD�� J�QHú� ÕúÕ÷ÕQD� PDUX]� NDODQ� \DSUDNODUGD� NDUERQGLRNVLW� GH÷LúLP� RUDQÕQÕQ�D]DOGÕ÷ÕQÕ� VDSWDPÕúODUGÕU�� $oÕNWD� \HWLúWLULOHQ� ELWNLOHUGH� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ�GH÷HULQLQ� \�NVHN�� J|OJHOHQPLú� ELWNLOHUGH� LVH� G�ú�N� ROGX÷XQX� EHOLUOHPLúOHUGLU��*|OJHOHPH�LOH�WUDQVSUDV\RQ�YH�WRSUDN�HYDSRWUDQVSLUDV\RQX�D]DOPÕúWÕU�
0F� $UWQH\� YH� DUN�� �������� .DOLIRUQL\D
GD� �6H\YDO� %ODQF�� YH� �'H&KDXQDF���]�P� oHúLWOHUL� �]HULQGH� \DSPÕú� ROGXNODUÕ� oDOÕúPDGD�� KHU� ELU� oHúLWWHNL� ELWNLOHULQ�\DUÕVÕQÕ� oLoHNOHQPHGHQ� KDVDGD� NDGDU� NL� V�UH� LoLQGH� ���� J|OJH� DOWÕQD� DOPÕúODU� YH�J|OJH X\JXODPDVÕQÕQ� IRWRVHQWHWLN� DNWLI� UDG\DV\RQX� DoÕN� J�QOHUGH� ���� RUDQÕQGD��NDSDOÕ� J�QOHUGH� LVH� ���� RUDQÕQGD� D]DOWWÕ÷ÕQÕ� VDSWDPÕúODUGÕU�� $UDúWÕUÕFÕODU� WRSODP�\DSUDN� DODQÕQÕQ�� J|OJHOHPHGHQ� VRQUDNL� \ÕO� GD� D]DOGÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU��*|OJHOHPHQLQ�o|]�QHELOLU�úHNHU�NRQVDQWUDV\RQXQX��N|N�NXUX�D÷ÕUOÕ÷ÕQÕ�YH�WRPXUFXN�SDWODPDVÕ�VÕUDVÕQGD�NVLOHPGHNL�DPLQR�QLWURMHQ�PLNWDUÕQÕ�D]DOWWÕ÷ÕQÕ�EHOLUWPLúOHUGLU�
%HSSX� YH� .DWDRND� �������� ���� YH� ���� RUDQÕQGDNL� \DSD\� J|OJHOHPHQLQ��³6DWRKQLVKLNL´� NLUD]� oHúLGLQGH� VÕN� UDVWODQDQ� oLIW� SLVWLO� ROXúXPX� �]HULQH� HWNLOHULQL�LQFHOHPHN� DPDFÕ\OD� ELU� oDOÕúPD� \DSPÕúODUGÕU�� $UDúWÕUÕFÕODU� ���� RUDQÕQGD� J|OJH�VD÷OD\DQ�J|OJH�PDWHU\DOL�J�QO�N�PDNVLPXP�VÕFDNOÕ÷Õ�RUWDODPD�����q&������RUDQÕQGD�J|OJH�VD÷OD\DQ�J|OJHOHPH�PDWHU\DOL�LVH�J�QO�N�PDNVLPXP�VÕFDNOÕ÷Õ�RUWDODPD�����q&�D]DOWWÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU�� ���� RUDQÕQGD� J|OJH� VD÷OD\DQ� J|OJHOHPH� PDWHU\DOL�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGH�oLIW�SLVWLO�ROXúXPX������oLoHNOHQPH�LVH������RUDQÕQGD�
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D]DOÕUNHQ�� ���� RUDQÕQGD� J|OJHOHQHQ� ELWNLOHUGH� oLIW� SLVWLO� ROXúXPXQXQ� GDKD� ID]OD�ROGX÷XQX�ELOGLUPLúOHUGLU��$UDúWÕUÕFÕODU�VÕFDN�\D]�D\ODUÕ�ER\XQFD�\DSD\�J|OJHOHPHQLQ��oLIW�SLVWLO�ROXúXPXQX�D]DOWWÕ÷Õ�VDSWDPÕúODUGÕU�
:DQJ�YH�&DPS���������µ(DUOLJORZ¶�YH�µ.HQW¶�oLOHN�oHúLWOHULQLQ�PH\YH�NDOLWHVL�YH�ELWNL�JHOLúLPL��]HULQH���J�Q�Q�JHFH�J�QG�]�VÕFDNOÕNODUÕQÕQ� ����������������������������� HWNLVLQL� DUDúWÕUPÕúODUGÕU�� <DSUDNODUÕQ� JHOLúPHVL� LoLQ� RSWLPXP� JHFH�J�QG�]�VÕFDNOÕ÷ÕQÕQ�������q&��N|N�YH�PH\YH�JHOLúLPL�LoLQ�RSWLPXP�VÕFDNOÕ÷ÕQÕQ�������q&��YH�W�P� ELWNL� JHOLúLPL� LoLQ� RSWLPXP� JHFH�J�QG�]� VÕFDNOÕ÷ÕQÕQ� ������ q&� ROGX÷XQX�EHOLUOHPLúOHUGLU�� $UDúWÕUÕFÕODU� PH\YH� \�]H\L� YH� PH\YH� HWL� UHQJLQLQ� GDKD� NR\X� YH�SLJPHQW� \R÷XQOX÷XQXQ� GDKD� \�NVHN� ROPDVÕQÕQ� JHFH�J�QG�]� VÕFDNOÕ÷ÕQÕQ� \�NVHN�ROPDVÕQGDQ�� \DSUDN� UHQJLQLQ� GDKD� SDUODN�� GDKD� \HúLO� YH� GDKD� \R÷XQ� SLJPHQW�LoHUPHVLQLQ� LVH� JHFH�J�QG�]� VÕFDNOÕ÷ÕQÕQ� G�úPHVLQGHQ� ND\QDNODQGÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU�� $UDúWÕUÕFÕODU�� \HWLúPH� VÕFDNOÕ÷ÕQÕQ� \�NVHOPHVL� LOH�PH\YH� NDOLWHVLQH� HWNL�HGHQ� VXGD� o|]�QHELOLU� NXUX� PDGGH�� WLWUH� HGLOHELOLU� DVLW�� VXGD� o|]�QHELOLU� NXUX�PDGGH�WLWUH� HGLOHELOLU� NXUX�PDGGH� RUDQÕ� YH� DVNRUELN� DVLW� LoHULNOHUL� JLEL� |]HOOLNOHUGH�G�ú�ú�PH\GDQD� JHOGL÷LQL� ELOGLULUOHUNHQ�� ������ q&� VÕFDNOÕ÷ÕQGD�PH\YHOHUGH� EXOXQDQ�WRSODP� NDUERQKLGUDW�� JOLNR]� YH� IUXNWR]XQ� PLNWDUODUÕQÕQ� DUWWÕ÷ÕQÕ�� VÕFDNOÕ÷ÕQ�\�NVHOPHVL\OH�EX�|]HOOLNOHU�D]DOGÕ÷ÕQÕ�EHOLUWPLúOHUGLU��0H\YHGH�HQ�\�NVHN�VDNNDUR]�LoHUL÷LQLQ� ������ q&� GH� ROGX÷XQX� YH� HQ� G�ú�N� VDNNDUR]� LoHUL÷LQLQ� LVH� ������ q&� GH�ROGX÷XQX�WHVSLW�HWPLúOHUGLU��$UDúWÕUÕFÕODU�PH\YH�YH�ELWNL�JHOLúLPL�VÕUDVÕQGDNL�������q&�GHNL�J�QG�]�JHFH�VÕFDNOÕ÷ÕQÕQ�PH\YH�NDOLWHVLQL�D]DOWWÕ÷ÕQÕ�EHOLUOHPLúOHUGLU�
*OHQQ�YH�DUN����������HOPD�D÷DoODUÕQD�X\JXODGÕNODUÕ�\DQVÕWÕFÕ�ILOP�PDGGHVLQLQ�PH\YH� YHULPL�� PH\YH� NDOLWHVL�� PH\YH� VÕFDNOÕ÷Õ�� \DSUDN� IL]\RORMLVL�� J�QHú� ]DUDUÕ��]HULQH�RODQ�HWNLOHULQL�LQFHOHPLúOHUGLU��$UDúWÕUÕFÕODU�\DQVÕWÕFÕ�ILOPLQ�\DSUDN�VÕFDNOÕ÷ÕQÕ�D]DOWWÕ÷ÕQÕ�� � PH\YH� YHULP� YH� NDOLWHVLQGH� D]DOPD� PH\GDQD� JHWLUPHGL÷LQL�EHOLUWPLúOHUGLU�� $\UÕFD� VX� VWUHVL� DOWÕQGDNL� ELU� ELWNLGH� \DQVÕWÕFÕ� ILOP� NXOODQDUDN�IRWRVHQWH]L�D]DOWPDQÕQ�ID\GDOÕ�RODFD÷ÕQÕ�EHOLUWPLúOHUGLU��
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*HUPDQD� YH� DUN�� �������� ³3ULPRVROH´� PDQGDULQ� oHúLGLQL� LNL� IDUNOÕ� UHQNWH�SROLHWLOHQ�J|OJH�PDWHU\DOOHUL�LOH�NDSODPÕú��NRQWURO�D÷DoODUÕQÕ�LVH�DoÕNWD�EÕUDNPÕúODUGÕU��$UDúWÕUÕFÕODU� VL\DK� J|OJH� PDWHU\DOLQLQ� ����� EH\D]� J|OJH� PDWHU\DOLQLQ� LVH� ����RUDQÕQGD� J|OJH� VD÷ODGÕ÷ÕQÕ�� GH÷LúLN� UHQNWHNL� J|OJH� PDWHU\DOOHUL� DUDVÕQGDNL� VÕFDNOÕN�IDUNÕQÕQ� JHFH� VDDWOHULQGH� GDKD� G�ú�N� LNHQ�� EH\D]� J|OJH� PDWHU\DOLQLQ� J�QG�]� GDKD�\�NVHN� RUDQGD� UDG\DV\RQ� JHoLUGL÷LQL� VDSWDPÕúODUGÕU�� $UDúWÕUPD� EXOJXODUÕQD� J|UH��EH\D]� J|OJH� PDWHU\DOL� 3$5 |Oo�POHUL� VRQXFX� ÕúÕ÷Õ� ���� RUDQÕQGD� D]DOWÕUNHQ� KDYD��WRSUDN�YH�\DSUDN�VÕFDNOÕN�GH÷HUOHULQL�\�NVHOWPLúWLU��6L\DK�J|OJH�X\JXODPDVÕ�LVH�ÕúÕ÷Õ����� RUDQÕQGD� D]DOWÕUNHQ� EX� J|OJH� DOWÕQGD� D÷Do� WDo� VÕFDNOÕ÷ÕQÕQ�� ��� FP� GHULQOLNWHNL�WRSUDN�VÕFDNOÕ÷ÕQÕQ�YH�\DSUDN�VÕFDNOÕ÷ÕQÕQ�HQ�G�ú�N�oÕNWÕ÷Õ�VDSWDQPÕúWÕU��6L\DK�J|OJH�DOWÕQGDNL� WUDQVSUDV\RQ� GH÷LúLP� RUDQÕ� GDKD� G�ú�N� EXOXQPXúWXU�� $UDúWÕUÕFÕODU�� EH\D]�J|OJH� DOWÕQGDNL� D÷DoODUÕQ� VL\DK� J|OJH� DOWÕQGDNL� D÷DoODUD� J|UH� ��� J�Q�� NRQWURO�D÷DoODUÕQD�J|UH� LVH����J�Q�HUNHQFLOLN�VD÷ODGÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU��$\UÕFD�VL\DK�YH�EH\D]� J|OJH� DOWÕQGDNL� D÷DoODUÕQ� V�UJ�Q� ER\ODUÕQÕQ� NRQWUROH� RUDQOD� GDKD� X]XQ�ROGX÷XQX�� D÷Do� WDo� JHOLúLP� RUDQÕQÕQ� LVH� HQ� ID]OD� VL\DK� J|OJH� DOWÕQGDNL� D÷DoODUGD�ROGX÷XQX�WHVSLW�HWPLúOHUGLU�
%HSSX� YH� DUN�� �������� µ6DWRKQLVKLNL¶� NLUD]� oHúLGLQGH� D÷DoODUÕQ� oLoHN�IDUNOÕODúPDVÕ� G|QHPLQGH� \�NVHN� VÕFDNOÕNODUÕQ� oLIW� GLúL� RUJDQ� ROXúXPX� �]HULQH� RODQ�HWNLVLQL�DUDúWÕUPÕúODUGÕU��$UDúWÕUÕFÕODU���\DúOÕ�RODQ�µ6DWRKQLVKLNL¶�NLUD]ODUÕ����VDNVÕGD�\HWLúWLUPLú� YH� KD]LUDQ� VRQXQGDQ� H\O�O� EDúÕQD� NDGDU� RODQ� G|QHPGH� ��� J�Q� DUD� LOH�J�QG�]���q&�YH�JHFH�LVH���q&�VÕFDNOÕ÷D�PDUX]�EÕUDNPÕúODUGÕU��dLoHN�IDUNOÕODúPDVÕQÕQ�HUNHQ� G|QHPLQGH� \DSÕOPD\D� EDúODQDQ� X\JXODPDODUGD�� oLIW� SLVWLO� ROXúXP�\R÷XQOX÷XQXQ�oRN� D]�ROGX÷X� WHVSLW� HWPLúOHUGLU��8\JXODPDQÕQ�EDúÕQGD� WDo�YH� oDQDN�\DSUDNOÕ�WRPXUFXNODUGD��\�NVHN�VÕFDNOÕ÷ÕQ�HWNLVL\OH�oLIW�SLVWLO�ROXúXPX�VDSWDQ�PÕúWÕU��2\VD� HUNHN� YH� GLúL� RUJDQ� IDUNOÕODúPDVÕ� ROGXNWDQ� VRQUD�� \�NVHN� VÕFDNOÕ÷ÕQ�WRPXUFXNODUGD� oLIW� SLVWLO� ROXúXPX� �]HULQH� RODQ� HWNLVLQLQ� GDKD� D]� ROGX÷X� WHVSLW�HGLOPLúWLU� $UDúWÕUÕFÕODU� oDQDN� \DSUDNWDQ� WDo� \DSUD÷D� IDUNOÕODúPDQÕQ� ROGX÷X� JHoLú�SHUL\RGXQGD�� \�NVHN� VÕFDNOÕ÷ÕQ� QHGHQ� ROGX÷X� oLIW� GLúL� RUJDQ� ROXúXPXQXQ� GDKDGX\DUOÕ�KDOH�JHOGL÷LQL�WHVSLW�HWPLúOHUGLU�
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6WRSDU�YH�DUN�����������0��DQDFÕ��]HULQH�DúÕOÕ�µ-RQDJROG¶�HOPD�D÷DoODUÕQÕ���J�Q�V�UH\OH� ���� RUDQÕQGDNL� J|OJHOHPH\H� WDEL� WXWPXúODUGÕU�� $UDúWÕUÕFÕODU� J|OJH� YH�VH\UHOWPH� X\JXODPDODUÕQÕ� ELU� DUDGD� \�U�WHUHN� EX� LNL� X\JXODPDQÕQ� J|OJHOHQPLú� YH�J|OJHOHQPHPLú� D÷DoODUGDNL� PH\YH� WXWXPXQGDNL� NDUERQKLGUDW� NRQVDQWUDV\RQXQD� YH�&2� GH÷LúLPLQH� RODQ� HWNLVLQL� LQFHOHPLúOHUGLU�� $UDúWÕUÕFÕODU� PH\YH� WXWXPXQGDNL� ���SSP¶OLN�1$$�YH����SSP¶OLN���%$� X\JXODPDVÕQÕ�WDNLS�HGHQ�J|OJHOHPH�LOH�NLP\DVDO�VH\UHOWLFLOHU�DUDVÕQGD�|QHPOL�ELU�LOLúNL�ROGX÷XQX�EHOLUWPLúOHUGLU��*|OJHOHPH�ELWWLNWHQ���KDIWD VRQUD� J|OJHOHPH\H� ED÷OÕ� RODUDN� D\UÕP� WDEDNDVÕ� ROXúDQ� PH\YHOHUL�EHOLUOHPLúOHUGLU��.DUDQOÕN�UHVSLUDV\RQ��YH�D÷DFÕQ�QHW�&2��DVLPLODV\RQ�RUDQÕQGD�DUWÕú�ROGX÷XQX� VDSWDPÕúODUGÕU�� $UDúWÕUÕFÕODU�� D÷Do� �]HULQGH� NDODQ� PH\YHOHUGHNL� &2��ND\EÕQÕQ�GDKD�ID]OD�ROGX÷X�LoLQ�PH\YH�WXWXPXQGD�\HWHUOL�GHUHFHGH�&2��DVLPLODV\RQX�\DSPDQÕQ�|QHPOL�ROGX÷XQX�VDSWDPÕúODUGÕU��
%HVVHW� YH� DUN�� �������� KÕ]OÕ� PH\YH� PH\YH� JHOLúLPLQLQ� VRQ� VDIKDVÕ� ER\XQFD�úHIWDOL�NDOLWHVLQL�|QHPOL�GHUHFHGH� HWNLOH\HFHN�RODQ� VX�NÕVÕWODPDVÕQÕQ�� IDUNOÕ� VX� VWUHVL�\R÷XQOXNODUÕQÕQ� X\JXODQPDVÕ\OD� EX� NULWLN� VDIKD\D� RODQ� HWNLOHULQL� DUDúWÕUPÕúODUGÕU��$UDúWÕUÕFÕODU� oDOÕúPD\Õ� VDNVÕ� GHQHPHVL� RODUDN� \�U�WP�úOHU� YH� �� IDUNOÕ� PXDPHOH�X\JXODPÕúODUGÕU�� � *|YGH� oDSÕ� GH÷LúLPOHULQH� J|UH�� 7� VHYL\HVL� RSWLPXP� VXODPD�� 7�VHYL\HVL� D]� VX� VWUHVL YH� 7� VHYL\HVL� LVH� úLGGHWOL� VX� VWUHVL� RODUDN� EHOLUOHQPLúWLU��9HJHWDWLI� E�\�PH�YH� oLoHN� WRPXUFX÷X� VD\ÕVÕ� �� IDUNOÕ� X\JXODPD� DUDVÕQGD� GH÷LúLNOLN�J|VWHUPHPLúWLU��2\VD��J|YGH�oDSÕ��J|YGH�VX�SRWDQVL\HOL�YH�\DSUDN�IRWRVHQWH]L���IDUNOÕ�X\JXODPD�DUDVÕQGD�GH÷LúLNOLN�J|VWHUPLúWLU���<DSUDN�IRWRVHQWH]L�VRODU�UDG\DV\RQ�PPRO�SKRWRQV�P��V�GROD\ODUÕQD�\�NVHOGL÷L�]DPDQ�7� YH�7� VX�VHYL\HOHUL��G�ú�ú�J|VWHUPLúWLU��(Q�\�NVHN�YHULP�YH�PH\YH�D÷ÕUOÕ÷Õ�7� YH�7� X\JXODPDODUÕQGDQ�DOÕQPÕúWÕU��(Q�G�ú�N�o|]�QHELOLU�NXUX�PDGGH�\�]GHVL�LVH7� YH�7� X\JXODPDODUÕQGDQ�DOÕQPÕúWÕU�
.ÕUQDN� YH� 'HPLUWDú� �������� IDUNOÕ� VX� VHYL\HOHULQLQ�� PDKOHS� DQDFÕ� �]HULQH�DúÕODQPÕú�GDOEDVWÕ�NLUD]�oHúLGLQGH�IL]\RORMLN��\DSUDN�VX�SRWDQVL\HOL��\DSUDN�RUDQVDO�VX�NDSVDPÕ��NORURILO�PLNWDUÕ��YH�PRUIRORMLN��V�UJ�Q X]XQOX÷X��\DSUDN�DODQÕ��J|YGH�oDSÕ��|]HOOLNOHUH�HWNLVLQL�EHOLUOHPHN�DPDFÕ\OD�\DSWÕNODUÕ�oDOÕúPDGD��VDNVÕGD�\HWLúWLULOHQ�ELU�\DúOÕ�ILGDQODUD�KHU�J�Q�ID\GDOÕ�VX\XQ�������NRQWURO�������������YH����¶L�G�]H\LQGH�VX� VHYL\HOHUL� X\JXODPÕúODUGÕU�� $UDúWÕUÕFÕODU� VX� VWUHVL� X\JXODPDODUÕQÕQ� \DSUDN� VX�
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SRWDQVL\HOLQLQ�� \DSUDN� RUDQVDO� QHP� LoHUL÷LQLQ� YH� \DSUDN� NORURILO� LoHUL÷LQLQ�D]DOPDVÕQD�\RO�DoWÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU��6X�VWUHVLQLQ�E�\�PH��]HULQGHNL�HQJHOOH\LFL�HWNLVL�HQ�ID]OD�\DSUDN�DODQÕQGD�VDSWDQÕUNHQ��EXQX�VÕUDVÕ\OD�V�UJ�Q�YH�J|YGH�oDSÕQGDNL�GH÷LúLPOHU� L]OHPLúWLU�� 6RQXo� RODUDN� DUDúWÕUÕFÕODU� VX� QRNVDQOÕ÷ÕQD� NDUúÕ� ELWNLOHUGH�J|]OHQHQ� LON� WHSNLOHUGHQ� ELULQLQ�� E�\�PHQLQ� \DYDúODPDVÕ� úHNOLQGH� NHQGLQL�J|VWHUGL÷LQL�EHOLUWPLúOHUGLU�
:DWVRQ� YH� DUN�� �������� ³(OVDQWD´� oLOHN� oHúLGLQL� VHUD� NRúXOODUÕQGD� LON� PH\YH�ROJXQODúPDVÕQGDQ�ELU�KDIWD�|QFH�EDúODPDN�VXUHWL\OH� LNL�KDIWD�V�UH�]DUIÕQGD���� IDUNOÕ�J|OJHOHPH� VHYL\HVLQGH� ����� ����� ����� \HWLúWLUPLúOHUGLU�� 0H\YHOHU� �� NHUH� KDVDW�HGLOPLú�YH�DQDOL]OHU�DWPRVIHULN�EDVÕQo�NLP\DVDO� L\RQL]DV\RQX �$3&,�� LOH�VÕYÕ�N�WOH�VSHNWURPHWUHVL�WHNQLNOHUL�NXOODQÕODUDN�\DSÕOPÕúWÕU��dLOHN�WDW�LoHUL÷LQGH�����XoXFX�YH���XoXFX� ROPD\DQ� PDGGH� D\UÕFD� VDNNDUR]�� JOLNR]� YH� VLWULN� DVLW� |Oo�OP�úW�U�� +DVDW�WDULKOHUL� DUDVÕQGD� XoXFX� RODQ� YH� ROPD\DQ� NRQVDQWUDV\RQODUGD� |QHPOL GHUHFHGH�IDUNOÕOÕNODU� EXOXQPXúWXU�� $UDúWÕUÕFÕODU� ED]Õ� GHULPOHUGH� J|OJHOHPHQLQ�� KD[DQRO��KH[DQRO��HWK\O�PHWK\O�EXW\UDWH�YH��PHWK\O�EXW\UDWH��NRQVDQWUDV\RQODUÕ��]HULQH�|QHPOL�GHUHFHGH�HWNLVLQLQ�ROGX÷XQX�WHVSLW�HWPLúOHUGLU��*HQHOGH�KHU�ELU�KDVDWWD�PH\YH�LoLQGH�\�NVHN�VHYL\HGHNL�J|OJHOHPHGH�G�ú�N�VHYL\HGH�XoXFX�PDGGH�PLNWDUÕ�EXOXQPXúWXU��$UDúWÕUÕFÕODU� J|OJHOHPHQLQ� JOLNR]� YH� VDNNDUR]� NRQVDQWUDV\RQODUÕ� �]HULQH� |QHPOL�HWNLVLQLQ�ROGX÷XQX�WHVSLW�HWPLúOHUGLU�
&KDUW]RXODNLV� YH� DUN�� �������� �� DYDNDGR� oHúLGLQL� RUWD� VHYL\HGH� VX� VWUHVLQH�PDUX]�EÕUDNDUDN�\DSUDNWDNL�DQDWRPLN�IL]\RORMLN�GH÷LúLNOLNOHUL�YH�E�\�PH�WHSNLOHULQL�GH÷HUOHQGLUPHN� �]HUH� �� D\� V�UHOL� ELU� oDOÕúPD� \DSPÕúODUGÕU�� 6XODPD�� NXUX� YH� \Dú�X\JXODPDODUGD�WRSUDN�VX�SRWDQVL\HOL�±�����YH�±���P3D�\D�XODúWÕ÷ÕQGD�X\JXODQPÕúWÕU��)RWRVHQWH]�� NORURSODVWODUGD� &2� GLI�]\RQXQ� D]DOPDVÕ\OD� HQJHOOHQPLúWLU�� %XQXQOD�EHUDEHU� PH]RILO� \DSÕGDNL� VWRPD� NDSDQPDVÕ� YH� GH÷LúLNOLNOHU� &2�� GLIL]\RQXQ�D]DOPDVÕ\OD�\DSUDNWD�PH\GDQD�JHOPLúWLU��$UDúWÕUÕFÕODU�³)XHUWH´�oHúLGL�LoLQ�\DSUDN�VX�SRWDQVL\HOLQLQ�����P3D¶D�YH�³+DVV´�oHúLGL� LoLQ�LVH�EX�GH÷HULQ�����P3D¶D�G�úW�÷�Q��WHVSLW� HWPLúOHUGLU�� +HU� LNL� oHúLWWH� GH� RVPRWLN� EDVÕQFÕQ� G�úPHVLQGHQ� GROD\Õ� WXUJRU�SRWDQVL\HOLQLQ�SR]LWLI�NDOGÕ÷ÕQÕ�VDSWDPÕúODUGÕU��%�\�PH�SDUDPHWUHOHULQH�J|UH�³+DVV´�
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oHúLGLQLQ�� RUWD� G�]H\GH� X\JXODQDQ� VX� VWUHVLQGHQ� oRN� GDKD� ID]OD� HWNLOHQGL÷LQL� WHVSLW�HWPLúOHUGLU�%RODW�YH� DUN�� ��������&DPRUDVD�oLOHN�oHúLGLQGH�� �� IDUNOÕ� VXODPD�DUDOÕ÷Õ� �������J�Q�� YH� �� GH÷LúLN� VXODPD� G�]H\LQLQ� �&ODVV� $� 3DQ� EXKDODúPD� NDEÕQGDQ� RODQ�EXKDUODúPDQÕQ������ ����� YH ����
L�� � HWNLVLQL� EHOLUOHPHN� DPDFÕ\OD� ELU� DUDúWÕUPD�\DSPÕúODUGÕU�� $UDúWÕUPD� VRQXoODUÕQD� J|UH� HQ� G�ú�N� VXODPD� G�]H\L� PH\YH� LULOL÷LQL�D]DOWÕUNHQ�GL÷HU�VXODPD�G�]H\OHUL�PH\YH�LULOL÷LQL�DUWÕUPÕú��ELWNL�EDúÕQD�PH\YH�VD\ÕVÕ��PH\YH�D÷ÕUOÕ÷Õ�YH�PH\YH�YHULPL�GDKD�D]�VXODPD�G�]H\LQGH�DUWPÕúWÕU��(UNHQFLOLN��VÕN�DUDOÕN�YH�\�NVHN�G�]H\GHNL�VXODPDODUGDQ�ROXPVX]�\|QGH�HWNLOHQPLúWLU�
*HUPDQD� YH� DUN�� �������� µ3ULPRVROH¶�PDQGDULQ� oHúLGLQL� VL\DK�� EH\D]� YH� JUL�UHQNWHNL�ÕúÕ÷Õ�\DNODúÕN����������YH�����RUDQÕQGD�JHoLUHQ�J|OJHOHPH�PDWHU\DOOHUL\OH�NDSODPÕúODUGÕU�� $UDúWÕUÕFÕODU� VL\DK� UHQNWHNL� J|OJHOHPH� PDWHU\DOOHUL\OH� W�P� \ÕO�ER\XQFD� NDSODQDQ� D÷DoODUÕQ� YHULPLQLQ�� GL÷HU� X\JXODPDODUD� J|UH� oRN� GDKD� D]�ROGX÷XQX� WHVSLW� HWPLúOHUGLU�� %XQXQOD� EHUDEHU� JHoLFL� RODUDN� J|OJHOHQPLú� RODQ�ELWNLOHULQ�L\L�ELU�oLoHNOHQPH�J|VWHUGL÷LQL�DQFDN�KD]LUDQ�G|N�P��VÕUDVÕQGD�oR÷X�N�o�N�PH\YHOHULQ� G|N�OG�÷�Q�� VDSWDPÕúODUGÕU�� � $UDúWÕUÕFÕODU� NÕ]ÕO� �5�� YH� NÕ]ÕO|WHVL� �)5��GDOJD�ER\ODUÕ�YH� IRWRVHQWHWLN�DNWLI� UDG\DV\RQXQ� �3$5��� � oLoHNOHQPH�� �&2��RUDQÕ�YH�YHULPOH�LOLúNLOL�ROGX÷XQX�EHOLUWPLúOHUGLU�

6LQJHU�YH�DUN������������LNL�IDUNOÕ�IDVXO\H�oHúLGLQGH��UHWLP��JHOLúPH�YH�E�\�PH��]HULQH� IDUNOÕ� VHYL\HOHUGHNL� VX� X\JXODPDODUÕQÕQ� HWNLOHULQL� LQFHOHPLúOHUGLU� )LGHOHU�G|UWO�� \DSUDN� VDIKDVÕQGD� NXPOX� SODVWLN� VDNVÕODUD� GLNLOPLú� YH� GDKD� VRQUD� NRQWUROO��E�\�PH�\HUOHULQH�úDúÕUWÕOPÕúWÕU��ùDúÕUWÕOGÕNWDQ�ELU�KDIWD�VRQUD�ILGHOHU����� ����������YH� ����� WDUOD� NDSDVLWHOHULQLQ� RUDQODUÕQD J|UH� KHVDSODQPÕú� IDUNOÕ� VX� VWUHVL�X\JXODPDODUÕQD WDEL� WXWXOPXúWXU��%LWNL�E�\�PHVL�YH� IL]\RORMLN�SDUDPHWUHOHU�JHOLúPH�VDIKDODUÕQGD� IDUNOÕ� EXOXQPXúWXU�� $UDúWÕUÕFÕODU� VX� VWUHVL� X\JXODPDODUÕQÕQ� YHJDWDWLI�E�\�PH�\|Q�QGHQ��ELWNL�D÷ÕUOÕ÷ÕQGD�YH�\DSUDN�VD\ÕVÕQGD�|QHPOL�GHUHFHGH�GH÷LúLPOHU�J|VWHUGL÷LQL� WHVSLW� HWPLúOHUGLU�� .ORURILO� LoHULNOHUL�� oLoHN� VD\ÕODUÕ� YH� PH\YH� WXWXP\�]GHOHUL�KHU�LNL�YDU\HWHGH�GH�|QHPOL�GHUHFHGH�D]DOPÕúWÕU��
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6|\OHPH]� �������� ³,QGHSHQGHQFH´� QHNWDULQ� oHúLGL� �]HULQGH� J|OJH�X\JXODPDODUÕQÕQ� ED]Õ� LNOLP�� ELWNL� YH� PH\YH� |]HOOLNOHUL� �]HULQH� RODQ� HWNLOHULQL�LQFHOHPHN� DPDFÕ\OD� \DSWÕ÷Õ� oDOÕúPDGD� ���� ����� ���� YH� ���� G�]H\LQGHNL� J|OJH�PDWHU\DOOHULQL� NXOODQPÕúWÕU�� $UDúWÕUÕFÕ� NRQWURO� ELWNLOHULQH� RUDQOD� J|OJH� \R÷XQOX÷X�DUWÕúÕQD� SDUDOHO� RODUDN� KDYD�� WRSUDN�� \DSUDN� YH� PH\YH� VÕFDNOÕN� GH÷HUOHULQLQ� DUWÕú�J|VWHUGL÷LQL� EHOLUWPLúWLU�� <LQH� 3$5� GH÷HULQLQ� J|OJH� X\JXODPDVÕ� DOWÕQGD� G�ú�ú�J|VWHUGL÷LQL� DQFDN� \DSUDN� DODQÕ� YH� \DSUDNWDNL� NORURILO� LoHUL÷LQLQ� DUWWÕ÷ÕQÕ� WHVSLW�HWPLúWLU��$UDúWÕUÕFÕ�J|OJH�X\JXODPDODUÕQÕQ�PH\YH�HQ��ER\��\�NVHNOLN��D÷ÕUOÕN��KDFLP��PH\YH�UHQJL��S+���6d.0��PH\YH�HWL�VHUWOL÷L��]HULQH�GH÷LúLN�HWNLOHUGH�EXOXQGX÷XQX�EHOLUOHPLúWLU���
0XUUD\�YH�DUN���������� �³/DHWLWD´�YH�³6RQJROG´�HULN�oHúLWOHULQL�����������YH����� \R÷XQOXNODUGDNL� J|OJHOHPH� PDWHU\DOOHUL� LOH� NDSODPÕúODUGÕU�� $UDúWÕUÕFÕODU�� WDP�oLoHNOHQPHQLQ� ROGX÷X� µ/DHWLWD¶� oHúLGLQL� �� (NLP� ����� WDULKLQGHQ� �� $UDOÕN� �����WDULKLQH� NDGDU� J|OJHOHPLú� YH� \LQH� WDP� oLoHNOHQPHQLQ� ROGX÷X� ]DPDQ� µ6RQJROG¶�oHúLGLQL���(NLP������WDULKLQGHQ����$UDOÕN������WDULKLQH�NDGDU�J|OJHOHPLúOHUGLU������RUDQÕQGD� J|OJH� VD÷OD\DQ� J|OJHOHPH�PDWHU\DOLQGH�� \DNODúÕN�����3$5� �)RWRVHQWHWLN�$NWLI� 5DG\DV\RQ� GH÷HUL�� ���� RUDQÕQGD� J|OJH� VD÷OD\DQ� J|OJHOHPH� PDWHU\DOLQGH�\DNODúÕN�����3$5�GH÷HUL�YH�����RUDQÕQGD�J|OJH�VD÷OD\DQ�J|OJHOHPH�PDWHU\DOLQGH�\DNODúÕN� ���� 3$5� GH÷HUL� |Oo�OP�úW�U�� ���� RUDQÕQGD� J|OJHOHQHQ� µ/DHWLWD¶� HULN�oHúLGLQGH�� DoÕNWDNL� ELWNLOHUH� J|UH�PH\YHOHUL� GDKD� D]�ROJXQODúPÕú�� ]HPLQ� UHQJL�GDKD�NR\X� \HúLO�� GDKD� G�ú�N� o|]�QHELOLU� NXUX� PDGGH� RUDQÕ� YH� GDKD� D]� NÕUPÕ]ÕODúPD�PH\GDQD� JHOGL÷LQL� WHVSLW� HWPLúOHUGLU�� *|OJHOHQHQ� µ6RQJROG¶� HULN� oHúLGLQGH� LVH�PH\YHOHU� GHKD� D]� \HúLO� UHQN�� KDVDWWD� GDKD� G�ú�N� o|]�QHELOLU� NXUX� PDGGH�VDSWDQPÕúWÕU�� 2OJXQODúPDGDQ� YH� GHSRODPDGDQ� VRQUD�� X\JXODPDODU� DUDVÕQGD� |QHPOL�IDUNOÕOÕNODU�VDSWDQPDPÕúWÕU�
%DUUDGDV� YH� DUN�� �������� � �� \DúOÕ� ND\ÕVÕ� ILGDQODUÕQÕ�� SODVWLN� VDNVÕODUGD� VX�LKWL\DoODUÕQÕ�L]OHPHN�DPDFÕ\OD�\HWLúWLUPLúOHUGLU���¶��\DSD\�J|OJH�NRúXOODUÕ�DOWÕQGD�YH�GL÷HU��¶��DoÕNWD�ROPDN��]HUH�WRSODP���D÷DoWD�oDOÕúÕOPÕúWÕU��$UDúWÕUÕFÕODU�ILGDQODUÕ�����J�Q� ER\XQFD� LKWL\DFÕ� NDGDU� VXODPÕú�� GDKD� VRQUD� VX� X\JXODPDVÕQD� NÕVÕWODPD�
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JHWLUPLúOHUGLU�� *|OJHOHQHQ� ELWNLOHUGHNL� WUDQVSUDV\RQ� VRQXFX� VX� ND\EÕ�� DoÕNWDNL�ELWNLOHUH� RUDQOD� |QHPOL� GHUHFHGH� G�ú�N� EXOXQPXúWXU�� +DILI� úLGGHWWH� X\JXODQDQ� VX�VWUHVLQLQ� HWNLOHUL� DoÕNWD� YH� J|OJHOHQHQ� ELWNLOHUGHNL� HWNLVL� KHPHQ� KHPHQ� D\QÕ�EXOXQPXúWXU�
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���0$7(5<$/�YH�<g17(0
�����0DWHU\DO

$UDúWÕUPD�� +DUUDQ� hQLYHUVLWHVL� =LUDDW� )DN�OWHVL� $UDúWÕUPD� YH� 8\JXODPD�DODQÕQGD� ���������� \ÕOÕ� \HWLúWLUPH� PHYVLPLQGH�� ³0XLU´� oLOHN� oHúLGL� �]HULQGH�\�U�W�OP�úW�U��
�������0XLU�oLOHN�oHúLGL�

øVSDQ\D¶GD� JHOLúWLULOHQ� J�Q�Q|WU� ELU� oHúLWWLU�� 0H\YH� HWL� RUWD� VHUWOLNWH� YH�PH\YHOHUL� ROGXNoD� LULGLU�� $URPD� G�]H\L� RUWD� RODQ� JHooL� ELU� oLOHN� oHúLGLGLU�� dR÷X�|]HOOL÷L� ³6HOYD´� oLOHN� � oHúLGLQH� EHQ]HPHNOH� EHUDEHU�� ³6HOYD´� GDQ� ELUD]� GDKD� JHo�ROJXQODúDQ�ELU�oHúLWWLU��$QRQ\PRXV����������
�������<HWLúWLUPH�RUWDPÕQÕQ�|]HOOLNOHUL�

%LWNL� \HWLúWLUPH� RUWDPÕ� RODUDN� WRUI� NXOODQÕOPÕúWÕU�� <HWLúWLUPH� RUWDPÕ� RODUDN�NXOODQÕODQ�WRUIXQ���3K¶Õ����������YH�HOHNWLULNVHO�LOHWNHQOL÷L�������PPKRV�FP¶GLU��%LWNL�EHVLQ�HOHPHQWL�LoHUL÷L�LVH�12��1� ������SSP��3� ������SSP��.� ������SSP��&D� ������SSP��0J� ������SSP¶GHQ�ROXúPDNWDGÕU��6DNVÕ�VX�WXPD�NDSDVLWHVL�LVH�����GLU��
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�������$UDúWÕUPD�\HULQLQ�LNOLP�|]HOOLNOHUL
ùDQOÕXUID� LOLQLQ� ��������������� \ÕOODUÕQD� DLW� LNOLPVHO� YHULOHUL� dL]HOJH� ����
GH�YHULOPLúWLU��%|OJHQLQ�WLSLN�LNOLP�|]HOLNOHULQLQ�K�N�P�V�UG�÷��ùDQOÕXUID�LOLQGH�\D]ODUVÕFDN�YH�NXUDN�� NÕúODU� LVH� VR÷XN�YH� \D÷ÕúOÕ� JHoPHNWHGLU��dL]HOJH������ 
GH� J|U�OG�÷���]HUH������\ÕOÕQÕQ�HQ�VÕFDN�D\ODUÕ�7HPPX]�YH�$÷XVWRV��HQ�VR÷XN�D\ODUÕ�LVH�2FDN�YH�ùXEDW�LNHQ������\ÕOÕQGD��\LQH�HQ�VÕFDN�D\ODUÕQ�7HPPX]�YH�$÷XVWRV��HQ�VR÷XN�D\ODUÕQ�LVH� 2FDN� YH� ùXEDW� D\ODUÕ� ROGX÷X� ELOGLULOPLúWLU�� ����� \ÕOÕQÕQ� LVH� HQ� VÕFDN� D\ODUÕ�7HPPX]� YH� $÷XVWRV� D\ODUÕ� LNHQ�� HQ� VR÷XN� D\ODUÕ� 2FDN� YH� ùXEDW� ROGX÷X� WHVSLW�HGLOPLúWLU���$QRQLP��������������������

dL]HOJH����� ùDQOÕXUID¶QÕQ�����±��������� \ÕOODUÕQD�DLW LNOLP�YHULOHUL��$QRQLP��������������������� ���� ����$</$5 2UW�6ÕF��&� 2UW�QHP��� 7RS�<D÷�PP� 2UW�6ÕF��&� 2UW�QHP��� 7RS�<D÷��PP� 2UW�6ÕF��&� 2UW�QHP��� 7RS�<D÷��PP�2FDN ��� ���� ���� ��� ���� ����� ��� ���� ����ùXEDW� ��� ���� ���� ��� ���� ���� ��� ���� ����0DUW� ��� ���� ���� ���� ���� ��� ���� ���� ����1LVDQ� ���� ���� ���� ���� ���� ���� ���� ���� ����0D\ÕV� ���� ���� ���� ���� ���� ���� ���� ���� ���+D]LUDQ� ���� ���� ��� ���� ���� � ���� ���� ����7HPPX]� ���� ���� ��� ���� ���� � ���� ���� �$÷XVWRV� ���� ���� ��� ���� ���� � ���� ���� ���(\O�O� ���� ���� ��� ���� ���� � ���� ���� �(NLP� ���� ���� ��� ���� ���� ��� ���� ���� ����.DVÕP� ���� ���� ���� ���� ���� �����$UDOÕN� ��� ���� ���� ��� ���� ���
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�����<|QWHP
'HQHPHGH�� ���� YH� ���� J|OJHOHPH� RUDQODUÕQD� VDKLS� SROLHWLOHQ� NDWNÕOÕ� D÷ODU�NXOODQÕOPÕú� �VÕUDVÕ\OD� *��� *��� YH NRQWURO� ELWNLOHUL� �*��� DoÕNWD� EÕUDNÕODUDN� KLoELU�J|OJHOHPH� X\JXODPDVÕQD� WDEL� WXWXOPDPÕúWÕU�� $UDúWÕUPDGD�� ³0XLU´� oLOHN� oHúLGLQLQ�IULJR� ILGHOHUL� NXOODQÕODUDN�� �OW¶OLN� VDNVÕODUD� ����������� WDULKL� LWLEDUL\OH� ���� VDNVÕ\D�GLNLPOHUL� \DSÕOPÕúWÕU��7�P�VDNVÕODUÕQ� D÷ÕUOÕN�RODUDN� HúLW�PLNWDUGD�KDUo�PDO]HPHVLQH�VDKLS� ROPDVÕ� WHPLQ� HGLOPLúWLU�� )LGH� WXWPD� DúDPDVÕQD� NDGDU� ELWNLOHU� \D÷PXUODPD�VXODPD� LOH� VXODQPÕúWÕU�� 6XODPD�SURJUDPÕQD� EDúOD\ÕQFD\D� NDGDU� ILGHOHULQ� VD÷OÕNOÕ� YH�KRPRMHQ�WXWXPXQX�VD÷ODPDN�LoLQ�KHU�VHIHULQGH VDNVÕ�EDúÕQD�����OW�ROPDN��]HUH���GHID�VXODPD�\DSÕOPÕú�YH�WRSODP���OW�VX�YHULOPLúWLU��)LGH�WXWPD�DúDPDVÕQGDQ�VRQUD�VXODPD�SURJUDPÕ�EDúOD\DQD�NDGDU�ILGHOHUH�HúLW�PLNWDUGD�VX�YHULOPLúWLU��%X�DPDoOD�KHU�VDNVÕ\D��� J�QGH� ELU� ���J� VX� YHULOPLúWLU�� %LULQFL� \ÕO� ����������� WDULKLQGH� LNLQFL� \ÕO� LVH������������ WDULKLQGH� VXODPD� SURJUDPÕQD� EDúODQPÕú� YH� KHU� LNL� \ÕOGD� GD� H\O�O� D\Õ�RUWDODUÕQGD� VXODPD� SURJUDPÕ� VRQD� HUGLULOPLúWLU�� *|OJHOHPH�PDWHU\DOOHUL� GHQHPHQLQ�ELULQFL� \ÕOÕQGD� ����������� WDULKLQGH� oHNLOPLú� YH� ����������� WDULKLQGH� LVH�NDOGÕUÕOPÕúWÕU�� 'HQHPHQLQ� LNLQFL� \ÕOÕQGD� LVH� ����������� WDULKLQGH� J|OJHOHPH�PDWHU\DOOHUL� oHNLOPLú� YH� ����������� WDULKLQGH� LVH� NDOGÕUÕOPÕúWÕU�� *|OJHOHPH�PDWHU\DOOHUL��
��ER\XWODUÕQGD�ROXS�����P�\�NVHNOL÷LQGHNL�GLUHNOHUH�JHUJLQ�ELU�úHNLOGH�\HUOHúWLULOPLúWLU�
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ùHNLO����� 'HQHQHPH�DODQÕQGDQ�ELU�J|U�Q�P
'HQHPHGH�� *� ����� J|OJH��� *� ����� J|OJH�� YH� DoÕNWD� ROPDN� �]HUH� �*��� �J|OJH� X\JXODPDVÕ� DOWÕQGD� IDUNOÕ� VX� G�]H\OHUL� GHQHQPLúWLU�� +HU� ELU� J|OJH� G�]H\L� YH�NRQWURO� JUXEXQGD� �� WHNHUU�U� X\JXODQPÕú� YH� KHU� ELU� WHNHUU�UGH� �� IDUNOÕ� VX� G�]H\L�GHQHQPLúWLU��6��VX�VHYL\HOHULQH����6��YH 6��VX�VHYL\HOHULQH��¶HU�VDNVÕ�ROPDN��]HUH�KHU�WHNHUU�UH� WRSODP� ��� VDNVÕ� \HUOHúWLULOPLúWLU�� 6DNVÕGD� \HWLúWLULOHQ� ELWNLOHUH� KHU� J�Q�HOYHULúOL�NDSDVLWHQLQ����¶Õ��6�������¶Õ��6���YH�����¶���6����VHYL\HVLQGH�VXODPD�VX\X�YHULOPLúWLU�� 6DEDK� VDDWOHULQGH� VDNVÕODUÕQ� WDUWÕOPDVÕ\OD� ELUOLNWH� KHU� ELU� VHYL\H� LoLQHNVLOHQ�VX�EHOLUOHQPLú�YH�X\JXODQPÕúWÕU�
*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�LNOLPVHO�YHULOHU��ELWNLVHO�|]HOOLNOHU�YH�PH\YH� NDUDNWHUOHULQGH� ROXúWXUDFD÷Õ� HWNLOHUL� VDSWD\DELOPHN� LoLQ� DúD÷ÕGDNL� |]HOOLNOHU�LQFHOHQPLúWLU��0H\YH��\DSUDN�\�]H\L�VÕFDNOÕN�|Oo�POHUL�LoLQ�,QIUDUHG�WHUPRPHWUH��D÷�LoL� YH� D÷� GÕúÕ� VÕFDNOÕN� |Oo�POHUL� LoLQ� VÕFDNOÕN� YH� QHP� VHQV|U�� �2QVHW� &RPSXWHU�&RUSRUDWLRQ��� D÷� LoL�� D÷� GÕúÕ� ÕúÕN� úLGGHWL� YH� IRWRVHQWHWLN� DNWLI� UDG\DV\RQX� �3$5��|OoPHN�DPDFÕ\OD�'XDO�5DGLDWLRQ�0HWHU��'50�)4��YH�WRSUDN�VÕFDNOÕ÷Õ�|Oo�POHULQGH�LVH�WRSUDN�WHUPRPHWUHVL�NXOODQÕOPÕúWÕU�
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8\JXODPD�V�UHVLQFH�W�P�ELWNLOHUH�HúLW�G�]H\GH�J�EUH�YHULOPLú�YH�JHUHN�J|U�OHQ�N�OW�UHO�LúOHPOHU��NROODUÕQ�NRSDUÕOPDVÕ��LODoODPD���\DSÕOPÕúWÕU��+HU�\HWLúWLUPH�PHYVLPL�ER\XQFD�J|U�OHQ�NROODU��YHULPOLOL÷L�HWNLOHGL÷LQGHQ�NRSDUÕOPÕúWÕU� *�EUH�X\JXODPDODUÕ��oLoHN�ROXúXP��PH\YH�WXWXP�YH�PH\YH�G|QHPL�ROPDN��]HUH���IDUNOÕ�G|QHP�LoHULVLQGH�X\JXODQPÕúWÕU��
dLoHN�ROXúXP�G|QHPLQGH��1LVDQ�D\Õ����� ��� ���:��J�VDNVÕ0H\YH�WXWXP�G|QHPLQGH��0D\ÕV�D\Õ����� ��� ���:��J�VDNVÕ0H\YH�G|QHPLQGH������������+D]LUDQ�D\Õ���� �� ��� :��J�VDNVÕ
7�P� X\JXODPDODUD� HúLW� G�]H\GH� J�EUHOHPH� \DSÕOPÕúWÕU�� 6X� G�]H\L�X\JXODPDODUÕ� IDUNOÕ� VHYL\HGH� ROGX÷XQGDQ� ELWNLOHUH� D\QÕ� J�Q� ROPDVD� ELOH� D\QÕ� KDIWD�LoHULVLQGH�J�EUH�GR]ODUÕ�D\DUODQDUDN�HúLW�PLNWDUGD�J�EUH�YHULOPLúWLU��7�P�J�EUHOHPH�GR]ODUÕ�OW
\H�����J�RODFDN�úHNLOGH�KD]ÕUODQPÕúWÕU��
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������� *|OJHOHPH� YH� VX� G�]H\OHULQLQ� ED]Õ� IHQRORMLN� | ]HOOLNOHU� �]HULQHHWNLOHULQLQ�EHOLUOHQPHVL
+HU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUGH�oLoHNOHQPH�EDúODQJÕFÕ� YH�PH\YH� WXWXP�EDúODQJÕFÕ� WDULKOHUL� VDSWDQPÕúWÕU�� %XQD� J|UHoLoHNOHQPH� EDúODQJÕFÕ�� ELWNLOHUGH� ���� oLoH÷LQ� DoWÕ÷Õ� WDULKOHU� RODUDN� VDSWDQPÕúWÕU��0H\YH WXWXP EDúODQJÕFÕ LVH���G|OOHQPHGHQ�VRQUD�RY�O�Q�JHOLúLS��G|OOHQPLú�oHNLUGH÷LQ�HWUDIÕQGDNL� HWOL� NÕVPÕQ� E�\�PH\H� EDúODGÕ÷Õ� WDULKOHU� RODUDN� EHOLUOHQPLúWLU� �$÷DR÷OX��������

������� *|OJHOHPH� YH� VX� G�]H\OHULQLQ GHULP� V�UHVL� �]HULQH� H WNLOHULQLQEHOLUOHQPHVL�
øON� GHULPLP� \DSÕOGÕ÷Õ� WDULKOH� VRQ� GHULPLQ� \DSÕOGÕ÷Õ� WDULK� DUDVÕQGD� JHoHQ� V�UH�HVDV�DOÕQDQ�WDULKOHU�RODUDN�EHOLUOHQPLúWLU�

�������*|OJH�NRúXOODUÕ�DOWÕQGD�X\JXODQDQ�VXODPD�VX\X�YH�ELWNL�VX�W�NHWLP�GH÷HUOHULQLQ�EHOLUOHQPHVL�����������������������
���������8\JXODQDQ�VXODPD�VX\X�
.RQWURO� YH J|OJH� X\JXODPDODUÕ� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUH� IDUNOÕ� G�]H\OHUH�VDKLS�VX�X\JXODPDODUÕ�\DSÕOPÕúWÕU��6X�G�]H\OHUL��VDNVÕ��NDSDVLWHVLQLQ�KHVDSODQPDVÕ\ODEHOLUOHQPLúWLU��%XQD�J|UH�6� VXODPD�VHYL\HVL�������NJ���6���VXODPD�VHYL\HVL�������NJ��YH�6� VXODPD�VHYL\HVL��������NJ�RODUDN�EHOLUOHQPLúWLU�� �%HOLUOHQHQ�EX�RUWDODPD�VDNVÕ�D÷ÕUOÕNODUÕ�� J�QO�N� RODUDN� WDUWÕODQ� VDNVÕODUD� X\JXODQPÕúWÕU�� +HU� ELU� NRQXGDQ� HOGH�HGLOHQ� J�QO�N� HNVLOHQ� VX� PLNWDUODUÕQÕQ� GDKD� VRQUD� KDIWDOÕN� RUWDODPDODUÕ� DOÕQPÕúWÕU��'HQHPHQLQ� ELULQFL� YH� LNLQFL� \ÕOÕQGD� D\QÕ� D÷ÕUOÕNODU� HVDV� DOÕQPÕúWÕU�� 'LQOHQPH�G|QHPLQGH�LVH�ELWNLOHUH�VXODPD�X\JXODPDVÕ�\DSÕOPDPÕúWÕU�
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���������%LWNL�VX�W�NHWLPL��(7�
6X�GHQJHVL HúLWOL÷L�NXOODQÕODUDN�ELWNL�VX W�NHWLPL�KHVDSODQPÕúWÕU��.ÕUQDN�YH�'HPLUWDú���������

���������9HULOHQ�WRSODP�VXODPD�VX\X�PLNWDUÕQÕQ�EHOLUOHQPHVL�
6XODPD� SURJUDPÕ� ER\XQFD� KHU� ELU� NRQX� LoLQ� YHULOHQ� J�QO�N� VXODPD� VX\X�PLNWDUODUÕ�WRSODQDUDN�KHVDSODQPÕúWÕU��

�������*|OJHOHPH�YH�VX�G�]H\OHULQLQ ED]Õ�LNOLPVHO�|]HOOLNOHU��]HULQH�HWNLOHULQLQ�EHOLUOHQPHVL��
���������<DSUDN�VÕFDNOÕ÷Õ
gOo�POHU KHU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ�ELWNLOHUGHQ� D\UÕ� D\UÕ� DOPDN� �]HUH� KHU� J�Q� ������������ VDDWOHUL� DUDVÕQGD� LQIUDUHG�WHUPRPHWUH� NXOODQÕODUDN� |Oo�P� \DSÕOPÕúWÕU�� gOo�POHU� �&� FLQVLQGHQ� DOÕQPÕúWÕU�� (OGH�HGLOHQ� J�QO�N� RUWDODPD� \DSUDN� VÕFDNOÕNODUÕQÕQ� GDKD� VRQUD� KDIWDOÕN� RUWDODPDODUÕ�DOÕQPÕúWÕU�

���������0H\YH�\�]H\�VÕFDNOÕ÷Õ
gOo�POHU KHU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ�ELWNLOHUGHQ� D\UÕ� D\UÕ� DOPDN� �]HUH KHU� J�Q� ������������ VDDWOHUL� DUDVÕQGD� LQIUDUHG�WHUPRPHWUH� NXOODQÕODUDN� |Oo�P� \DSÕOPÕúWÕU�� gOo�POHU� �&� FLQVLQGHQ� DOÕQPÕúWÕU�� (OGH�HGLOHQ�J�QO�N�RUWDODPD�PH\YH�\�]H\�VÕFDNOÕNODUÕQÕQ��GDKD�VRQUD�KDIWDOÕN�RUWDODPDODUÕ�DOÕQPÕúWÕU�

���������,úÕN�úLGGHWL��OX[�
,úÕN�úLGGHWL�|Oo�POHUL�'50�)4�PDUND�ÕúÕN�úLGGHWL�|Oo�P�FLKD]Õ\OD��3$5��OX[�FLQVLQGHQ� |Oo�OP�úW�U�� 'HQHPH� V�UHVLQFH�� ������������ VDDWOHUL� DUDVÕQGD� KHU� J�Q�J|OJH�X\JXODPDODUÕ�\DSÕOPÕú�ELWNLOHUGH�D÷�LoL���NRQWURO�X\JXODPDVÕQGD�LVH�DoÕNWD�J|]�KL]DVÕQGD� YH� GR÷X� \|Q�QGH� |Oo�OP�úW�U�� (OGH� HGLOHQ� J�QO�N� RUWDODPD� ÕúÕN� úLGGHWL�GH÷HUOHULQLQ��GDKD�VRQUD�KDIWDOÕN�RUWDODPDODUÕ�DOÕQPÕúWÕU�
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���������)RWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5�
)RWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5��|Oo�POHUL��'50�)4�PDUND�IRWRVHQWHQWHWLN�DNWLI� UDG\DV\RQ� |Oo�P� FLKD]Õ\OD� �3$5�� FLQVLQGHQ� |Oo�OP�úW�U�� 'HQHPH� V�UHVLQFH��������������VDDWOHUL�DUDVÕQGD�KHU�J�Q�J|OJH�X\JXODPDODUÕ�\DSÕOPÕú�ELWNLOHUGH�D÷�LoL���NRQWURO�X\JXODPDVÕQGD�LVH�DoÕNWD�J|]�KL]DVÕQGD�YH�GR÷X�\|Q�QGH�|Oo�OP�úW�U� (OGH�HGLOHQ� J�QO�N� RUWDODPD� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� � GH÷HUOHULQLQ�� � GDKD� VRQUD�KDIWDOÕN�RUWDODPDODUÕ�DOÕQPÕúWÕU�

���������2UWDODPD�KDYD�VÕFDNOÕ÷Õ�
*�QO�N�RUWDODPD�KDYD�VÕFDNOÕ÷Õ�GH÷HUOHUL��2QVHW�&RPSXWHU�&RUSRUDWLRQ�PDUND�VÕFDNOÕN� QHP�VHQV|U���+2%2��LOH�������������VDDWOHUL�DUDVÕQGD�J|OJH�X\JXODPDODUÕ�\DSÕOPÕú� ELWNLOHUGH� D÷� LoL�� � NRQWURO� X\JXODPDVÕQGD� LVH� DoÕNWD� |Oo�OP�úW�U�� 6ÕFDNOÕN�|Oo�P� GH÷HUOHUL� �&� FLQVLQGHQ� ��� GDNLND� DUDOÕNODUOD� ND\GHGLOPLúWLU�� $OÕQDQ� YHULOHU��%R[FDU� ED÷ODQWÕ� SURJUDPÕ� LOH� ELOJLVD\DUD� DNWDUÕOPÕúWÕU� (OGH� HGLOHQ� J�QO�N� RUWDODPD�KDYD�VÕFDNOÕNODUÕQÕQ�GDKD�VRQUD�KDIWDOÕN�RUWDODPDODUÕ�DOÕQPÕúWÕU�

���������2UDQVDO�QHP�G�]H\L�
*�QO�N� RUDQVDO� QHP� GH÷HUOHUL�� 2QVHW� &RPSXWHU� &RUSRUDWLRQ� PDUND� VÕFDNOÕN�QHP�VHQV|U���+2%2��LOH�������������VDDWOHUL�DUDVÕQGD�J|OJH�X\JXODPDODUÕ�\DSÕOPÕúELWNLOHUGH� D÷� LoL�� NRQWURO� X\JXODPDVÕQGD� LVH� DoÕNWD� |Oo�OP�úW�U�� 6ÕFDNOÕN� |Oo�P�GH÷HUOHUL��&�FLQVLQGHQ����GDNLND�GD�ELU�RODUDN�ND\GHGLOPLúWLU��$OÕQDQ�YHULOHU�%R[FDU�ED÷ODQWÕ�SURJUDPÕ�LOH�ELOJLVD\DUD�DNWDUÕOPÕúWÕU��(OGH�HGLOHQ�J�QO�N�KDYD�RUDQVDO�QHP�GH÷HUOHULQLQ�GDKD�VRQUD�KDIWDOÕN�RUWDODPDODUÕ�DOÕQPÕúWÕU�

���������7RSUDN�VÕFDNOÕ÷Õ�
7RSUDN� VÕFDNOÕ÷Õ� GH÷HUOHUL�� KHU� J�Q� VXODPDGDQ� |QFH� ������������ VDDWOHUL�DUDVÕQGD� KHU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUGHQ�D\UÕ�D\UÕ�DOPDN��]HUH�|Oo�OP�úW�U��7RSUDN�VÕFDNOÕ÷Õ�|Oo�POHUL��WHUPRPHWUH�YH�.�WLSL�WKHUPR�FRXSOH� NXOODQÕODUDN� ����� FP� GHULQOLNWH� �&� FLQVLQGHQ� EHOLUOHQPLúWLU�� (OGH�HGLOHQ� J�QO�N� RUWDODPD� WRSUDN� VÕFDNOÕNODUÕQÕQ� GDKD� VRQUD� KDIWDOÕN� RUWDODPDODUÕ�DOÕQPÕúWÕU�
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������� *|OJHOHPH� YH VX� G�]H\OHULQLQ� ELWNL� YH� PH\YH\H� DLW� ED]Õ� |]HOOLNOHU��]HULQH�HWNLVLQLQ�EHOLUOHQPHVL
���������%LWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ���J�ELWNL�
+HU���J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX�G�]H\LQGH�\HWLúWLULOHQ�ELWNLOHUGHQ�D\UÕ�D\UÕ�DOPDN��]HUH�W�P�GHULPOHUGHNL�PH\YH�D÷ÕUOÕNODUÕ������J�D�GX\DUOÕ� WHUD]LOHUGH�WHN�WHN�WDUWÕOÕS�WRSODP�D÷ÕUOÕN�WRSODP ELWNL�VD\ÕVÕQD�E|O�QP�úW�U��.DúND�YH�DUN��������

���������0H\YH�LULOL÷L���J�PH\YH�
'H÷LúLN� \R÷XQOXNWDNL� J|OJH� X\JXODPDODUÕ� DOWÕQGD� IDUNOÕ� VX� VHYL\HVL�X\JXODPDODUÕQD� WDEL� WXWXODQ�YH�GHULPLQ�HQ� \R÷XQ�ROGX÷X�G|QHPGH�KHU� WHNHUU�UGHNL�NRQXODUGDQ� DOÕQDQ� ��� PH\YH�� WHN� WHN� WDUWÕOÕS� WRSODP� D÷ÕUOÕN� PH\YH� VD\ÕVÕQD�E|O�QP�úW�U�

����������S+�
+HU���J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX�G�]H\LQGH�\HWLúWLULOHQ�ELWNLOHUGHQ�D\UÕ�D\UÕ� DOÕQDQ�PH\YHOHU�� NDWÕ� VÕNDFDNWDQ� JHoLULOHUHN�PH\YH� VXODUÕ� oÕNDUÕOPÕú� YH� GLMLWDO�ODERUDWXYDU�S+�PHWUHVL�LOH�S+�GH÷HUOHUL�|Oo�OP�úW�U��$QRQ\PRXV��������

���������6XGD�o|]�QHELOLU�WRSODP�NXUX�PDGGH�LoHUL÷L��6d.0�
+HU���J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX�G�]H\LQGH�\HWLúWLULOHQ�ELWNLOHUGHQ�D\UÕ�D\UÕ� DOÕQDQ� PH\YHOHULQ�� PH\YH� VXODUÕQGDQ� ELUNDo� GDPOD� HO� UHIUDNWRPHWUHVL� �]HULQH�GDPODWÕODUDN� VXGD� o|]�QHELOLU� WRSODP� NXUX� PDGGH� �6d.0�� LoHULNOHUL� �� FLQVLQGHQ�KHVDSODQPÕúWÕU��$QRQ\PRXV��������

���������7LWUH�HGLOHELOLU�DVLWOLN�
+HU ��J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX�G�]H\LQGH�\HWLúWLULOHQ�ELWNLOHUGHQ�D\UÕ�D\UÕ� DOÕQDQ�PH\YHOHU�� NDWÕ� VÕNDFDNWDQ� JHoLULOHUHN�PH\YH� VXODUÕ� oÕNDUÕOPÕúWÕU��0H\YH�VX\XQGDNL� WRSODP�DVLWOL÷L�EHOLUOHPHN� LoLQ�PH\YH�VX\XQGDQ��PO¶OLN�|UQHNOHU�DOÕQPÕú�YH� VDI� VX� LOH� ���PO¶\H� WDPDPODQPÕúWÕU�� ���PO¶OLN� EX� |UQHNOHU� IHQROIWDOHLQ�
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LQGDNDW|UO�÷�QGH�����1�µOLN�KLGURNVLW��1$2+��LOH�WLWUH�HGLOHUHN�VLWULN�DVLW�FLQVLQGHQ�WLWUH�HGLOHELOLU�DVLW�RUDQÕ�EHOLUOHQPLúWLU��$QRQ\PRXV��������
���������<DSUDN�DODQÕQÕQ�EHOLUOHQPHVL�
gOo�POHU KHU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ�ELWNLOHUGHQ�D\UÕ�D\UÕ�DOPDN��]HUH JHOLúPHVLQL�WDPDPODPÕú���DGHW���o�SDUoDOÕ��\DSUDN��DODQODUÕ�� /RJLWHFK� &,����� $UHDPHWHU� PDUND� DODQ� |OoHU� LOH� FP�� FLQVLQGHQ�EHOLUOHQPLúWLU�

���������.ORURILO�LoHUL÷L�
gOo�POHU KHU���J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX�G�]H\LQGH�\HWLúWLULOHQ�JHOLúPHVLQL�WDPDPODPÕú�JHQo�\DSUDNODUGDQ�D\UÕ�D\UÕ�DOPDN��]HUH NORURILO�PHWHU��NORURILO�|OoHU�DOHWL��LOH�LQGH[�RODUDN�|Oo�OP�úW�U��

���������0HPEUDQ�SHUPDELOLWHVL����
+�FUH PHPEUDQ SHUPDEOLWHVL |Oo�P��LoLQ��KHU���J|OJH�\R÷XQOX÷XQGDNL���IDUNOÕ�VX� G�]H\LQGH� \HWLúWLULOHQ ELWNLOHULQ� D÷XVWRV� D\Õ� RUWDODUÕQGD� VD÷OÕNOÕ� \DSUDNODUÕQGDQ�\DNODúÕN�RODUDN���J�DOÕQDUDN���PO�OLN�VDI�VX�LoLQGH����VDDW�V�UH�LOH�oDONDOD\ÕFÕGD�����USP� GH� WXWXOPXú� YH� W�P� |UQHNOHU� (&� �HOHNWLULN� JHoLUJHQOLN� GH÷HUL�� PHWUH� LOH�|Oo�OP�úW�U��(&����'DKD�VRQUD�D\QÕ�|UQHNOHU������&
GH����GDNLND�V�UH�LOH�RWRNODYGD�EHNOHWLOPLúOHUGLU�� 2WRNODYGDQ� oÕNDQ� |UQHNOHU� RGD� VÕFDNOÕ÷ÕQGD� VR÷XWXODUDN� ELU� GDKD�HOHNWLULNVHO� LOHWNHQOLNOHUL�|Oo�OP�úW�U� �(&����+�FUHGHQ�HOHNWURQ�VÕ]PDODUÕ� �HOHFWUROWH�OHDNDJH��\�]GH�RODUDN��(&���(&����EHOLUOHQPLúWLU��*DGDOODK���������
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������� *|OJHOHPH� YH� VX� G�]H\OHULQLQ� ED]Õ� WRSUDN� DOWÕ� YH� WRSUDN� �VW��RUJDQODUÕQÕQ�\Dú�YH�NXUX�D÷ÕUOÕNODUÕ��]HULQH�HWNL OHULQLQ�EHOLUOHQPHVL
��������� %LWNL�N|N�\Dú�D÷ÕUOÕ÷Õ��J�ELWNL�
+HU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUVDNVÕODUÕQGDQ�V|N�OG�NWHQ�VRQUD�ELWNL�N|NOHUL�NHVLOLS��D÷ÕUOÕNODUÕ�DOÕQPÕúWÕU��

��������� %LWNL�N|N�NXUX�D÷ÕUOÕ÷Õ�� J�ELWNL�
+HU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUVDNVÕODUÕQGDQ�V|N�OG�NWHQ�VRQUD�ELWNL�N|NOHUL�NHVLOLS�VWHULO�VX�DOWÕQGD�L\LFH�\ÕNDQÕS�����&� VÕFDNOÕNWDNL� HW�Y� LoLQGH� VDELW� D÷ÕUOÕ÷D� JHOLQFH\H� NDGDU� NXUXWXOPXú� YH� D÷ÕUOÕNODUÕ�DOÕQPÕúWÕU �<XUWVHYHQ�YH�%DUDQ���������

��������� %LWNL�WDo�\Dú�D÷ÕUOÕ÷Õ��J�ELWNL�
+HU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUVDNVÕODUÕQGDQ� V|N�OHUHN� WRSUDN� �VW�� RUJDQODUÕ� �N|N� J|YGHVL� �� \DSUDNODU�� NHVLOLS��WDUWÕODUDN�WDo�D÷ÕUOÕNODUÕ��DOÕQPÕúWÕU��

��������� %LWNL�WDo�NXUX�D÷ÕUOÕ÷Õ��J�ELWNL�
+HU� �� J|OJH� \R÷XQOX÷XQGDNL� �� IDUNOÕ� VX� G�]H\LQGH� \HWLúWLULOHQ� ELWNLOHUVDNVÕODUÕQGDQ� V|N�OP�ú� GDKD� VRQUD� WRSUDN� �VW�� RUJDQODUÕ� ��� �&� VÕFDNOÕNWDNL� HW�Y�LoLQGH�VDELW�D÷ÕUOÕ÷D�JHOLQFH\H�NDGDU�NXUXWXOXS��NXUX�D÷ÕUOÕNODUÕ�DOÕQPÕúWÕU��

�����9HULOHULQ�'H÷HUOHQGLULOPHVL�
$UDúWÕUPD� E|O�QP�ú� SDUVHOOHU� GHQHPH� GHVHQLQH� J|UH� �� WHNHUU�UO�� RODUDN�\�U�W�OP�úW�U�� $UDúWÕUPDGD� HOGH� HGLOHQ� GH÷HUOHUH� YDU\DQV� DQDOL]L� X\JXODQPÕú� YH�LVWDWLNVHO�DQDOL]OHU�EX�VRQXoODUD�J|UH�\DSÕOPÕúWÕU��%LUELULQGHQ�IDUNOÕ�RODQ�RUWDODPDODU�DUDVÕQGDNL� JHUoHN� IDUNOÕOÕNODUÕ� EHOLUOH\HELOPHN� LoLQ� �DVJDUL� |QHPOL� IDUN�� �/6'��WHVWLQGHQ� \DUDUODQÕOPÕúWÕU�� øVWDWLNVHO� DQDOL]OHUGH� �727(067$7�� ELOJLVD\DU� SDNHW�SURJUDPÕ� X\JXODQPÕúWÕU� �$oÕNJ|]� YH� DUN�� ������
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����� 'H÷LúLN� <R÷XQOXNWDNL� *|OJH� YH� )DUNOÕ� 6X� '�]H\OHULQLQ� %D]Õ� )HQRORMLN�g]HOOLNOHU�h]HULQH�(WNLOHUL�

*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�oLoHN�YH�PH\YH�WXWXP�V�UHFL�LOH�LOJLOL�ED]Õ� IHQRORMLN� |]HOOLNOHU� �]HULQH� RODQ� HWNLOHUL� dL]HOJH� ����
GH� D\UÕQWÕOÕ� ELU� úHNLOGH�YHULOPLúWLU���0XLU��oLOHN�oHúLGLQGH�oLoHNOHQPH�YH�PH\YH�WXWXP�EDúODQJÕo�WDULKOHULQLQ�J|OJH�YH�VX�G�]H\OHULQH�J|UH�IDUNOÕOÕN�J|VWHUGL÷L� WHVSLW�HGLOPLúWLU��+Lo�J|OJHOHPHQLQ�\DSÕOPDGÕ÷Õ�*� JUXEXQGDNL� ELWNLOHUOH� NÕVÕWOÕ� VX� X\JXODPDVÕQD� WDEL� WXWXODQ� 6� JUXEX�ELWNLOHULQ��*�6���oLoHNOHQPH�EDúODQJÕFÕ����1LVDQD�UDVWODUNHQ��PH\YH�WXWXP�EDúODQJÕFÕ�LVH� ��� 0D\ÕVD� UDVWODPÕúWÕU�� ���� J|OJHOHPHQLQ� \DSÕOGÕ÷Õ� *� JUXEXQGDNL� ELWNLOHUOH�������VX�VHYL\HVLQH�VDKLS�6� JUXEX�ELWNLOHULQ��*�6���oLoHNOHQPH�EDúODQJÕFÕ����1LVDQD�UDVWODUNHQ��PH\YH�WXWXP�EDúODQJÕFÕ�LVH����0D\ÕVD�UDVWODPÕúWÕU��*|OJH�\R÷XQOX÷XQXQ�DUWÕúÕ�oLoHNOHQPH�YH�PH\YH�WXWXP�WDULKOHULQL�JHFLNWLULUNHQ��VXODPD�G�]H\OHULQLQ�DUWÕúÕ�LVH�EX�WDULKOHUL�|QH�DOPÕúWÕU���
dL]HOJH������*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ ED]Õ IHQHORMLN |]HOOLNOHU��]HULQH�HWNLOHUL6XODPD

*|OJHOHPH 6� 6� 6�

dLoHNOHQPH�EDúODQJÕFÕ�������
*2 ���������� ���������� ����������
*� ���������� ���������� ����������
*� ���������� ���������� ����������

0H\YH�WXWXP�EDúODQJÕFÕ*2 ���������� ���������� ����������*� ���������� ���������� ����������
*� ���������� ���������� ����������
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*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�oLoHN�YH�PH\YH�WXWXP�V�UHFL�LOH�LOJLOL�ED]Õ� IHQRORMLN� |]HOOLNOHU� �]HULQH� RODQ� HWNLOHUL� dL]HOJH� ����
GH� úHNLOGH� YHULOPLúWLU��dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� oLoHNOHQPH� YH� PH\YH� WXWXP� EDúODQJÕo� WDULKOHULQLQ�J|OJHOHPH� YH� VX� G�]H\L� X\JXODPDODUÕQD� J|UH� IDUNOÕOÕN� J|VWHUGL÷L� WHVSLW� HGLOPLúWLU��$oÕNWD� \HWLúWLULOHQ� *� JUXEXQGDNL� ELWNLOHUOH� NÕVÕWOÕ� VX� X\JXODPDVÕQD� WDEL� WXWXODQ� 6�JUXEX� ELWNLOHULQ� �*�6��� oLoHNOHQPH� EDúODQJÕFÕ� ��� 1LVDQD� UDVWODUNHQ�� PH\YH� WXWXP�EDúODQJÕFÕ� LVH� ��� 0D\ÕVD� UDVWODPÕúWÕU�� ���� J|OJHOHPHQLQ� \DSÕOGÕ÷Õ� *� JUXEXQGDNL�ELWNLOHUOH�������VX�VHYL\HVLQH�VDKLS�6� JUXEX�ELWNLOHULQ��*�6���oLoHNOHQPH�EDúODQJÕFÕ���� 1LVDQD� UDVWODUNHQ�� PH\YH� WXWXP� EDúODQJÕFÕ� LVH� ��� 0D\ÕVD� UDVWODPÕúWÕU�� *|OJH�\R÷XQOX÷XQXQ� DUWÕúÕ� oLoHNOHQPH� YH� PH\YH� WXWXP� WDULKOHULQL� JHFLNWLULUNHQ�� VXODPD�G�]H\OHULQLQ�DUWÕúÕ�LVH�EX�WDULKOHUL�|QH�DOPÕúWÕU���
dL]HOJH������*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ����� \ÕOÕ ED]Õ IHQHORMLN |]HOOLNOHU��]HULQH�HWNLOHUL6XODPD

*|OJHOHPH 6� 6� 6�
dLoHNOHQPH�EDúODQJÕFÕ�������

*2 ���������� ���������� ����������
*� ���������� ���������� ����������
*� ���������� ���������� ����������

0H\YH�WXWXP�EDúODQJÕFÕ*2 ���������� ���������� ����������*� ���������� ���������� ����������*� ���������� ���������� ����������
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,VUDHOL� YH� DUN�� �������� GH÷LúLN� \R÷XQOXNODUGD� \DSWÕNODUÕ� J|OJHOHPHQLQ�oLoHNOHQPH\L� JHFLNWLUGL÷LQL� WHVSLW� HPLúOHUGLU�� ����� ���� YH� ���� RUDQÕQGD�NXOODQGÕNODUÕ� PDWHU\DOOHUGH� oLoHNOHQPH� WDULKOHUL� VÕUDVÕ\OD� ������� J�Q� JHFLNPLúWLU��*HUPDQD� YH� DUN�� �������� VL\DK� YH� EH\D]� J|OJH� PDWHU\DOL� DOWÕQGD� YH� NRQWURO� JUXEX�ELWNLOHUGH�oLoHN�WXWXPXQXQ�HQ�VRQ�VL\DK�J|OJH�PDWHU\DOL�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGH�J|]OHPLúOHUGLU�� $UDúWÕUÕFÕODUÕQ� EXOJXODUÕ� EL]LP� EXOJXODUÕPÕ]OD� SDUDOHOOLN�J|VWHUPHNWHGLU�
�����*|OJHOHPHQLQ�YH�6X�'�]H\OHULQLQ�'HULP�6�UHVL�h]HULQH�(WNLOHUL�

*|OJHOHPH� YH� VX� VHYL\HOHULQLQ�� LON� GHULPLP� \DSÕOGÕ÷Õ� WDULKOH� VRQ� GHULPLQ�\DSÕOGÕ÷Õ� WDULK� DUDVÕQGD� JHoHQ� V�UH� RODUDN� WDULI� HGLOHQ� GHULP� V�UHVLQH� RODQ� HWNLOHUL�LQFHOHQPLú� YH� dL]HOJH� ���
� GH� YHULOPLúWLU�� �0XLU�� oLOHN� oHúLGLQGH� GHULP� V�UHVLQLQ��VXODPD�YH�J|OJHOHPH�VHYL\HOHULQH�J|UH�IDUNOÕOÕN�J|VWHUGL÷L�VDSWDQPÕúWÕU��*|OJH�YH�VX�VHYL\HOHUL�DUWÕNoD�GHULP�V�UHVL�DUWPÕú��DNVL�WDNGLUGH�D]DOPÕúWÕU��*�6� X\JXODPDVÕQD�DLW�ELWNLOHUGH� ��� J�Q� RODQ� GHULP� V�UHVL�� *�6� X\JXODPDVÕQD� DLW� ELWNLOHUGH� LVH� ��� J�QH�NDGDU�X]DPÕúWÕU�
dL]HOJH������*|OJHOHPH�YH�VX�G�]H\OHULQLQ������\ÕOÕ�GHULP�V�UHVL��]HULQH�HWNLOHUL6XODPD

*|OJHOHPH 6� 6� 6�
'HULP�V�UHVL�������
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*|OJHOHPH� YH� VX� VHYL\HOHULQLQ� GHULP� V�UHVLQH� RODQ� HWNLOHUL� dL]HOJH� ���
GH�YHULOPLúWLU� �0XLU��oLOHN�oHúLGLQGH�GHULP�V�UHVLQLQ��VXODPD�YH�J|OJHOHPH�VHYL\HOHULQH�J|UH������\ÕOÕQGD�GD�IDUNOÕOÕN�J|VWHUGL÷L�VDSWDQPÕúWÕU��*|OJH�YH�VX�VHYL\HOHUL�DUWÕNoD�GHULP�V�UHVL�DUWPÕú��DNVL�WDNGLUGH�D]DOPÕúWÕU��*�6� X\JXODPDVÕQD�DLW�ELWNLOHUGH ���J�Q�RODQ�GHULP�V�UHVL��*�6� X\JXODPDVÕQD�DLW�ELWNLOHUGH�LVH����J�QH�NDGDU�X]DPÕúWÕU�
dL]HOJH������*|OJHOHPH�YH�VX�G�]H\OHULQLQ ���� \ÕOÕ�GHULP�V�UHVL��]HULQH�HWNLOHUL6XODPD

*|OJHOHPH 6� 6� 6�
'HULP�V�UHVL�������

*2 �����������
����J�Q�

�����������
����J�Q�

�����������
����J�Q�
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����� *|OJH� .RúXOODUÕ� $OWÕQGD� 8\JXODQDQ� 6XODPD� 6X \X� YH� %LWNL� 6X� 7�NHWLP�'H÷HUOHULQLQ�(WNLVL��������
�������8\JXODQDQ�VXODPD�VX\X

'H÷LúLN�J|OJH�\R÷XQOXNODUÕQÕQ�NXOODQÕOGÕ÷Õ��0XLU��oLOHN�oHúLGLQGH��X\JXODQDQ�VXODPD� VX\X� PLNWDUODUÕ� VÕFDNOÕ÷D�� YHJHWDWLI� DNVDPD� YH� J|OJH� \R÷XQOXNODUÕQD� J|UH�IDUNOÕOÕN�J|VWHUPHNWHGLU��ùHNLO����¶GH�GH�J|U�OG�÷��JLEL�VÕFDNOÕ÷ÕQ�HQ�\�NVHN�ROGX÷X���� 7HPPX]� WDULKLQGH�� HQ� ID]OD� VXODPD� VX\X�PLNWDUÕ� ���� J� LOH� *R6� X\JXODPDVÕQD�YHULOLUNHQ�� HQ� D]� VX� PLNWDUÕ� ���� J� LOH� *�6�� X\JXODPDVÕQD� YHULOPLúWLU�� $UDúWÕUPD\D�J|UH� J|OJH� \R÷XQOX÷X� DUWWÕNoD� VXODPD� VX\X� PLNWDUÕ� D]DOPÕú�� DNVL� GXUXPGD� LVH�DUWPÕúWÕU��
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� *R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO����� *|OJHOHPH�X\JXODPDODUÕQÕQ������\ÕOÕ�X\JXODQDQ�VXODPD�VX\X�PLNWDUODUÕ �]HULQH�HWNLOHUL
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'H÷LúLN� J|OJH� \R÷XQOXNODUÕ� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUH� YHULOHQ� VXODPD� VX\X�PLNWDUODUÕ�ùHNLO����
GH�YHULOPLúWLU��6ÕFDNOÕ÷ÕQ�HQ�\�NVHN�ROGX÷X���7HPPX]�WDULKLQGH�HQ�ID]OD�VXODPD�VX\X�PLNWDUÕ�����J�LOH�*R6� X\JXODPDVÕQD�YHULOLUNHQ�HQ�D]�VX�PLNWDUÕ�����J�LOH�*�6��X\JXODPDVÕQD�YHULOPLúWLU��$UDúWÕUPD\D�J|UH�J|OJH�\R÷XQOX÷X�DUWWÕNoD�VXODPD� VX\X�PLNWDUÕ� D]DOPÕú�� DNVL� GXUXPGD� LVH� DUWPÕúWÕU�� 6ÕFDNOÕN� DUWÕúÕ� LOH� EHUDEHU�HYDSRWUDVSUDV\RQGD� DUWWÕ÷Õ� LoLQ� DoÕNWD� \HWLúWLULOHQ� YH� GDKD� ID]OD� YHJHWDWLI� DNVDPD�VDKLS� RODQ� ELWNLOHU� W�P� D\ODUGD� HQ� \�NVHN� VXODPD� VX\X� PLNWDUÕ� X\JXODQDQ� JUXS�ROPXúWXU��
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gOo�P�WDULKOHUL

8\JX
ODQDQ

�VXODP
D�VX\

X�PLN
WDUÕ��J

� *R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO����� *|OJHOHPH�X\JXODPDODUÕQÕQ����� \ÕOÕ�X\JXODQDQ�VXODPD�VX\X�PLNWDUODUÕ �]HULQH�HWNLOHUL

5RWXQGR�YH�DUN����������E|÷�UWOHQOHUGH�\DSWÕNODUÕ�oDOÕúPDGD�DoÕNWD�\HWLúWLULOHQ�ELWNLOHULQ�� J|OJHOHPH� PDWHU\DOL� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUH� RUDQOD� GDKD� ID]OD� VX�LKWL\DoODUÕ� ROGXNODUÕQÕ� EHOLUWPLúOHUGLU�� 3HQJ� YH� DUN�� �������� SRUWDNDO� �]HULQGH�\DSWÕNODUÕ� oDOÕúPDGD�� DoÕNWD� \HWLúWLULOHQ� ELWNLOHULQ� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUH�RUDQOD�GDKD�ID]OD�VX\D�LKWL\Do�J|VWHUGLNOHULQL�EHOLUWPLúOHUGLU�



���$5$ù7,50$�%8/*8/$5,�YH�7$57,ù0$ ùHKQD]�.25.0$=

��

������ 9HULOHQ�WRSODP�VXODPD�VX\X�PLNWDUÕ�
)DUNOÕ�J|OJHOHPH�PDWHU\DOOHUL�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUH�YHULOHQ�WRSODPD�VX\X�PLNWDUODUÕ� ùHNLO� ���¶GH� YHULOPLúWLU�� %XQD� J|UH� VXODPD� SURJUDPÕ� ER\XQFD� HQ� ID]OD�WRSODP� VXODPD� VX\X� PLNWDUÕ�� DoÕNWD� \HWLúWLULOHQ� YH� GDKD� ID]OD� YHJHWDWLI� JHOLúLP�J|VWHUPLú� *R6� X\JXODPDVÕQD�� HQ� D]� WRSODP� VXODPD� VX\X� PLNWDUÕ� LVH� ���� J|OJH�DOWÕQGD�\HWLúWLULOHQ�YH�GDKD�D]�JHOLúLP�J|VWHUPLú�RODQ�*�6� X\JXODPDVÕQD�YHULOPLúWLU���
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ùHNLO������*|OJHOHPH�X\JXODPDODUÕQÕQ����� \ÕOÕ�X\JXODQDQ�WRSODP�VXODPD�VX\X�PLNWDUODUÕ �]HULQH�HWNLOHUL
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'H÷LúLN� J|OJH� \R÷XQOXNODUÕ� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUH� YHULOHQ� WRSODPD� VX\X�PLNWDUODUÕ� ùHNLO� ���¶GH� YHULOPLúWLU�� ùHNLOGHQ� GH� J|U�OG�÷�� JLEL� HQ� ID]OD� WRSODP�VXODPD� VX\X� PLNWDUÕ� DoÕNWD� \HWLúWLULOHQ� YH� ����� VX� VHYL\HVL� X\JXODQDQ� *R6�NRPELQDV\RQXQD� YHULOLUNHQ�� HQ� D]� WRSODP� VXODPD� VX\X� PLNWDUÕ� ���� J|OJH� DOWÕQGD�\HWLúWLULOHQ�YH�����VX�VHYL\HVLQH�WDEL�WXWXODQ�ELWNLOHUH�YHULOPLúWLU�
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*R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�
ùHNLO������*|OJHOHPH�X\JXODPDODUÕQÕQ����� \ÕOÕ�X\JXODQDQ�WRSODP�VXODPD�VX\X�PLNWDUODUÕ �]HULQH�HWNLOHUL

ùHNLO������)DUNOÕ�G�]H\GHNL VX�X\JXODPDODUÕQÕQ�0XLU�oLOHN�oHúLGLQLQ�ED]Õ�ELWNL�|]HOOLNOHUL�]HULQH�HWNLVL
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�������%LWNL�VX�W�NHWLPL��(7�
'H÷LúLN�J|OJH�\R÷XQOXNODUÕ�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHULQ�IDUNOÕ�VX�W�NHWLPOHUL�ROGX÷X� J|]OHQPLúWLU�� %LWNL� VX� W�NHWLPOHUL� VÕFDNOÕ÷D� YH� YHJHWDWLI� JHOLúLPH� J|UH�GH÷LúLNOLN�J|VWHUPLúWLU��ùHNLO�����¶GHQ�J|U�OG�÷��JLEL�DoÕNWD�\HWLúWLULOHQ�YH������VX�VHYL\HVLQH�WDEL�WXWXODQ�*�6� JUXEX�ELWNLOHULQ�VX�W�NHWLPOHUL�����J LOH�HQ�ID]OD�ROXUNHQ������J|OJH�DOWÕQGD�\HWLúWLULOHQ�YH�����VX�VHYL\HVLQH�DLW�*�6� JUXEX�ELWNLOHULQ�ELWNL�VX�W�NHWLPOHUL�����J�LOH�HQ�D]�ROGX÷X�WHVSLW�HGLOPLúWLU��
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ùHNLO����� *|OJHOHPH�X\JXODPDODUÕQÕQ����� \ÕOÕ�ELWNL�VX�W�NHWLPOHUL��]HULQH�HWNLOHUL
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)DUNOÕ�J|OJHOHPH PDWHU\DOOHUL�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHULQ�ELWNL�VX�W�NHWLPOHUL�ùHNLO�����¶GD�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�ELWNL� VX� W�NHWLPOHUL�J|OJHOHPH�PDWHU\DOLQH�� VÕFDNOÕ÷D�YH�ELWNLQLQ�JHOLúPH�GXUXPXQD� J|UH� IDUNOÕOÕN� J|VWHUPLúWLU��(Q�ID]OD� ELWNL� VX� W�NHWLPL� DoÕNWD� \HWLúWLULOHQ� YH������ VX� VHYL\HVLQH� VDKLS� *�6� JUXEX�ELWNLOHUGH�UDVWODQÕUNHQ��HQ�G�ú�N�ELWNL�VX�W�NHWLPOHULQH�����J|OJH�DOWÕQGD�\HWLúWLULOHQ�YH�����VX�VHYL\HVLQH�VDKLS�*�6� JUXEX�ELWNLOHUGH�UDVWODQPÕúWÕU��
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ùHNLO����� *|OJHOHPH�X\JXODPDODUÕQÕQ����� \ÕOÕ�ELWNL�VX�W�NHWLPOHUL��]HULQH�HWNLOHUL
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*|OJHOHPHQLQ� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ����� \ÕOÕ� WRSODP� ELWNL� VX�W�NHWLPLQH�RODQ�HWNLVL�ùHNLO����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�X\JXODPD�NRQXODUÕ� DUDVÕQGD WRSODP� ELWNL� VX� W�NHWLPL� J|OJHOHPH� PDWHU\DOLQH�� VÕFDNOÕ÷D� YH�ELWNLQLQ� JHOLúLP� GXUXPXQD� J|UH� IDUNOÕOÕN� J|VWHUPLúWLU�� (Q� ID]OD� WRSODP� ELWNL� VX�W�NHWLPL� ��NJ� LOH� DoÕNWD� \HWLúWLULOHQ� YH������ VX� VHYL\HVLQH� VDKLS� �*�6��� ELWNLOHUGH�J|U�O�UNHQ��EXQX�����NJ�LOH�DoÕNWD�\HWLúWLULOHQ�YH�����VX�VHYL\HVLQH��*�6���YH�����NJ�LOH� ���� J|OJH� DOWÕQGD� ����� VX� VHYL\HVLQH� �*�6��� VDKLS� ELWNLOHU� L]OHPLúWLU�� (Q� D]�WRSODP� ELWNL� VX� W�NHWLPL� LVH� ����NJ� LOH��� ��� J|OJH� DOWÕQGD� \HWLúWLULOHQ� YH����� VX�VHYL\HVL�X\JXODQDQ�ELWNLOHUGH�J|U�OP�úW�U��
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ùHNLO����� 'H÷LúLN�\R÷XQOXNWDNL�\DSD\�J|OJH�X\JXODPDODUÕQÕQ������\ÕOÕ�WRSODP�ELWNL�VX�W�NHWLPOHUL
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*|OJHOHPHQLQ� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ����� \ÕOÕ� WRSODP� ELWNL� VX�W�NHWLPLQH�RODQ�HWNLVL�ùHNLO����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷� JLEL�X\JXODPD�NRQXODUÕ�DUDVÕQGD�WRSODP�ELWNL�VX�W�NHWLPL�IDUNOÕOÕN�J|VWHUPLúWLU��(Q�ID]OD�WRSODP�ELWNL�VX�W�NHWLPL����NJ�LOH�DoÕNWD�\HWLúWLULOHQ�YH������VX�VHYL\HVLQH�VDKLS��*�6���ELWNLOHUGH�J|U�O�UNHQ��EXQX�����NJ�LOH�DoÕNWD�\HWLúWLULOHQ�YH�����VX�VHYL\HVLQH��*�6���YH�����NJ�LOH� ���� J|OJH� DOWÕQGD� ����� VX� VHYL\HVLQH� �*�6��� VDKLS� ELWNLOHU� L]OHPLúWLU�� (Q� D]�WRSODP� ELWNL� VX� W�NHWLPL� LVH� ����NJ� LOH��� ��� J|OJH� DOWÕQGD� \HWLúWLULOHQ� YH����� VX�VHYL\HVL�X\JXODQDQ�ELWNLOHUGH�J|U�OP�úW�U��
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W�NHW

LPL��N
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ùHNLO����� 'H÷LúLN�\R÷XQOXNWDNL�\DSD\�J|OJH�X\JXODPDODUÕQÕQ������\ÕOÕ�WRSODP�ELWNL�VX�W�NHWLPOHUL
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�����*|OJHOHPH�YH�6X�'�]H\OHULQLQ�%D]Õ�øNOLPVHO�g]HOOLNOHU�h]HULQH�(WNLVL���
�������<DSUDN�VÕFDNOÕ÷Õ

'H÷LúLN�J|OJH�X\JXODPDODUÕQÕQ�YH�IDUNOÕ�VX�G�]H\OHULQLQ�X\JXODQGÕ÷Õ������\ÕOÕ�\DSUDN�VÕFDNOÕN�GH÷HUOHUL�ùHNLO�����¶GD�YHULOPLúWLU��'H÷LúLN�J|OJH�YH�VX�G�]H\OHULQH�DLW�ELWNLOHU�DUDVÕQGD�\DSUDN�VÕFDNOÕNODUÕ�DUDVÕQGD�IDUNOÕOÕNODU�WHVSLW�HGLOPLúWLU��ùHNLOGHQ�GH� J|U�OG�÷�� JLEL� HQ� \�NVHN� \DSUDN� VÕFDNOÕN� GH÷HUOHULQH� WHPPX]� D\ÕQGD� XODúÕOPÕú��H\O�O� D\Õ� LWLEDUL\OH� EX� VÕFDNOÕN� GH÷HUOHUL� G�ú�ú� J|VWHUPLúWLU� %XQD� J|UH� PDNVLPXP�\DSUDN�VÕFDNOÕ÷Õ��W�P�X\JXODPDODUGD����7HPPX]�WDULKLQGH�WHVSLW�HGLOPLúWLU��%X�WDULK�LWLEDUL\OH� *R6� X\JXODPDVÕQGD� \DSUDN� VÕFDNOÕ÷Õ� ��� R&� EHOLUOHQLUNHQ�� *�6��X\JXODPDVÕQGD� \DSUDN� VÕFDNOÕ÷Õ� ��� R&� RODUDN� EHOLUOHQPLúWLU�� *|OJH� X\JXODPDODUÕ�DUDVÕQGD� HQ� \�NVHN� VÕFDNOÕ÷D� *R� �NRQWURO�� X\JXODPDVÕQGD� UDVWODQÕUNHQ� HQ� G�ú�N�VÕFDNOÕ÷D�LVH�*� X\JXODPDVÕQGD�UDVWODQPÕúWÕU��
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*R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO������ *|OJHOHPH�YH VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�\DSUDN�VÕFDNOÕ÷Õ��]HULQH�HWNLOHUL�



���$5$ù7,50$�%8/*8/$5,�YH�7$57,ù0$ ùHKQD]�.25.0$=

��

6X� G�]H\L� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� VÕFDNOÕN� 6� X\JXODPDVÕQGD� WHVSLW�HGLOLUNHQ��HQ�G�ú�N�VÕFDNOÕN�6� X\JXODPDVÕQGD�EHOLUOHQPLúWLU��+HU�LNL�G�ú�N�VÕFDNOÕ÷D�DLW� X\JXODPDQÕQ� ELUOHúWL÷L� *�6� NRPELQDV\RQX� X\JXODPDODU� DUDVÕQGD� PLQLPXP�VÕFDNOÕ÷D� VDKLS� ROPXúWXU�� +HU� LNL� \�NVHN� VÕFDNOÕ÷D� DLW� X\JXODPDQÕQ� ELUOHúWL÷L� *R6�NRPELQDV\RQX� LVH� W�P� X\JXODPDODU� DUDVÕQGD� PDNVLPXP� VÕFDNOÕ÷D� VDKLS� ROPXúWXU��(OGH�HGLOHQ�YHULOHUH�J|UH�J|OJH�\R÷XQOX÷X�DUWWÕNoD�\DSUDN�VÕFDNOÕ÷Õ�D]DOPÕú�YH�\LQH�VX�G�]H\L�DUWWÕNoD�\DSUDN�VÕFDNOÕ÷Õ�D]DOPÕúWÕU�
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gOo�P�WDULKOHUL

<DSUD
N�VÕF

DNOÕ÷Õ
�R &

*R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO������ *|OJHOHPH�YH VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�\DSUDN�VÕFDNOÕ÷Õ��]HULQH�HWNLOHUL�
*|OJHOHPH�YH�VX�G�]H\OHULQLQ�X\JXODQGÕ÷Õ������\ÕOÕ�\DSUDN�VÕFDNOÕN�GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�GH÷LúLN�J|OJH�YH�VX�G�]H\OHULQH�DLW� ELWNLOHU� DUDVÕQGD� \DSUDN� VÕFDNOÕNODUÕ� DUDVÕQGD� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU�� %XQD�J|UH�HQ�\�NVHN�\DSUDN�VÕFDNOÕN�GH÷HULQH�WHPPX]�D\ÕQGD�XODúÕOPÕú��H\O�O�D\Õ�LWLEDUL\OH�EX� VÕFDNOÕN� GH÷HUOHUL� G�ú�ú� J|VWHUPLúWLU�� <DSUDN� VÕFDNOÕ÷ÕQÕQ� HQ� \�NVHN� VÕFDNOÕ÷D�XODúWÕ÷Õ� �� 7HPPX]� WDULKLQGH� *R6� X\JXODPDVÕ� ��� R&� LOH� PDNVLPXP� \DSUDN�VÕFDNOÕ÷ÕQD� VDKLS� ROXUNHQ�� � *�6� X\JXODPDVÕ� LVH� ��� R&� LOH� PLQLPXP� \DSUDN�VÕFDNOÕ÷ÕQD� VDKLS� ROPXúWXU�� *|OJH� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� VÕFDNOÕ÷D� *R��NRQWURO�� X\JXODPDVÕQGD� UDVWODQÕUNHQ�� HQ� G�ú�N� VÕFDNOÕ÷D� LVH� *� X\JXODPDVÕQGD�UDVWODQPÕúWÕU��6X�G�]H\L�X\JXODPDODUÕ�DUDVÕQGD�HQ�\�NVHN�VÕFDNOÕN�6� X\JXODPDVÕQGD�WHVSLW�HGLOLUNHQ�HQ�G�ú�N�VÕFDNOÕN�6� X\JXODPDVÕQGD�WHVSLW�HGLOPLúWLU��
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*OHQQ� YH� DUN�� ������� YH�6RUUHQWLQR� YH� DUN�� ������� GH� \DSWÕNODUÕ� oDOÕúPDODUGD�J|OJHOHPHQLQ� \DSUDN� \�]H\� VÕFDNOÕ÷ÕQÕ� D]DOWWÕ÷ÕQÕ� ELOGLUPLúOHUGLU�� *HUPDQD� YH� DUN��������� ³3ULPRVROH´�PDQGDULQ� oHúLGLQGH� \DSWÕNODUÕ� oDOÕúPDGD� VL\DK� J|OJH�PDWHU\DOL�DOWÕQGD� \HWLúWLULOHQ� D÷DoODUGDNL� \DSUDN� VÕFDNOÕ÷Õ� G�ú�N� EXOXQXUNHQ�� EH\D]� J|OJH�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGHNL�\DSUDN�VÕFDNOÕ÷Õ�\�NVHN�EXOXQPXúWXU��0XUUD\�YH�DUN���������� ³/DHWLWD´� YH� ³6RQJROG´� HULN� oHúLWOHUL� �]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD� GH÷LúLN�J|OJH� \R÷XQOX÷XQD� VDKLS� J|OJH�PDWHU\DOOHUL� DOWÕQGD� \HWLúWLULOHQ� D÷DoODUGDNL� \DSUDN�VÕFDNOÕ÷Õ�NRQWURO�D÷DoODUÕQD�RUDQOD�GDKD�G�ú�N�EXOXQPXúWXU��5RWXQGR�YH�DUN����������³%ODFN� 6DWLQ´� YH� ³6PRRWKVWHP´� E|÷�UWOHQ� oHúLWOHUL� �]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD�J|OJHGH� YH� DoÕNWD� \HWLúWLULOHQ� ELWNLOHUGH� \DSUDN� VÕFDNOÕNODUÕQÕ� EHOLUOHPLúOHUGLU�� %XQD�J|UH� J|OJHOHPHQLQ� \DSUDN� VÕFDNOÕ÷ÕQÕ� NRQWUROH� RUDQOD� �������� �&� D]DOWWÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU��$UDúWÕUÕFÕODUÕQ�EXOJXODUÕ��EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU��
�������0H\YH�\�]H\�VÕFDNOÕ÷Õ

*|OJHOHPH� YH� VX� G�]H\OHULQLQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� PH\YH� \�]H\� VÕFDNOÕN�GH÷HUOHUL� ùHNLO� ����¶GH� YHULOPLúWLU�� ùHNLOGHQ� GH�J|U�OG�÷�� JLEL� GH÷LúLN� J|OJH� YH� VX�G�]H\OHULQH� DLW� ELWNLOHU� DUDVÕQGD� PH\YH� \�]H\� VÕFDNOÕNODUÕ� EDNÕPÕQGDQ� IDUNOÕOÕNODU�EHOLUOHQPLúWLU�� 7�P� X\JXODPDODUGD� LONEDKDU� G|QHPLQGH� G�ú�N� RODQ� PH\YH� \�]H\�VÕFDNOÕ÷Õ� \D]� D\ODUÕ� ER\XQFD� HQ� \�NVHN� VÕFDNOÕ÷D� WHPPX]� D\ÕQGD� XODúPÕúWÕU�� %XQD�J|UH� PH\YH� \�]H\� VÕFDNOÕ÷ÕQÕQ� HQ� \�NVHN� VÕFDNOÕ÷D� XODúWÕ÷Õ� ��� 7HPPX]� WDULKL�LWLEDUL\OH� *R6� X\JXODPDVÕ� ��� R&� LOH� HQ \�NVHN� PH\YH� \�]H\� VÕFDNOÕ÷ÕQD� VDKLS�ROXUNHQ�� � *�6� X\JXODPDVÕ� LVH� ��� R&� LOH� HQ� G�ú�N�PH\YH� \�]H\� VÕFDNOÕ÷ÕQD� VDKLS�ROPXúWXU��
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*|OJH� X\JXODPDVÕQÕ� WHN� EDúÕQD� LQFHOH\HFHN� ROXUVDN� HQ� \�NVHN� PH\YH� \�]H\�VÕFDNOÕ÷Õ�� DoÕNWD� \HWLúWLULOHQ� *R X\JXODPDVÕQGD� WHVSLW� HGLOPLúWLU�� %XQX� ���� J|OJH�DOWÕQGD�\HWLúWLULOHQ�*� YH�����J|OJH�DOWÕQGD�\HWLúWLULOHQ�*� X\JXODPDODUÕ�L]OHPHNWHGLU��6X� G�]H\L� X\JXODPDODUÕ� DUDVÕQGD� GD� E�\�N� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU�� 6�X\JXODPDVÕ� HQ� \�NVHN� VÕFDNOÕ÷D� VDKLS� ROXUNHQ� EXQX� 6� YH� 6�� X\JXODPDODUÕ� WDNLS�HWPLúWLU�� (OGH� HGLOHQ� YHULOHUH� J|UH� J|OJH� \R÷XQOX÷X� DUWWÕNoD�PH\YH� \�]H\� VÕFDNOÕ÷Õ�D]DOPÕú�YH�\LQH�VX�G�]H\L�DUWWÕNoD�PH\YH�\�]H\�VÕFDNOÕ÷Õ�D]DOPÕúWÕU�
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H��\�

]H\�V
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÷Õ��R & *R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO������ *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�PH\YH�\�]H\�VÕFDNOÕ÷Õ��]HULQH�HWNLOHUL�

*|OJHOHPH� YH� VX� G�]H\OHULQLQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� PH\YH� \�]H\� VÕFDNOÕN�GH÷HUOHUL� ùHNLO� ����¶GH� YHULOPLúWLU�� 'H÷LúLN� J|OJH� YH� VX� G�]H\OHULQH� DLW� ELWNLOHU�DUDVÕQGD�PH\YH�\�]H\�VÕFDNOÕNODUÕ�EDNÕPÕQGDQ�IDUNOÕOÕNODU�WHVSLW�HGLOPLúWLU��ùHNLOGHQ�GH� J|U�OG�÷�� JLEL� HQ� \�NVHN� PH\YH� \�]H\� VÕFDNOÕN� GH÷HULQH� WHPPX]� D\ÕQGD�XODúÕOPÕúWÕU�� %XQD� J|UH� PH\YH� \�]H\� VÕFDNOÕ÷Õ� PDNVLPXP� VÕFDNOÕ÷D� W�P�X\JXODPDODUGD� �� 7HPPX]� WDULKLQGH� XODúPÕúWÕU�� *R6� X\JXODPDVÕQGD� PH\YH� \�]H\�VÕFDNOÕ÷Õ� ��� R&� EHOLUOHQLUNHQ�� *�6�� X\JXODPDVÕQGD� PH\YH� \�]H\� VÕFDNOÕ÷Õ� ��� R&�RODUDN�EHOLUOHQPLúWLU�
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*|OJH�X\JXODPDODUÕ�DUDVÕQGD�HQ�\�NVHN�VÕFDNOÕ÷D�*R��NRQWURO��X\JXODPDVÕQGD�UDVWODQÕUNHQ�� HQ� G�ú�N� VÕFDNOÕ÷D� LVH� *� X\JXODPDVÕQGD� UDVWODQPÕúWÕU�� 6X� G�]H\L�X\JXODPDODUÕ�DUDVÕQGD�HQ�\�NVHN�VÕFDNOÕN�6� X\JXODPDVÕQGD�WHVSLW�HGLOLUNHQ��HQ�G�ú�N�VÕFDNOÕN�6� X\JXODPDVÕQGD�WHVSLW�HGLOPLúWLU��+HU�LNL�G�ú�N�VÕFDNOÕ÷D�DLW�X\JXODPDQÕQ�ELUOHúWL÷L� *�6� NRPELQDV\RQX�� X\JXODPDODU� DUDVÕQGD� PLQLPXP� VÕFDNOÕ÷D� VDKLS�ROPXúWXU��+HU�LNL�\�NVHN�VÕFDNOÕ÷D�DLW�X\JXODPDQÕQ�ELUOHúWL÷L�*R6��NRPELQDV\RQX�LVH�W�P�X\JXODPDODU�DUDVÕQGD�PDNVLPXP�VÕFDNOÕ÷D�VDKLS�ROPXúWXU��
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Õ�R & *R6�*R6�*R6�*�6�*�6�*�6�*�6�*�6�*�6�

ùHNLO������ *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ����� \ÕOÕ�PH\YH�\�]H\�VÕFDNOÕ÷Õ��]HULQHHWNLOHUL�
(OGH HGLOHQ�YHULOHUH�J|UH�VX�X\JXODPDVÕQÕQ�NÕVÕWOÕ�ROGX÷X�ELWNLOHUOH��RSWLPXP�VX� X\JXODPDVÕQD� VDKLS� RODQ� ELWNLOHU� DUDVÕQGDNL� VÕFDNOÕN� IDUNÕ� |QHPOL� EXOXQPXúWXU��$\QÕ� ]DPDQGD� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHULQ� NRQWUROH� RUDQOD� VÕFDNOÕN�D]DOPDODUÕQD� QHGHQ� ROGX÷XQGDQ�� J�QHúLQ� \DNÕFÕ� HWNLVLQLQ� ROXúWXUDFD÷Õ�ROXPVX]OXNODUÕQ�NÕVPHQ�GH�ROVD�HQJHOOHQHFH÷L�EHOLUOHQPLúWLU���
)DUUDU�� �������� \�NVHN� PH\YH� VÕFDNOÕ÷ÕQÕQ� PH\YH� HWLQGH� VX\XQ� GLI�]\RQ�RUDQÕQÕ� DUWÕUGÕ÷ÕQÕ� YH� HUL\LNOHULQ� PH\YH� HWLQGHNL� K�FUH� PHPEUDQODUÕQD� JHoLúLQL�HQJHOOHGL÷LQL�ELOGLUPLúWLU��
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/DQJ� YH� 7KRUSH� �������� VÕFDNOÕ÷ÕQ� DSRSODVWWD� HUL\LN� NRQVDQWUDV\RQODUÕQÕQ�\�NVHOPHVLQH�VHEHS�ROXS�DSRSODVWWD�RVPRWLN�EDVÕQFÕQ�\�NVHOPHVLQH�QHGHQ�RODFD÷ÕQÕ��EXQXQ�GD�IORHPGHQ�DSRSODVWWD�VX\XQ� WDúÕQPDVÕQÕ� LOHUOHWLS�\DUÕVD\GDP�ELU�PH\YH�HWL�PH\GDQD�JHWLUHFH÷LQL�EHOLUWPLúOHUGLU��&KHQ�YH�DUN����������\�NVHN�PH\YH�VÕFDNOÕ÷ÕQÕQ�|]HOOLNOH� GH� PH\YH� JHOLúLPLQLQ� VRQ� G|QHPOHULQGH� K�FUH� ]DUÕ� JHoLUJHQOL÷L� �]HULQH�GR÷UXGDQ� HWNLOL� ROGX÷XQX� EHOLUOHPLúOHUGLU� YH� D\QÕ� DUDúWÕUÕFÕODU� J|OJHOHPHQLQ�PH\YH�VÕFDNOÕ÷ÕQÕ����� &�G�ú�UG�÷�Q��WHVSLW�HWPLúOHUGLU�
�������,úÕN�úLGGHWL���/X[��

'H÷LúLN� J|OJH� \R÷XQOXNODUÕQÕQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� ÕúÕN� úLGGHWL� GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��DoÕNWD�|Oo�OHQ�ÕúÕN�úLGGHWL�GH÷HUOHUL�LOH� J|OJH� DOWÕQGD� |Oo�OHQ� ÕúÕN� úLGGHWL� GH÷HUOHUL� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW�HGLOPLúWLU��+D]LUDQ��7HPPX]�YH�$÷XVWRV�D\ODUÕQGD�ÕúÕN�úLGGHWL�|Oo�POHUL�PDNVLPXPD�XODúÕUNHQ�� (\O�O� D\Õ� LWLEDUL� LOH� G�ú�úH� JHoPLúWLU�� 0DNVLPXP� ÕúÕN� úLGGHWL� GH÷HULQH���7HPPX]� WDULKLQGH�XODúÕOPÕúWÕU��%XQD�J|UH�*R� �NRQWURO��X\JXODPDVÕQGD������� OX[�GH÷HUL� |Oo�O�UNHQ�� ���� J|OJH� DOWÕQGD� �*��� ������ OX[� YH� ���� J|OJH� DOWÕQGD� �*���������OX[�GH÷HUL�|Oo�OP�úW�U��
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ùHNLO������ *|OJH�X\JXODPDODUÕQÕQ������\ÕOÕ�ÕúÕN�úLGGHWL �]HULQH�HWNLOHUL
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'H÷LúLN�J|OJH�\R÷XQOXNODUÕQÕQ�X\JXODQGÕ÷Õ������\ÕOÕ�ÕúÕN�úLGGHWL�GH÷HUOHUL�ùHNLO�����¶GD�YHULOPLúWLU��ùHNLOGHQ�GH� J|U�OG�÷�� JLEL� DoÕNWD�|Oo�OHQ� ÕúÕN� úLGGHWL� GH÷HUOHUL�LOH� J|OJH� DOWÕQGD� |Oo�OHQ� ÕúÕN� úLGGHWL� GH÷HUOHUL� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW�HGLOPLúWLU��+D]LUDQ��7HPPX]�YH�$÷XVWRV�D\ODUÕQGD�ÕúÕN�úLGGHWL�|Oo�POHUL�PDNVLPXPD�XODúÕUNHQ��(\O�O�D\Õ� LWLEDUL� LOH�G�ú�úH�JHoPLúWLU��0DNVLPXP�ÕúÕN�úLGGHWL�GH÷HULQH����7HPPX]� WDULKLQGH� XODúÕOPÕúWÕU�� %XQD� J|UH� *R� �NRQWURO�� X\JXODPDVÕQGD� ������ OX[�|Oo�O�UNHQ������J|OJH�DOWÕQGD��*���������OX[�YH�����J|OJH�DOWÕQGD��*���������OX[�GH÷HUL�|Oo�OP�úW�U�
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ùHNLO������ *|OJH�X\JXODPDODUÕQÕQ������\ÕOÕ�ÕúÕN�úLGGHWL �]HULQH�HWNLOHUL

*HUPHQD�YH�DUN�����������PDQGDULQGH�\DSWÕNODUÕ�ELU�DUDúWÕUPDGD�EH\D]�J|OJH�PDWHU\DOLQLQ�\DNODúÕN������YH�VL\DK�J|OJH��PDWHU\DOLQLQ�LVH�\DNODúÕN������RUDQÕQGD�ÕúÕN� \R÷XQOX÷XQX� D]DOWWÕ÷ÕQÕ� EHOLUOHPLúOHUGLU�� (O�*L]DZ\� YH� DUN�� �������� \DSD\�J|OJHOHPHQLQ� ÕúÕN� \R÷XQOX÷XQX� D]DOWWÕ÷ÕQÕ� YH� EXQD� ED÷OÕ� RODUDN� J|OJHOHPH� DOWÕQGD�\HWLúWLULOHQ�GRPDWHVOHUGH� IL]LNVHO� NDUDNWHUOHULQ� DUWWÕ÷ÕQÕ� EHOLUOHPLúOHUGLU��5RWXQGR�YH�DUN�� �������� E|÷�UWOHQOHUGH� \DSWÕNODUÕ� oDOÕúPDGD� J|OJHOHPH� PDWHU\DOLQLQ� ÕúÕN�\R÷XQOX÷XQX� ���� RUDQÕQGD� D]DOWWÕ÷ÕQÕ� EHOLUOHPLúOHUGLU�� $UDúWÕUÕFÕODUÕQ� EXOJXODUÕ�EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU���
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�������)RWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5�
'H÷LúLN� J|OJH� \R÷XQOXNODUÕQÕQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� IRWRVHQWHWLN� DNWLI�UDG\DV\RQ� GH÷HUOHUL� ùHNLO� ����¶GD� YHULOPLúWLU�� ùHNLOGHQ� GH� J|U�OG�÷�� JLEL� GH÷LúLN�J|OJH� X\JXODPDODUÕQD� DLW� ELWNLOHU� DUDVÕQGD� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5��GH÷HUOHUL� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU� %XQD� J|UH� LONEDKDUGD� G�ú�N�RODQ�IRWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5��GH÷HUOHUL�\D]�D\ODUÕ�ER\XQFD�DUWÕú�J|VWHUPLú�YH�\LQH�VRQEDKDU�D\ÕQGD�G�ú�úH�JHoPLúWLU��7�P�D\ODUGD�DoÕNWD�\HWLúWLULOHQ�ELWNLOHUGHNL�IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5�� GH÷HUOHUL� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGHQ�GDKD�ID]OD�EXOXQPXúWXU��0DNVLPXP�IRWRVHQWHWLN�DNWLI� UDG\DV\RQ��3$5��GH÷HUOHULQH����$÷XVWRV�WDULKLQGH�XODúÕOPÕúWÕU��%XQD�J|UH�*R��NRQWURO��X\JXODPDVÕQGD������PPRO�P��V�� |Oo�O�UNHQ������ J|OJH� DOWÕQGD� �*��� �����PPRO�P��V�� YH����� J|OJH� DOWÕQGD��*��������PPRO�P��V���RODUDN�|Oo�OP�úW�U��
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ùHNLO������ *|OJHOHPH�X\JXODPDODUÕQÕQ������\ÕOÕ�IRWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5���]HULQH�HWNLOHUL
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'H÷LúLN� J|OJH� \R÷XQOXNODUÕQÕQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� IRWRVHQWHWLN� DNWLI�UDG\DV\RQ� GH÷HUOHUL� ùHNLO� ����¶GD� YHULOPLúWLU�� ùHNLOGHQ� GH� J|U�OG�÷�� JLEL� GH÷LúLN�J|OJH� X\JXODPDODUÕQD� DLW� ELWNLOHU� DUDVÕQGD� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5��GH÷HUOHUL� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU� %XQD� J|UH� LONEDKDUGD� G�ú�N�RODQ�IRWR�VHQWHWLN�DNWLI�UDG\DV\RQ��3$5��GH÷HUOHUL�\D]�D\ODUÕ�ER\XQFD�DUWÕú�J|VWHUPLú�YH�\LQH�VRQEDKDU�D\ÕQGD�G�ú�úH�JHoPLúWLU��7�P�D\ODUGD�DoÕNWD�\HWLúWLULOHQ�ELWNLOHUGHNL�IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5�� GH÷HUOHUL� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGHQ�GDKD�ID]OD�EXOXQPXúWXU��0DNVLPXP�IRWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5��GH÷HUOHULQH���7HPPX]�WDULKLQGH�XODúÕOPÕúWÕU��%XQD�J|UH�*R��NRQWURO��X\JXODPDVÕQGD������PPRO�P�
�V�� GH÷HUL�|Oo�O�UNHQ������J|OJH�DOWÕQGD��*��������PPRO�P��V�� YH�����J|OJH�DOWÕQGD��*�������PPRO�P��V��GH÷HUL�|Oo�OP�úW�U�
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ùHNLO������ *|OJHOHPH�X\JXODPDODUÕQÕQ������\ÕOÕ�IRWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5���]HULQH�HWNLOHUL

5RWXQGR� YH� DUN�� �������� ³%ODFN� 6DWLQ´� YH� ³6PRRWKVWHP´� E|÷�UWOHQ� oHúLWOHUL��]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD� DoÕNWD� \HWLúWLULOHQ� ELWNLOHUGH� IRWRVHQWHWLN� DNWLI�UDG\DV\RQ� GH÷HUL� ����� PPRO� P��V�� RODUDN� |Oo�O�UNHQ�� J|OJH� DOWÕQGD� \HWLúWLULOHQ�ELWNLOHUGH� ���� PPRO� P��V�� RODUDN� |Oo�OP�úW�U�� $UDúWÕUÕFÕODUÕQ� \DSWÕNODUÕ� J|OJHOHPH�oDOÕúPDVÕQGD� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5�� GH÷HULQLQ�� NRQWUROH� RUDQOD� GDKD�G�ú�N�oÕNWÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU�
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*HUPDQD� YH� DUN�� �������� PDQGDULQGH� \DSWÕNODUÕ� ELU� oDOÕúPDGD� EH\D]� J|OJH�DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGHNL� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5�� GH÷HULQLQ�� VL\DK�J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGHQ� GDKD� \�NVHN� ROGX÷XQX� WHVSLW� HWPLúOHUGLU���%DUUDGDV� YH� DUN�� �������� ND\ÕVÕGD� \DSWÕNODUÕ� oDOÕúPDGD� J|OJHOHPH� NRúXOODUÕ� DOWÕQGD�\HWLúWLULOHQ� D÷DoODUOD�NRQWURO� D÷DoODUÕ� DUDVÕQGDNL� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5��GH÷HUOHULQGH� |QHPOL� IDUNOÕOÕNODU� WHVSLW� HWPLúOHUGLU��*�Q� RUWDVÕQGD� |Oo�OHQ�PD[LPXP�3$5�GH÷HUOHUL�J|OJH�DOWÕQGD������PPRO�P��V�� EXOXQXUNHQ��NRQWURO�D÷DoODUÕQGD������PPRO�P��V�� EXOXQPXúWXU�� ,VUDHOL�YH�DUN�� ��������³*UDQG�1DLQ´�PX]�oHúLGL��]HULQGH�\DSWÕNODUÕ� oDOÕúPDGD� J|OJHOHPH� PDWHU\DOLQLQ� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5��G�ú�UG�÷�Q�� WHVSLW� HWPLúOHUGLU�� 6RUUHQWLQR� YH� DUN�� �������� DoÕNWD� \HWLúWLULOHQ�ELWNLOHUGH� |Oo�OHQ� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� GH÷HULQLQ� \�NVHN�� J|OJHOHQPLú�ELWNLOHUGH� LVH� G�ú�N� ROGX÷XQX� WHVSLW� HWPLúOHUGLU�� 0F� $UWQH\� YH� DUN�� ��������J|OJHOHPH�X\JXODPDVÕQÕQ�3$5�GH÷HULQL�DoÕN�J�QOHUGH�����RUDQÕQGD��NDSDOÕ�J�QOHUGH�LVH� ���� RUDQÕQGD� D]DOWWÕ÷ÕQÕ� VDSWDPÕúODUGÕU�� $UDúWÕUÕFÕODUÕQ� EXOJXODUÕ� EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU��
�������2UWDODPD�KDYD�VÕFDNOÕ÷Õ'H÷LúLN�J|OJH�\R÷XQOXNODUÕQÕQ�X\JXODQGÕ÷Õ������\ÕOÕ�RUWDODPD�KDYD�VÕFDNOÕ÷Õ�GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�QLVDQ��PD\ÕV�D\ODUÕQGD�RUWDODPD� KDYD� VÕFDNOÕ÷Õ� |Oo�POHUL� G�ú�N� VH\UHGHUNHQ� KD]LUDQ� WHPPX]� YH� D÷XVWRV�D\ODUÕQGD�EX�GH÷HUOHU�PDNVLPXPD�oÕNPÕúWÕU��
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*R� �NRQWURO�� ELWNLOHULQGH� RUWDODPD� KDYD� VÕFDNOÕ÷Õ� W�P� D\ODUGD� HQ� \�NVHN�EXOXQXUNHQ�EXQX *� X\JXODPDVÕQD�VDKLS�ELWNLOHU�YH�GDKD�VRQUD�*��X\JXODPDVÕ�DOWÕQGD�\HWLúWLULOHQ� ELWNLOHU� DOPDNWDGÕU�� (Q� \�NVHN� RUWDODPD� KDYD� VÕFDNOÕ÷Õ� |Oo�POHUL� ���7HPPX]GD�*R��NRQWURO��X\JXODPDVÕQGD������R&�� ����J|OJH�DOWÕQGD��*������� R&�YH����� J|OJH� DOWÕQGD� �*��� ���� R&� EXOXQXUNHQ� EHOLUOHQHQ� HQ� G�ú�N� RUWDODPD� KDYD�VÕFDNOÕ÷Õ� GH÷HUOHUL� LVH� ��� 1LVDQGD� *R� �NRQWURO�� X\JXODPDVÕQGD� ����� R&�� *�X\JXODPDVÕQGD����� R&�YH�*��X\JXODPDVÕQGD����� R&�RODUDN�EXOXQPXúWXU�
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'H÷LúLN�J|OJH�\R÷XQOXNODUÕQÕQ�X\JXODQGÕ÷Õ������\ÕOÕ�RUWDODPD�KDYD�VÕFDNOÕ÷Õ�GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�QLVDQ��PD\ÕV�D\ODUÕQGD�G�ú�N�KDYD�VÕFDNOÕ÷Õ�WHVSLW�HGLOLUNHQ�KD]LUDQ��WHPPX]�YH�D÷XVWRV�D\ODUÕQGD�RUWDODPD�KDYD�VÕFDNOÕ÷Õ�PDNVLPXPD�oÕNPÕúWÕU�� �2UWDODPD�KDYD�VÕFDNOÕN�GH÷HUOHUL� W�P�D\ODUGD�HQ�\�NVHN�DoÕNWDNL�X\JXODPDGD�WHVSLW�HGLOLUNHQ��EXQX�����YH�����J|OJH�X\JXODPDVÕ�L]OHPLúWLU�� 2UWDODPD� KDYD� VÕFDNOÕ÷Õ� |Oo�POHUL� ��� 7HPPX]GD� *R� �NRQWURO��X\JXODPDVÕQGD������R&�� *� X\JXODPDVÕQGD����� R&�YH�*�� � �X\JXODPDVÕQGD����� R&�RODUDN�EXOXQPXúWXU��
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5RWXQGR� YH� DUN�� �������� ���� RUDQÕQGDNL� J|OJHOHPHQLQ� RUWDODPD� KDYD�VÕFDNOÕ÷ÕQÕ� ���� �&� G�ú�UG�÷�Q�� WHVSLW� HWPLúOHUGLU�� *HUPDQD� YH� DUN�� ������� \LQH�RUWDODPD�KDYD�VÕFDNOÕ÷Õ�GH÷HUOHULQLQ�J|OJHOHPH�LOH�G�úW�÷�Q��EHOLUWPLúOHUGLU���%HSSX�YH� .DWDRND�� �������� NLUD]ODU� �]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD� J|OJHOHPH�X\JXODPDODUÕQÕQ� PD[LPXP� KDYD� VÕFDNOÕ÷ÕQÕ� �������� � &� D]DOWWÕ÷ÕQÕ� EHOLUOHPLúOHUGLU��0XUUD\� YH� DUN�� �������� HULNOHU� �]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD� ����� ���� YH� ����\R÷XQOXNODUÕQD� VDKLS� J|OJH� PDWHU\DOOHUL� DOWÕQGD� \HWLúWLUGLNOHUL� ELWNLOHULQ� NRQWUROH�RUDQOD�GDKD�G�ú�N�oÕNWÕ÷ÕQÕ� EHOLUWPLúOHUGLU��*HUPDQD�YH� DUN�� ��������PDQGDULQOHUGH�\DSWÕNODUÕ� oDOÕúPDGD� ���� RUDQÕQGD� NXOODQGÕNODUÕ� VL\DK J|OJH� PDWHU\DOL� DOWÕQGD�\HWLúWLULOHQ� ELWNLOHU� YH� EH\D]� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHU� LOH� NRQWURO� ELWNLOHUL�DUDVÕQGD�KDYD�VÕFDNOÕ÷Õ�EDNÕPÕQGDQ�IDUNOÕOÕNODU�ROGX÷XQX�ELOGLUPLúOHUGLU��
�������2UDQVDO�QHP�G�]H\L

'H÷LúLN� J|OJH� \R÷XQOXNODUÕQÕQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� RUDQVDO� QHP� GH÷HUOHUL�ùHNLO� ����¶GH� YHULOPLúWLU�� ùHNLOGHQ� GH� J|U�OG�÷�� JLEL� QLVDQ� PD\ÕV� YH� KD]LUDQ�D\ODUÕQGD� G�ú�N� RODQ� RUDQVDO� QHP� G�]H\L� WHPPX]� YH� D÷XVWRV� D\ODUÕQGD� \�NVHOLúH�JHoPLú� YH� H\O�O� D\Õ� LWLEDUL\OH� GH� WHNUDU� G�ú�úH� JHoPLúWLU�� 2UDQVDO QHP� GH÷HUOHUL� ��7HPPX]�WDULKL�LWLEDUL\OH�*� X\JXODPDVÕ�DOWÕQGD������� *� X\JXODPDVÕ�DOWÕQGD��������YH��*R��NRQWURO��X\JXODPDVÕ�DOWÕQGD�LVH�������RODUDN�EXOXQPXúWXU��
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'H÷LúLN� J|OJH� \R÷XQOXNODUÕQÕQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� RUDQVDO� QHP� GH÷HUOHUL�ùHNLO� ����¶GH� YHULOPLúWLU�� ùHNLOGHQ� GH� J|U�OG�÷�� JLEL� QLVDQ� PD\ÕV� YH� KD]LUDQ�D\ODUÕQGD�G�ú�N�RODQ�RUDQVDO�QHP�G�]H\OHUL� WHPPX]�YH�D÷XVWRV�D\ODUÕQGD�\�NVHOLúH�JHoPLú� YH� H\O�O� D\Õ� LWLEDUL\OH� GH� WHNUDU� G�ú�úH� JHoPLúWLU�� 2UDQVDO� QHP� G�]H\L� ��$÷XVWRV�WDULKL�LWLEDUL\OH�����J|OJH��*���X\JXODPDVÕ�DOWÕQGD������� ����J|OJH��*���X\JXODPDVÕ� DOWÕQGD� ������ YH� *R� �NRQWURO�� X\JXODPDVÕ� DOWÕQGD� LVH� ������ RODUDN�EXOXQPXúWXU��gOo�P�DOÕQDQ�W�P�D\ODUGD�*� X\JXODPDVÕ�HQ�\�NVHN�GH÷HUOHUH�VDKLSNHQ�EXQX�*� YH�*R��NRQWURO��X\JXODPDVÕ�L]OHPHNWHGLU�
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ùHNLO������ *|OJHOHPH�X\JXODPDODUÕQÕQ������\ÕOÕ�RUDQVDO�QHP�G�]H\L��]HULQH�HWNLOHUL

*|OJHOHPH�NRúXOODUÕ� DOWÕQGD�\HWLúWLULOHQ�ELWNLOHULQ�� DoÕNWD�\HWLúWLULOHQ�ELWNLOHUH�RUDQOD� KDYD� RUDQVDO� QHPLQLQ� GDKD� \�NVHN� ROGX÷X� VDSWDQPÕúWÕU�� 5RWXQGR� YH� DUN���������� \DSWÕNODUÕ� J|OJHOHPH� oDOÕúPDODUÕQGD�� J|OJHQLQ� RUWDODPD� KDYD� QHPLQL�\�NVHOWWL÷LQL� VDSWDPÕúODUGÕU�� 0XUUD\� YH� DUN�� �������� \DSÕODQ� GH÷LúLN� \R÷XQOXNWDNL�J|OJHOHPHQLQ�NRQWUROH�RUDQOD��KDYD�RUDQVDO�QHPL�\�NVHOWWL÷LQL�ELOGLUPLúOHUGLU�
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�������7RSUDN�VÕFDNOÕ÷Õ
*|OJHOHPH�YH�VX�G�]H\OHULQLQ�X\JXODQGÕ÷Õ������\ÕOÕ� WRSUDN�VÕFDNOÕ÷Õ�GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�GH÷LúLN�J|OJH�YH�VX�G�]H\OHULQH�DLW� ELWNLOHU� DUDVÕQGD� WRSUDN� VÕFDNOÕNODUÕ� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU��1LVDQ� YH�PD\ÕV� D\ODUÕQGD� G�ú�N� RODQ� WRSUDN� VÕFDNOÕ÷Õ� KD]LUDQ�� WHPPX]� YH� D÷XVWRV�D\ODUÕQGD�HQ� \�NVHN�VÕFDNOÕ÷D�XODúPÕúWÕU��(\O�O�D\Õ� LWLEDUL\OH� LVH�G�ú�ú�J|VWHUPLúWLU��7RSUDN� VÕFDNOÕ÷ÕQÕQ� PD[LPXP� VÕFDNOÕ÷D� XODúWÕ÷Õ� ��� 7HPPX]� WDULKLQGH� *R6�X\JXODPDVÕ����R&�LOH�HQ \�NVHN�WRSUDN�VÕFDNOÕ÷ÕQD�VDKLS�ROXUNHQ�� �*�6� X\JXODPDVÕ�LVH� ��� R&� LOH� HQ� G�ú�N� WRSUDN� VÕFDNOÕ÷ÕQD� VDKLS� ROPXúWXU�� (Q� \�NVHN� WRSUDN�VÕFDNOÕ÷ÕQD�DoÕNWD�\HWLúWLULOHQ��*R��ELWNLOHUGH�UDVWODQÕUNHQ��HQ�G�ú�N�VÕFDNOÕ÷D�LVH�����J|OJH� �*��� DOWÕQGD� \HWLúWLULOHQ� X\JXODPDVÕQGD� UDVWODQPÕúWÕU�� 6X� G�]H\L� X\JXODPDODUÕ�DUDVÕQGD� HQ� \�NVHN� VÕFDNOÕN�6� X\JXODPDVÕQGD� WHVSLW� HGLOLUNHQ� HQ�G�ú�N� VÕFDNOÕN�6�X\JXODPDVÕQGD�WHVSLW�HGLOPLúWLU��
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*|OJHOHPH�YH�VX�G�]H\OHULQLQ�X\JXODQGÕ÷Õ������\ÕOÕ� WRSUDN�VÕFDNOÕ÷Õ�GH÷HUOHUL�ùHNLO�����¶GH�YHULOPLúWLU��ùHNLOGHQ�GH�J|U�OG�÷��JLEL�GH÷LúLN�J|OJH�YH�VX�G�]H\OHULQH�DLW� ELWNLOHU� DUDVÕQGD� WRSUDN� VÕFDNOÕNODUÕ� DUDVÕQGD� |QHPOL� IDUNOÕOÕNODU� WHVSLW� HGLOPLúWLU��1LVDQ� YH�PD\ÕV� D\ODUÕQGD� G�ú�N� RODQ� WRSUDN� VÕFDNOÕ÷Õ� KD]LUDQ�� WHPPX]� YH� D÷XVWRV�D\ODUÕQGD�HQ� \�NVHN�VÕFDNOÕ÷D�XODúPÕúWÕU��(\O�O�D\Õ� LWLEDUL\OH� LVH�G�ú�ú�J|VWHUPLúWLU��7RSUDN�VÕFDNOÕ÷ÕQ�PD[LPXP�VÕFDNOÕ÷D�XODúWÕ÷Õ���7HPPX]�WDULKLQGH�*R6� X\JXODPDVÕ������R&�LOH�HQ \�NVHN�WRSUDN�VÕFDNOÕ÷ÕQD�VDKLS�ROXUNHQ���*�6� X\JXODPDVÕ�LVH������R&�LOH� HQ� G�ú�N� WRSUDN� VÕFDNOÕ÷ÕQD� VDKLS� ROPXúWXU� *|OJH� X\JXODPDODUÕ� DUDVÕQGD� HQ�\�NVHN�VÕFDNOÕ÷D�*R� �NRQWURO��X\JXODPDVÕQGD�UDVWODQÕUNHQ�HQ�G�ú�N�VÕFDNOÕ÷D� LVH�*�X\JXODPDVÕQGD�UDVWODQPÕúWÕU��6X�G�]H\L�X\JXODPDODUÕ�DUDVÕQGD�HQ�\�NVHN�VÕFDNOÕN�6�X\JXODPDVÕQGD�WHVSLW�HGLOLUNHQ�HQ�G�ú�N�VÕFDNOÕN�6� X\JXODPDVÕQGD�WHVSLW�HGLOPLúWLU�
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<DSÕODQ� J|OJH� oDOÕúPDODUÕQGD� J|OJHOHPHQLQ� WRSUDN� VÕFDNOÕ÷ÕQÕ� G�ú�UG�÷�Q��WHVSLW�HWPLúOHUGLU��*HUPDQD�YH�DUN����������|Oo�P�\DSÕODQ�D\ODUÕQ�RUWDODPDVÕQGD������R&� LOH� HQ� \�NVHN� WRSUDN� VÕFDNOÕ÷Õ� EH\D]� J|OJH� DOWÕQGD� \HWLúWLULOHQ� ELWNLOHUGHQ�� ����R&¶\L�DoÕNWD�\HWLúWLULOHQ�ELWNLOHUGHQ�YH������ R&�\L� LVH�VL\DK�J|OJH�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGHQ� DOPÕúODUGÕU�� %HSSX� YH� .DWDRND� �������� \DSWÕNODUÕ� NLUD]� oDOÕúPDVÕQGD�DoÕNWD� \HWLúWLULOHQ�ELWNLOHUGHNL� WRSUDN� VÕFDNOÕ÷ÕQÕQ�� J|OJH� DOWÕQGD� \HWLúWLULOHQ�ELWNLOHUH�J|UH�GDKD�\�NVHN�oÕNWÕ÷ÕQÕ�ELOGLUPLúOHUGLU�������
����� *|OJHOHPH� YH� 6X� '�]H\OHULQLQ� %LWNL� YH� 0H\YH\H� $LW� %D]Õ� g]HOOLNOHU�h]HULQH�(WNLOHUL�

�������%LWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ���J� ELWNL�
*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ��]HULQH� HWNLOHUL� dL]HOJH� ���¶� GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD�ELWNL� EDúÕQD� PH\YH� D÷ÕUOÕ÷Õ� �]HULQH� J|OJHOHPH� YH� VXODPD� LQWHUDNVL\RQX� ���VHYL\HVLQGH� |QHPOL� EXOXQPXúWXU�� dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� *R6� X\JXODPDVÕ�����J� LOH�HQ�G�ú�N�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ�GH÷HULQH�VDKLSNHQ�*�6��X\JXODPDVÕ������J� LOH�HQ�\�NVHN� �GH÷HUH�VDKLSWLU������J|OJH��*���DOWÕQGD�\HWLúWLULOHQ�ELWNLOHU�HQ�\�NVHN�ELWNL�EDúÕQD�PH\YH D÷ÕUOÕ÷Õ�GH÷HULQH�VDKLSNHQ��VXODPD�VHYL\HOHUL�DUDVÕQGD�6��VHYL\HVL�HQ�G�ú�N�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ�GH÷HULQH�VDKLS�ROPXúWXU���6X�YH�J|OJH�X\JXODPDODUÕQÕQ� LQWHUDNVL\RQXQGD�� J|OJH� YH� VX� G�]H\L� DUWWÕNoD� ELWNL� EDúÕQD� PH\YH�D÷ÕUOÕ÷Õ�DUWÕú�J|VWHUPLú�DNVL�GXUXPGD�LVH�D]DOPÕúWÕU���
dL]HOJH����� *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ �]HULQH�HWNLOHUL�68/$0$

6� 6� 6�

* � �����F ������E ����D

* � �����F���� ������E ����D*g/
*(/(

0(
* � �����F ������E ����D/6' ���� ���� ����$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUNLVWDWLVWLNL�DoÕGDQ����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU�
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*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ��ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ�GH÷HUOHUL� �]HULQH� HWNLOHUL� dL]HOJH� ���¶� GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL�VRQXFXQGD� ELWNL� EDúÕQD� PH\YH� D÷ÕUOÕ÷Õ� �]HULQH� J|OJHOHPH� YH� VXODPD� LQWHUDNVL\RQX���� VHYL\HVLQGH� |QHPVL]� EXOXQPXúWXU�� dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� *R6��LQWHUDNVL\RQX� ����� J� LOH� HQ� G�ú�N� ELWNL� EDúÕQD� PH\YH� D÷ÕUOÕ÷ÕQD� VDKLSNHQ�� � *�6��NRPELQDV\RQX�����J�LOH�HQ�\�NVHN��GH÷HUH�VDKLSWLU�
dL]HOJH����� *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ��]HULQH�HWNLOHUL68/$0$

6� 6� 6�

* � �����F ����E ����D

* � ���F ����E ����D*g/
*(/(

0(
* � ���F ����E ����D

/6' ����� ����� �����$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ����VHYL\HVLQGH�|QHPOL�EXOXQPXúWXU�

*|OJH� X\JXODPDODUÕ� DUDVÕQGD�� *� X\JXODPDVÕ� HQ� \�NVHN� ELWNL� EDúÕQD� PH\YH�D÷ÕUOÕ÷ÕQD� VDKLSNHQ�� VXODPD�G�]H\OHUL� DUDVÕQGD�6��X\JXODPDVÕ�HQ�G�ú�N�ELWNL�EDúÕQD�PH\YH� D÷ÕUOÕ÷ÕQD� VDKLS� ROPXúWXU�� 6X� YH� J|OJH� X\JXODPDODUÕQÕQ� LQWHUDNVL\RQXQGD��J|OJH� YH� VX� G�]H\L� DUWWÕNoD� ELWNL� EDúÕQD�PH\YH� D÷ÕUOÕ÷Õ� GH÷HUL� DUWÕú� J|VWHUPLú� DNVL�GXUXPGD�LVH�D]DOPÕúWÕU��
&RKHQ� YH� DUN�� �������� DOWÕQWRSWD� \DSWÕNODUÕ� ELU� oDOÕúPDGD� ���� YH� ����G�]H\LQGHNL� J|OJHOHPHQLQ� PH\YH� YHULPLQL� |QHPOL� GHUHFHGH� D]DOWPDGÕ÷ÕQÕ� WHVSLW�HWPLúOHUGLU�� 0DQQLQL� YH� *DOOLQD� �������¶GH� VXODPD� RUDQÕ� DUWWÕNoD�� SD]DUODQDELOLU��U�QGH� DUWÕú� �(7P µQLQ����� RUDQÕQGDNL� VXODPDGD� YHULP� ���� WQ�GD� LNHQ�� NRQWUROGH������WRQ�GD��PH\GDQD�JHOGL÷LQLQ�VDSWDPÕúODUGÕU���



���$5$ù7,50$�%8/*8/$5,�YH�7$57,ù0$ ùHKQD]�.25.0$=

��

�������0H\YH�LULOL÷L��J�PH\YH�
*|OJHOHPH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ� �PH\YH�LULOL÷L��]HULQH�HWNLOHUL�dL]HOJH� ���¶� GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD� PH\YH� LULOL÷L��]HULQH� J|OJH� YH� VXODPD� LQWHUDNVL\RQX� ��� VHYL\HVLQGH� |QHPOL� EXOXQPXúWXU��dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� *R6� X\JXODPDVÕ �� J� LOH� HQ� G�ú�N� PH\YH� LULOL÷LQH�VDKLSNHQ��*�6��X\JXODPDVÕ����J�LOH�HQ�\�NVHN�GH÷HUH�VDKLSWLU��
dL]HOJH ���� *|OJHOHPH�YH�VX G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕPH\YH�LULOL÷L��]HULQH�HWNLOHUL�68/$0$

6� 6� 6�

* � ��F ��E ���D

* � ��F ���E ���D*g/
*(O/

(0(
* � ��F ���E ���D

/6' ���� ���� ����$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ����VHYL\HVLQGH�|QHPVL] EXOXQPXúWXU�
*|OJH�X\JXODPDODUÕ� DUDVÕQGD��*� X\JXODPDVÕ�HQ�\�NVHN�PH\YH� LULOL÷LQH� VDKLS�ROPXúNHQ��VXODPD�G�]H\OHUL�DUDVÕQGD�6��X\JXODPDVÕ�HQ�G�ú�N�PH\YH� LULOL÷LQH�VDKLS�ROPXúWXU��6X�YH�J|OJH�X\JXODPDODUÕQÕQ�LQWHUDNVL\RQXQGD��J|OJH�YH�VX�G�]H\L�DUWWÕNoD�PH\YH�LULOL÷L�GH÷HUL�DUWÕú�J|VWHUPLú�DNVL�GXUXPGD�LVH�D]DOPÕúWÕU���
*|OJHOHPHQLQ� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ����� \ÕOÕ� PH\YH� LULOL÷L� �]HULQH�HWNLOHUL� dL]HOJH� ���¶� GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD� PH\YH�LULOL÷L� �]HULQH� J|OJH� YH� VXODPD� LQWHUDNVL\RQX���� VHYL\HVLQGH� |QHPOL� EXOXQPXúWXU��dL]HOJHGHQ�GH�J|U�OG�÷��JLEL�*R6� NRPELQDV\RQX�����J�LOH�HQ�G�ú�N�PH\YH�LULOL÷LQH�VDKLSNHQ�� *�6�� NRPELQDV\RQX� ��J� LOH� HQ� \�NVHN� GH÷HULQH� VDKLSWLU�� *|OJH�X\JXODPDODUÕ� DUDVÕQGD�� *� X\JXODPDVÕ� HQ� \�NVHN�� VXODPD G�]H\OHUL� DUDVÕQGD� 6��G�]H\L� HQ� G�ú�N� PH\YH� LULOL÷LQH� VDKLS� ROPXúWXU�� 6X� YH� J|OJH� X\JXODPDODUÕQÕQ�
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LQWHUDNVL\RQXQGD�� J|OJH� YH� VX� G�]H\L� DUWWÕNoD� RUWDODPD�PH\YH� D÷ÕUOÕ÷Õ� GH÷HUL� DUWÕú�J|VWHUPLú�DNVL�GXUXPGD�LVH�D]DOPÕúWÕU���
dL]HOJH����� *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�PH\YH�LULOL÷L��]HULQH�HWNLOHUL

$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ�����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU

0DQLQL�YH�*DOOLQD���������³%HOUXEL´�YH�³$GGLH´�oLOHN�oHúLWOHULQGH���������YH���� DoÕN� VX� G�]H\L� EXKDUODúPD� G�]H\OHULQL� NXOODQDUDN� \DSWÕNODUÕ� oDOÕúPDODUÕQGD��PH\YH� LULOL÷LQLQ� VXODPD� RUDQÕQGDNL� \�NVHOLúOH� ELUOLNWH� DUWPD� H÷LOLPL� J|VWHUPLúWLU��0HODQG� �������� ³6HQJD� 6HQJDQD´� oLOHN� oHúLGLQGH� VXODQDQ� ELWNLOHULQ�� VXODQPD\DQ�ELWNLOHUH� RUDQOD� PH\YH� LULOL÷LQGH� ���� G�]H\LQGH� DUWÕú� PH\GDQD� JHOGL÷LQL�VDSWDPÕúODUGÕU� &KHQ� YH� DUN�� �������� µQÕQ� HOPDGD� \DSWÕNODUÕ� oDOÕúPDGD� NRQWURO�D÷DoODUÕQÕQ������RUDQÕQGD�J|OJH�DOWÕQD�DOÕQPÕú�D÷DoODUGDQ�GDKD�ID]OD�RUDQGD�PH\YH�WDúÕGÕ÷ÕQÕ� YH� RUWDODPD� PH\YH� D÷ÕUOÕ÷ÕQÕQ� GDKD� ID]OD� ROGX÷XQX� WHVSLW� HWPLúOHUGLU��5RWXQGR� YH� DUN�� �������� E|÷�UWOHQOHU� �]HULQGH� \DSWÕNODUÕ� oDOÕúPDGD� J|OJH� DOWÕQGD�\HWLúHQ�ELWNLOHULQ�RUWDODPD�PH\YH�D÷ÕUOÕ÷ÕQÕQ�GDKD�ID]OD�ROGX÷XQX�ELOGLUPLúOHUGLU��

68/$0$
6� 6� 6�

* � ����F ��E ���D

* � ��F ���E ���D*g/
*(/(

0(
* � ��F ���E ���D/6' ���� ���� ����



���$5$ù7,50$�%8/*8/$5,�YH�7$57,ù0$ ùHKQD]�.25.0$=

��

������� S+�
*|OJHOHPH� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� PH\YHQLQ� S+� GH÷HUOHUL� �]HULQH�HWNLOHUL�dL]HOJH����¶�GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV�DQDOL]OHUL�VRQXFXQGD�J|OJHOHPH�YH� VX� X\JXODPDVÕQÕQ� D\UÕFD� J|OJHOHPH� 
� VX� LQWHUDNVL\RQXQ� 3+ GH÷HUOHUL� �]HULQGH�LVWDWLNVHO� DoÕGDQ� ELU� IDUNOÕOÕ÷D� \RO� DoPDGÕ÷Õ� WHVSLW� HGLOPLúWLU�� %|÷�UWOHQGH� \DSÕODQ�J|OJH� oDOÕúPDVÕQGD� J|OJHOHPHQLQ� PH\YH� S+¶VÕ� �]HULQH� |QHPOL� ELU� HWNLVLQLQ�EXOXQPDGÕ÷Õ�VDSWDQPÕúWÕU��5RWXQGR�YH�DUN��������

dL]HOJH����� *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ 3+��]HULQH�HWNLOHUL*g/*(/(0( 68/$0$
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������ 6XGD�o|]�QHELOLU�WRSODP�NXUX�PDGGH�LoHUL÷L��6d.0�
*|OJHOHPH� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� VXGD� o|]�QHELOLU� WRSODP� NXUX� PDGGH�LoHUL÷L� �6d.0� GH÷HUOHUL��]HULQH�HWNLOHUL�dL]HOJH�����¶�GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV�DQDOL]OHUL� VRQXFXQGD� VX� X\JXODPDVÕQÕQ� HWNLVL� ��� VHYL\HVLQGH� |QHPOL� oÕNDUNHQ�J|OJHOHPH�� J|OJHOHPH
� VX� LQWHUDNVL\RQXQXQ� VXGD� o|]�QHELOLU� WRSODP� NXUX� PDGGH��6d.0�� GH÷HUOHUL� �]HULQGH� LVWDWLNVHO� DoÕGDQ� |QHPVL]� EXOXQPXúWXU�� 6X� G�]H\L�X\JXODPDODUÕQÕQ�PH\YHGH�VXGD�o|]�QHELOLU�NXUX�PDGGH� LoHUL÷L� �6d.0���]HULQGH�HWNLOL�ROGX÷X�EHOLUOHQPLúWLU��dL]HOJHGHQ�GH�J|U�OG�÷��JLEL�6� X\JXODPDVÕ��������LOH�HQ�\�NVHN�6d.0� LoHUL÷LQH� VDKLSNHQ�� 6� X\JXODPDVÕ� ������ LOH� HQ� G�ú�N� 6d.0� LoHUL÷LQH� VDKLS�ROPXúWXU�� 6X� G�]H\OHUL� D]DOGÕNoD� VXGD� o|]�QHELOLU� NXUX�PDGGH� LoHUL÷L� �6d.0�� LoHUL÷L�DUWPÕúWÕU�

dL]HOJH������ *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�VXGD�o|]�QHELOLU�NXUX�PDGGH��6d.0���]HULQH�HWNLOHUL


$oÕ�WUDQVIRUPDV\RQ�GH÷HUOHUL
5RWXQGR� YH� DUN�� �������� E|÷�UWOHQGH�� <DNXVKXML� YH� DUN�� ������� 7UDE]RQ�KXUPDVÕQGD�J|OJHOHPHQLQ�6d.0��]HULQGH�HWNLVLQLQ�EXOXQPDGÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU�&KHQ�YH�DUN����������HOPD��]HULQGH�\DSWÕNODUÕ�oDOÕúPDGD�DoÕNWD�EÕUDNÕODQ�PH\YHOHULQ�VXGD� o|]�QHELOLU� NXUX� PDGGH� RUDQODUÕ� J|OJHOHQPLú� ELWNLOHUGHNLOHUH� RUDQOD� GDKD�\�NVHN� oÕNWÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU�� %HVVHW� YH� DUN�� �������� úHIWDOLOHUGH� \DSWÕNODUÕ�oDOÕúPDGD�HQ�G�ú�N�6d.0�\�]GHVLQLQ�RSWLPXP�VHYL\HGH�\DSÕODQ�VXODPDGDQ�DOÕUNHQ��HQ� \�NVHN� 6d.0� \�]GHVLQL� NÕVÕWOÕ� VX� X\JXODPDVÕ� \DSÕODQ� JUXSWDQ� DOPÕúWÕU��$UDúWÕUÕFÕODUÕQ�EXOJXODUÕ�EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU��
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������7LWUH�HGLOHELOLU�DVLWOLN�
*|OJHOHPHQLQ�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�PH\YHQLQ�DVLWOLN�GH÷HUOHUL��]HULQH�HWNLOHUL� dL]HOJH� ����¶� GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD�J|OJHOHPHQLQ� DVLWOLN� �]HULQH� HWNLVL� |QHPVL]� EXOXQXUNHQ� VXODPDQÕQ� DVLWOLN� �]HULQH�HWNLVL� LVWDWLVWLNL�DoÕGDQ�����VHYL\HVLQGH�|QHPOL�EXOXQPXúWXU��$\UÕFD�J|OJHOHPH
�VX�LQWHUDNVL\RQXQXQ�DVLWOLN��]HULQH�ELU�HWNLVLQLQ�ROPDGÕ÷Õ�VDSWDQPÕúWÕU��(Q�\�NVHN�DVLWOLN�LoHUL÷LQH� VDKLS� X\JXODPD� ������ LOH� 6� X\JXODPDVÕQGDQ�� HQ� G�ú�N� DVLWOLN� LoHUL÷L� LVH������� LOH� 6� X\JXODPDVÕQGDQ� HOGH� HGLOPLúWLU�� *|OJHOHPHQLQ� DVLWOLN� �]HULQH� ELU�HWNLVLQLQ� ROPDGÕ÷Õ� EXOXQPXúWXU�� 5RWXQGR� YH� DUN�� �������� ���� RUDQÕQGDNL�J|OJHOHPHQLQ�E|÷�UWOHQOHULQ�DVLWOLN�RUDQÕQÕ�HWNLOHPHGL÷LQL�EHOLUWPLúOHUGLU��
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�������<DSUDN�DODQÕ
*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�\DSUDN�DODQÕ��]HULQH�HWNLOHUL�dL]HOJH������¶GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV�DQDOL]OHUL�VRQXFXQGD�\DSUDN�DODQÕ��FP����]HULQH�J|OJHOHPH�YH�VXODPD�LQWHUDNVL\RQX����VHYL\HVLQGH�|QHPOL�EXOXQPXúWXU��dL]HOJHGHQ�GH�J|U�OG�÷��JLEL�*R6� X\JXODPDVÕ������FP� LOH�HQ�G�ú�N�\DSUDN�DODQÕQD�VDKLSNHQ��*�6� X\JXODPDVÕ� LVH� ������ FP� LOH� HQ� \�NVHN� \DSUDN� DODQÕQD� VDKLSWLU�� *|OJH�X\JXODPDODUÕ� DUDVÕQGD� HQ� G�ú�N� \DSUDN� DODQÕQD� *R� �NRQWURO�� X\JXODPDVÕQGD�UDVWODQÕUNHQ��HQ�\�NVHN�\DSUDN�DODQÕQD�LVH�*� X\JXODPDVÕQGD�UDVWODQPÕúWÕU��6X�G�]H\L�X\JXODPDODUÕ�DUDVÕQGD�HQ�G�ú�N�\DSUDN�DODQÕ�GH÷HULQH�6� X\JXODPDVÕQGD�UDVWODQÕUNHQ���HQ�\�NVHN�\DSUDN�DODQÕ�GH÷HULQH 6� X\JXODPDVÕQGD�UDVWODQPÕúWÕU��
dL]HOJH������ *|OJHOHPH�YH�VX G�]H\L�X\JXODPDODUÕQÕQ�\DSUDN�DODQÕ��]HULQH�HWNLOHUL68/$0$
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<DSÕODQ� J|OJH� oDOÕúPDODUÕQGD� J|OJHOHPHQLQ� \DSUDN� DODQÕQÕ� DUWWÕUGÕ÷Õ� WHVSLW�HGLOPLúWLU��,VUDHOL�YH DUN����������PX]GD�\DSWÕNODUÕ�oDOÕúPDGD�J|OJHQLQ�\DSUDN�DODQÕQÕ�DUWWÕUGÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU�� .ÕUQDN� YH� 'HPLUWDú� ������� GH� NLUD]� ILGDQODUÕQGDQ�\DSWÕNODUÕ� oDOÕúPDGD� VX� VWUHVLQLQ� úLGGHWL� DUWWÕNoD� \DSUDN� DODQÕ�� V�UJ�Q� X]XQOX÷X� YH�J|YGH�oDSÕ�JLEL�SDUDPHWUHOHUGH�NRQWURO�NRQXVXQD�J|UH�|QHPOL�DODQGD�D]DOPDODU�WHVSLW�HWPLúOHUGLU��
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6X� VWUHVLQLQ� E�\�PH� �]HULQGHNL� HQ� EHOLUJLQ� HWNLVL� \DSUDN� DODQÕQGDNLD]DOPDODUGD� NHQGLQL� J|VWHUGL÷LQL� EHOLUWPLúOHUGLU�� (OGH� HGLOHQ� YHULOHU� EL]LP�EXOJXODUÕPÕ]OD� X\XP� LoLQGHGLU�� (O�*L]DZ\� YH� DUN�� �������� GRPDWHVWH� \DSWÕNODUÕ�oDOÕúPDGD� J|OJHOHPH� \R÷XQOX÷X� DUWÕNoD� \DSUDN� DODQÕQGD� DUWÕú� J|U�OG�÷�Q�� WHVSLW�HWPLúOHUGLU��6RUUHQWLQR�YH�DUN����������J|OJH�DOWÕQGD�\HWLúWLULOHQ�]DPEDNODUÕQ�NRQWURO�ELWNLOHULQH� RUDQOD� \DSUDN� DODQÕQGD� ELU� DUWÕú� ROGX÷XQX� ELOGLUPLúOHUGLU�� $UDúWÕUÕFÕODUÕQ�EXOJXODUÕ�EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU��
�������.ORURILO�LoHUL÷L�

*|OJHOHPH� YH� VX� G�]H\OHULQLQ� \DSUDN� NORURILO� LoHULNOHUL� �]HULQH� RODQ� HWNLVL�ùHNLO������GD�YHULOPLúWLU��'H÷LúLN�J|OJH�X\JXODPDODUÕQÕQ�VX�G�]H\OHULQLQ�X\JXODQGÕ÷Õ�³0XLU´�oLOHN�oHúLGLQGH�\DSUDN�NORURILO�GH÷HUOHUL�X\JXODPD�NRQXODUÕQD�J|UH� IDUNOÕOÕN�J|VWHUPLúWLU�� ùHNLOGHQ� J|U�OG�÷�� JLEL� HQ� \�NVHN� NORURILO� LoHUL÷LQH� ���� LOH� *�6��X\JXODPDVÕQGD� UDVWODQÕUNHQ�� HQ� G�ú�N� NORURILO� LoHUL÷LQH� ����� LOH� *R6�X\JXODPDVÕQGD� UDVWODQPÕúWÕU��*|OJH�YH� VX�G�]H\L�DUWWÕNoD� \DSUDNWDNL�NORURILO� LoHUL÷L�\�NVHOPLú�� DNVL� GXUXPGD� LVH� G�úP�úW�U�� <DSÕODQ� oDOÕúPDODUGD� NORURILO� PLNWDUÕQÕQ�J|OJH�X\JXODPDVÕ�DOWÕQGD�\HWLúWLULOHQ�ELWNLOHUGH�DUWWÕ÷Õ�WHVSLW�HGLOPLúWLU��
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,VUDHOL�YH�DUN�� ��������5RGXQWR�YH�DUN� ������� \DSWÕNODUÕ� oDOÕúPDGD� \DSUDNWDNL�NORURILO�PLNWDUÕQÕ�DUWWÕUGÕ÷ÕQÕ�WHVSLW�HWPLúOHUGLU��.ÕUQDN�YH�'HPLUWDú��������� GH�NLUD]�ILGDQODUÕ��]HULQH�\DSWÕNODUÕ�oDOÕúPDGD�VX�VWUHVL�DOWÕQGDNL�ELWNLOHUGH�NORURILO�PLNWDUÕQÕQ�|QHPOL� |Oo�GH� G�úW�÷�Q�� EHOLUWPLúOHUGLU�� /HYLWW� ������� GH� VX� VWUHVL� NRúXOODUÕQÕQ�ELWNLGH� WHúYLN� HWWL÷L�PHWDEROLN� ER]XNOXNODUGD� YH� J|U�OHELOLU� HQ� |QHPOL� EHOLUWLOHUGHQ�ELUL� RODUDN� NDEXO� HGLOHQ� NORURILO� ND\EÕQÕQ�� \DSUDNODUGDNL� VWRPDODUÕQ� NDSDQPDVÕ� YH�GHKLGUDV\RQ� PH\GDQD� JHOPHVL� VRQXFXQGD� G�úHQ� SURWHLQ� YH� HQ]LP� DNWLYLWLOHUL� LOH�DoÕNODPDNWDGÕU��6LQJHU�YH�DUN����������LNL�IDUNOÕ�IDVXO\H�oHúLGLQLQ��UHWLP��JHOLúPH�YHE�\�PH��]HULQH�IDUNOÕ�VHYL\HOHUGHNL�VX�X\JXODPDODUÕQÕQ�HWNLOHULQL�LQFHOHPLúOHUGLU��6X�VWUHVLQH� WDEL� WXWXODQ� ELWNLOHUGH� NORURILO� PLNWDUÕQÕQ� D]DOGÕ÷ÕQÕ� WHVSLW� HWPLúOHUGLU��$UDúWÕUÕFÕODUÕQ�HOGH�HWWL÷L�EXOJXODU�EL]LP�EXOJXODUÕPÕ]OD�SDUDOHOOLN�J|VWHUPHNWHGLU��
�������0HPEUDQ�SHUPDELOLWHVL

*|OJHOHPH� YH� VX� G�]H\OHULQLQ� ����� \ÕOÕ� PHPEUDQ� SHUPDELOLWHVL GH÷HUOHUL�dL]HOJH� ����� ¶GH� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD� J|OJH� 
� VX�LQWHUDNVL\RQXQXQ� PHPEUDQ� SHUPDELOLWHVL �]HULQH� HWNLVL� ��� VHYL\HVLQGH� |QHPOLEXOXQPXúWXU�� dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� *R6� X\JXODPDVÕ� ���� LOH� HQ� \�NVHN��*�6� X\JXODPDVÕ�LVH�����LOH�HQ�G�ú�N�PHPEUDQ�SHUPDELOLWHVL GH÷HULQH�VDKLSWLU��
dL]HOJH������ *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ������\ÕOÕ�PHPEUDQ�SHUPDELOLWHVL �]HULQH�HWNLVL68/$0$
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*|OJH� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� PHPEUDQ� SHUPDELOLWHVL GH÷HULQH� *R��NRQWURO��X\JXODPDVÕQGD� UDVWODQÕUNHQ��HQ�G�ú�N� LVH�*� X\JXODPDVÕQGD� UDVWODQPÕúWÕU��6X� G�]H\L� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� PHPEUDQ� SHUPDELOLWHVL GH÷HULQH� 6�X\JXODPDVÕQGD� WHVSLW� HGLOLUNHQ�� HQ� G�ú�N� PHPEUDQ� SHUPDELOLWHVL GH÷HULQH� 6�X\JXODPDVÕQGD� WHVSLW� HGLOPLúWLU�� (OGH� HGLOHQ� YHULOHUH� J|UH� J|OJH� \R÷XQOX÷X� YH� VX�G�]H\L� X\JXODPDVÕ� DUWÕNoD� PHPEUDQ� SHUPDELOLWHVL G�úPHNWH� DNVL� GXUXPGD� LVH�\�NVHOPHNWHGLU��
*|OJHOHPH� YH� VX� G�]H\OHULQLQ� X\JXODQGÕ÷Õ� ����� \ÕOÕ� PHPEUDQ� SHUPDELOLWHVLGH÷HUOHUL�dL]HOJH������¶GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV�DQDOL]OHUL�VRQXFXQGD�VXODPD�YH�J|OJHOHPH�X\JXODPDODUÕQÕQ�PHPEUDQ�SHUPDELOLWHVL �]HULQH�HWNLVL����VHYL\HVLQGH�|QHPOL� EXOXQPXúWXU�� *|OJHOHPH� 
� VX� LQWHUDNVL\RQXQ� LVWDWLNVHO� DoÕGDQ� |QHPVL]�EXOXQPXúWXU�� dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� J|OJHOHPH� X\JXODPDODUÕ� DUDVÕQGD� *RX\JXODPDVÕ� ���� LOH� HQ� \�NVHN� PHPEUDQ� SHUPDELOLWHVL GH÷HULQH� VDKLSNHQ�� *�X\JXODPDVÕ�LVH�����LOH�HQ�G�ú�N�PHPEUDQ�SHUPDELOLWHVL GH÷HULQH�VDKLSWLU��

dL]HOJH������ *|OJHOHPH�YH�VX�G�]H\L X\JXODPDODUÕQÕQ������\ÕOÕ�PHPEUDQ�SHUPDELOLWHVL�]HULQH�HWNLVL

$\QÕ�V�WXQGD�D\QÕ�KDUIOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU��

*g/*(/(0( 68/$0$
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*� �� F 6� �� F/6' ����� �����
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*|OJH� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� PHPEUDQ� SHUPDELOLWHVL GH÷HULQH� *R��NRQWURO�� X\JXODPDVÕQGD� UDVWODQÕUNHQ�� HQ� G�ú�N� GH÷HUH� LVH� *� X\JXODPDVÕQGD�UDVWODQPÕúWÕU�� 6X� G�]H\L� X\JXODPDODUÕ� DUDVÕQGD� HQ� \�NVHN� PHPEUDQ� SHUPDELOLWHVLGH÷HULQH�����LOH�6� X\JXODPDVÕQGD�WHVSLW�HGLOLUNHQ��HQ�G�ú�N�PHPEUDQ�SHUPDELOLWHVLGH÷HULQH� ���� X\JXODPDVÕQGD� WHVSLW� HGLOPLúWLU�� (OGH� HGLOHQ� YHULOHUH� J|UH� J|OJH�\R÷XQOX÷X� YH� VX� G�]H\L� X\JXODPDVÕ� DUWÕNoD�PHPEUDQ SHUPDELOLWHVL G�úPHNWH�� DNVL�GXUXPGD� LVH� \�NVHOPHNWHGLU�� *�OHQ� YH� (ULú�� �������� oLOHNWH� VÕFDNOÕN� VWUHVL� �]HULQH�\DSWÕNODUÕ� DUDúWÕUPDGD�� \�NVHN� VÕFDNOÕ÷D� PDUX]� NDODQ� ELWNLOHUGH� PHPEUDQ�SHUPDOLWHVLQLQ�DUWWÕ÷ÕQÕ�VDSWDQPÕúODUGÕU���
����� *|OJHOHPH� YH� 6X� '�]H\OHULQLQ� %D]Õ� 7RSUDN� $OWÕ� YH� 7RSUDN� hVW��2UJDQODUÕQÕQ�<Dú�YH�.XUX�$÷ÕUOÕNODUÕ�h]HULQH�(WNLOHUL��

�������%LWNL�N|N \Dú�D÷ÕUOÕ÷Õ��J�ELWNL�
*|OJHOHPH� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ELWNL� N|N� \Dú� D÷ÕUOÕ÷Õ� GH÷HUOHUL��]HULQH� HWNLOHUL� dL]HOJH� ����¶� GH� YHULOPLúWLU� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD��]HULQH� J|OJHOHPH� YH� VXODPD� LQWHUDNVL\RQX� ��� VHYL\HVLQGH� |QHPOL� EXOXQPXúWXU�dL]HOJHGHQ�GH�J|U�OG�÷��JLEL�*R6� LQWHUDNVL\RQX�����J�LOH�HQ�\�NVHN�ELWNL�N|N \Dú�D÷ÕUOÕ÷ÕQD�VDKLSNHQ���*�6��LQWHUDNVL\RQX�����J�LOH�HQ�G�ú�N��D÷ÕUOÕ÷D�VDKLSWLU���

dL]HOJH������ *|OJHOHPH�VX�G�]H\L�X\JXODPDODUÕQÕQ�ELWNL�N|N�\Dú D÷ÕUOÕ÷Õ�]HULQH�HWNLOHUL 68/$0$
6� 6� 6�

* � ����D ���E ���F

* � ���D ���E ���F*g/
*(/(

0(
* � ���D ���E ���F

/6' ����� ����� �����$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ��� VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU



���$5$ù7,50$�%8/*8/$5,�YH�7$57,ù0$ ùHKQD]�.25.0$=

��

*|OJH� \R÷XQOXNODUÕ� DUDVÕQGD�� *� X\JXODPDVÕ� HQ� G�ú�N� ELWNL� N|N� \Dú� D÷ÕUOÕ÷Õ�GH÷HULQH� VDKLS� ROPXúWXU�� 6XODPD� G�]H\OHUL� DUDVÕQGD� LVH� HQ� \�NVHN� 6�� X\JXODPDVÕ�ELWNL�N|N�\Dú�D÷ÕUOÕ÷ÕQD�VDKLS�ROPXúWXU��.ÕVÕWOÕ�VX�X\JXODPDODUÕ�ELWNL�N|N�\Dú�D÷ÕUOÕ÷Õ�DUWÕúÕ��]HULQGH�HWNLOL�ROXUNHQ��J|OJH�\R÷XQOX÷X�DUWÕúÕ�ELWNL�N|N�\Dú�D÷ÕUOÕ÷Õ��]HULQGH�G�ú�úH�QHGHQ�ROPXúWXU�
�������%LWNL�N|N NXUX�D÷ÕUOÕ÷Õ��J�VDNVÕ�

*|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�ELWNL N|N�NXUX�D÷ÕUOÕ÷Õ��]HULQH�HWNLOHUL�dL]HOJH�����¶�GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV�DQDOL]OHUL�VRQXFXQGD��]HULQH�J|OJHOHPH�YH� VXODPD� LQWHUDNVL\RQX� ��� VHYL\HVLQGH� |QHPOL� EXOXQPXúWXU�� dL]HOJHGHQ� GH�J|U�OG�÷��JLEL�*R6� NRPELQDV\RQX����J�LOH�HQ�\�NVHN���*�6��NRPELQDV\RQX�LVH������J� LOH� HQ� G�ú�N� ELWNL N|N� NXUX� D÷ÕUOÕ÷ÕQD� VDKLSWLU�� *|OJH� \R÷XQOXNODUÕ� DUDVÕQGD�� *�X\JXODPDVÕQGD� HQ� G�ú�N� ELWNL� N|N� NXUX� D÷ÕUOÕ÷Õ� WHVSLW� HGLOPLúWLU�� 6XODPD�G�]H\OHUL�DUDVÕQGD�6��X\JXODPDVÕ�HQ�\�NVHN�ELWNL�N|N�NXUX�D÷ÕUOÕ÷ÕQD�VDKLS�ROPXúWXU�
dL]HOJH������ *|OJHOHPH�YH VX�G�]H\L�X\JXODPDODUÕQÕQ�ELWNL�N|N�NXUX�D÷ÕUOÕ÷Õ��]HULQH�HWNLOHUL

$\QÕ�VDWÕUGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ�����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU
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�������%LWNL�WDo \Dú�D÷ÕUOÕ÷Õ��J�VDNVÕ�
*|OJHOHPHQLQ� YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ELWNL� WDo \Dú� D÷ÕUOÕ÷Õ� �]HULQH�HWNLOHUL�dL]HOJH�����¶�GH�YHULOPLúWLU��<DSÕODQ�YDU\DQV� DQDOL]OHUL� VRQXFXQGD�ELWNL� WDo�\Dú� D÷ÕUOÕ÷Õ� �]HULQH� J|OJHOHPH� YH� VXODPDQÕQ� HWNLVL� ��� VHYL\HVLQGH� |QHPOL�EXOXQPXúWXU�� � dL]HOJHGHQ� GH� J|U�OG�÷�� JLEL� J|OJH� \R÷XQOXNODUÕ� DUDVÕQGD� *RX\JXODPDVÕ� ������ J� LOH� HQ� G�ú�N� ELWNL� WDo� \Dú� D÷ÕUOÕ÷ÕQD� VDKLSNHQ�� �*� X\JXODPDVÕ��������J�LOH�HQ�\�NVHN�GH÷HUH�VDKLSWLU��6XODPD�G�]H\OHUL�DUDVÕQGD�6��X\JXODPDVÕ�������J� LOH� HQ�G�ú�N�� �6�� X\JXODPDVÕ� ������J� LOH� HQ� \�NVHN�ELWNL� WDo� \Dú� D÷ÕUOÕ÷ÕQD� VDKLS�ROPXúWXU�� <XUWVHYHQ� YH� %DUDQ�� �������� EURNROLOHUGH� \DSWÕNODUÕ� oDOÕúPDGD�� VXODPD�VX\X�PLNWDUODUÕQÕQ�\Dú�D÷ÕUOÕNODU��]HULQH�HWNLOL�ROGX÷XQX�EHOLUWPLúOHUGLU��6XODPD�VX\X�PLNWDUÕ�DUWWÕNoD�ELWNL�\Dú�D÷ÕUOÕ÷Õ�GH÷HUOHULQLQ�DUWÕú�J|VWHUGL÷LQL�WHVSLW�HWPLúOHUGLU�

dL]HOJH�������*|OJHOHPH�YH�VX G�]H\L�X\JXODPDODUÕQÕQ�ELWNL�WDo \Dú�D÷ÕUOÕ÷Õ��]HULQH�HWNLOHUL *g/*( 68/$0$
*� ������E 6� ������D
*� ������D 6� ������E
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*� ������D 6� ������F/6' ����� �����$\QÕ�V�WXQGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ�����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU
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�������%LWNL�WDo�NXUX�D÷ÕUOÕ÷Õ��J�ELWNL�
*|OJHOHPH�YH� VX� G�]H\L� X\JXODPDODUÕQÕQ� ELWNL WDo� NXUX� D÷ÕUOÕ÷Õ� �]HULQH� HWNLOHUL�dL]HOJH� ����¶� GD� YHULOPLúWLU�� <DSÕODQ� YDU\DQV� DQDOL]OHUL� VRQXFXQGD� ELWNL� WDo NXUX�D÷ÕUOÕ÷Õ��]HULQH�J|OJHOHPH�YH�VXODPDQÕQ�HWNLVL����VHYL\HVLQGH�|QHPOL�EXOXQPXúWXU��$QFDN� J|OJHOHPH
� VX� LQWHUDNVL\RQXQ� ELWNL� WDo NXUX� D÷ÕUOÕ÷Õ� �]HULQH� ELU� HWNLVLQLQ�ROPDGÕ÷Õ�WHVSLW�HGLOPLúWLU��dL]HOJHGHQ�GH�J|U�OG�÷��JLEL�J|OJH�\R÷XQOXNODUÕ�DUDVÕQGD�*R X\JXODPDVÕ ������J�LOH�HQ�G�ú�N�ELWNL�WDo�NXUX�D÷ÕUOÕ÷ÕQD�VDKLSNHQ��*� X\JXODPDVÕ������� J� LOH� HQ� \�NVHN� GH÷HULQH� VDKLSWLU�� 6XODPD� G�]H\OHUL� DUDVÕQGD� 6�� X\JXODPDVÕ������J� LOH�HQ�G�ú�N�� �6�� X\JXODPDVÕ�������J� LOH� HQ� \�NVHN�ELWNL� WDo�NXUX�D÷ÕUOÕ÷ÕQD�VDKLS�ROPXúWXU�

dL]HOJH������ *|OJHOHPH�YH�VX�G�]H\L�X\JXODPDODUÕQÕQ�ELWNL�WDo NXUX�D÷ÕUOÕ÷Õ��]HULQHHWNLOHUL*g/*( 68/$0$
*� ������F 6� �����F
*� ������E 6� ������E

%LWNL�
WDo�NX

UX�D÷
ÕUOÕNOD
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*� ������D 6� ������D/6' ����� �����$\QÕ�V�WXQGD�D\QÕ�KDUI�LOH�J|VWHULOHQ�RUWDODPDODU�DUDVÕQGDNL�IDUN�LVWDWLVWLNL�DoÕGDQ�����VHYL\HVLQGH�|QHPVL]�EXOXQPXúWXU
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���6218d/$5�YH�g1(5ø/(5
³0XLU´�oLOHN�oHúLGLQGH�J|OJHOHPH�YH�VX�G�]H\OHULQLQ�ED]Õ�LNOLP��ELWNL�YH�PH\YH�|]HOOLNOHUL� �]HULQH� HWNLOHULQL� EHOLUOHPHN� DPDFÕ\OD� \�U�W�OHQ� EX� oDOÕúPDGD�� ELWNLOHU�GHQHPHQLQ�\DSÕOGÕ÷Õ�KHU� LNL�\ÕOGD�GD� ������ �*���YH������*���ROPDN��]HUH��� IDUNOÕ�NDOÕQOÕNWDNL� \DSD\� J|OJH� PDWHU\DOOHUL\OH� NDSDWÕOPÕú�� NRQWURO� ELWNLOHUL� ��� �*��� LVH�DoÕNWD� EÕUDNÕOPÕú� YH� HOYHULúOL� NDSDVLWHQLQ� ���� �6���� ���� �6��� YH� ����¶�� �6���VHYL\HVLQGH�VX�G�]H\OHUL�X\JXODQPÕúWÕU��
$UDúWÕUPDGD� ���������� \ÕOODUÕQD� DLW� oLoHNOHQPH� YH� PH\YH� WXWXP� EDúODQJÕo�WDULKOHUL� LQFHOHQPLúWLU�� ����� \ÕOÕ� IHQRORMLN� J|]OHPOHULQH� J|UH� LON� oLoHNOHQPH� YH�PH\YH� WXWXP� EDúODQJÕo� WDULKOHUL� J|OJH� \R÷XQOX÷X� DUWWÕNoD� JHFLNPLúWLU�� 6X�VHYL\HOHULQGHNL�DUWÕú� LVH�EX�WDULKOHUL�|QH�DOPÕúWÕU�������\ÕOÕQGD�LVH�EHQ]HU�VRQXoODUOD�NDUúÕODúÕOPÕúWÕU��
*|OJHOHPH�YH�VX�G�]H\OHULQGHNL�DUWÕú�������\ÕOÕ�GHULP�V�UHVL��]HULQGH�|QHPOL�HWNLOHUH� QHGHQ� ROPXúWXU�� ���� J|OJH� \R÷XQOX÷X� YH� ����� VX� VHYL\HVL� X\JXODQPÕú�ELWNLOHUGH� GHULP� V�UHVL� ��� J�Q� LNHQ�� DoÕNWD� \HWLúWLULOHQ� YH� ���� VX� VHYL\HVLQH� WDEL�WXWXODQ�ELWNLOHUGH�EX�V�UH����J�Q�RODUDN�EHOLUOHQPLúWLU��
%LWNL\H� YHULOHQ� VXODPD� VX\X�PLNWDUÕ� YH� ELWNL� VX� W�NHWLPL� YHJHWDWLI� DNVDPD��KDYD� VÕFDNOÕ÷ÕQD� YH� J|OJH� \R÷XQOX÷XQD� J|UH� GH÷LúLNOLN� J|VWHUPLúWLU�� 8\JXODQDQ�VXODPD� VX\X� PLNWDUÕ� HQ� \�NVHN� RODQ� JUXS�� DoÕNWD� \HWLúWLULOHQ� YH� ����� VXODPD�VHYL\HVLQH�WDEL�WXWXODQ�ELWNLOHU�RODUDN�WHVSLW�HGLOLUNHQ��VXODPD�VX\X�PLNWDUÕ�HQ�G�ú�N�RODQ� JUXS� LVH� ���� J|OJH� DOWÕQGD� \HWLúWLULOHQ� YH� ���� VX� VHYL\HVLQH� VDKLS� ELWNLOHU�RODUDN� EHOLUOHQPLúWLU�� %LWNL� VX� W�NHWLPL� HQ� \�NVHN� RODQ� X\JXODPD� *R6�NRPELQDV\RQXQGD�VDSWDQÕUNHQ��HQ�G�ú�N�*�6� NRPELQDV\RQXQGD�EHOLUOHQPLúWLU�
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'HQHPHGH�� J|OJH� PDWHU\DOOHULQLQ� |UW�O�� ROGX÷X� G|QHP� V�UHVLQFH� \DSUDN�VÕFDNOÕ÷Õ�� PH\YH� \�]H\� VÕFDNOÕ÷Õ�� ÕúÕN� úLGGHWL�� IRWRVHQWHWLN� DNWLI� UDG\DV\RQ� �3$5���RUWDODPD� KDYD� VÕFDNOÕ÷Õ�� RUDQVDO� QHP� G�]H\L� YH� WRSUDN� VÕFDNOÕ÷Õ� |Oo�OP�ú� YH� IDUNOÕ�VHYL\HGHNL� J|OJH� YH� VX� G�]H\OHULQLQ� EX� LNOLPVHO� YHULOHU� �]HULQGH� |QHPOL� HWNLOHUH�QHGHQ�ROGX÷X�WHVSLW�HGLOPLúWLU��gOo�P�SHUL\RGX�ER\XQFD�IRWRVHQWHWLN�DNWLI�UDG\DV\RQ��3$5���RUWDODPD�KDYD�VÕFDNOÕ÷Õ�YH�ÕúÕN�úLGGHWL�J|OJH�\R÷XQOXNODUÕQÕQ�DUWÕúÕQD�SDUDOHO�RODUDN�D]DOÕUNHQ���RUDQVDO�QHP�G�]H\L�LVH�DUWÕú�J|VWHUPLúWLU��
)DUNOÕ� VHYL\HGHNL� VX� YH� J|OJH� X\JXODPDODUÕQÕQ� HWNLVLQL� LQFHOHPHN� DPDFÕ\OD�WRSUDN�VÕFDNOÕN�|Oo�POHUL�\DSÕOPÕúWÕU��*|OJH�YH�VX�VHYL\HOHUL�DUWWÕNoD�WRSUDN�VÕFDNOÕN�GH÷HUOHUL�D]DOPÕúWÕU���
*|OJH�YH�VX�X\JXODPDODUÕQÕQ�����������\ÕOODUÕQGD�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ�YH� PH\YH� LULOL÷L� �]HULQH� RODQ� HWNLOHULQLQ� LQFHOHPLúWLU�� %XQD� J|UH� J|OJH� \R÷XQOX÷X�DUWWÕNoD� ELWNL� EDúÕQD� PH\YH� D÷ÕUOÕ÷Õ YH� PH\YH� LULOL÷L� DUWDUNHQ� WHUVL� GXUXPGD� LVH�D]DOPÕúWÕU���
)DUNOÕ� J|OJHOHPH� YH� VX� VHYL\HOHULQLQ� PH\YH\H� DLW� ED]Õ� |]HOOLNOHU� �]HULQH�HWNLVLQL� EHOLUOHPHN� DPDFÕ\OD� PH\YHQLQ� S+�� �� 6d.0� YH� WLWUH� HGLOHELOLU� DVLW� RUDQÕ�WHVSLW�HGLOPLúWLU��*|OJHOHPH�YH�VX�VHYL\HOHULQLQ�PH\YHQLQ�S+�LoHUL÷LQGH�EHOLUJLQ�ELU�HWNL�J|VWHUPHGL÷L��VX�VHYL\HOHUL�D]DOGÕNoD���6d.0�RUDQÕQÕQ�DUWWÕ÷Õ�WHVSLW�HGLOPLúWLU��<LQH�J|OJHOHPHQLQ�DVLWOLN�GH÷HUOHUL��]HULQGH�EHOLUJLQ�ELU�HWNL�\DSPDGÕ÷Õ�VDSWDQÕUNHQ��VX� G�]H\OHULQLQ� DVLWOLN� RUDQÕQÕ� HWNLOHGL÷L VDSWDQPÕúWÕU�� $\UÕFD� J|OJHOHPH� YH� VX�G�]H\OHULQLQ� \DSUDN� NORURILO� LoHUL÷LQL� YH� \DSUDN� DODQÕQÕ� DUWWÕUGÕ÷Õ� VDSWDQPÕúWÕU��<DSUDN� PHPEUDQ� SHUPDEOLWHVL� GH÷HUOHULQLQ� LVH� J|OJH� \R÷XQOX÷X� YH� VX� VHYL\HVL�DUWWÕNoD��D]DOGÕ÷Õ�J|U�OP�úW�U��
*|OJHOHPH�YH�VX�G�]H\OHULQLQ�ED]Õ�WRSUDN�DOWÕ�YH�WRSUDN��VW��RUJDQODUÕQÕQ�\Dú�YH�NXUX�D÷ÕUOÕNODUÕ��]HULQH�HWNLOHUL�|QHPOL�EXOXQPXúWXU��*|OJHOHPH�YH� VX� VHYL\HOHUL�DUWWÕNoD�ELWNL�N|N�\Dú�YH�NXUX�D÷ÕUOÕNODUÕ� D]DOPÕú�� DNVL�GXUXPGD� LVH�DUWPÕúWÕU�� �%LWNL�WDo�YH�\Dú�D÷ÕUOÕNODUÕ�LVH��VX�YH�J|OJH�\R÷XQOX÷XQD�SDUDOHO�RODUDN�DUWÕú�J|VWHUPLúWLU�
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%|OJHPL]GH�LONEDKDU�VRQX�YH�\D]�D\ODUÕQGD�J|U�OHQ�\�NVHN�VÕFDNOÕNODU�PH\YH�\HWLúWLULFLOL÷LQGH� |QHPOL� VRUXQODU� ROXúWXUPDNWDGÕU�� <�NVHN� VÕFDNOÕNODU� KHPHQ� W�P�PH\YH� W�UOHULQGH� PH\YH� YH� NDOLWHGH� |QHPOL� ND\ÕSODUD� QHGHQ� ROPDNWDGÕU�� dLOHN�\HWLúWLULFLOL÷LQGH� LVH� LONEDKDU� G|QHPLQGH� KDYDODUÕQ� ELUGHQ� ÕVÕQPDVÕ�� ROXúDQ�PH\YHOHULQ�N�o�N�NDOPDVÕQD��PH\YH�\DQÕNODUÕQD�YH�GDKD�VRQUD�DoDQ�oLoHNOHULQ�]DUDU�J|UPHVLQH�QHGHQ�ROPDNWDGÕU��$\UÕFD�EX�E|OJHGH�GHULP�V�UHVLQLQ���KDIWD�JLEL�NÕVD�ELU�V�UHGH�VRQD�HUPHVL�oLOHN�\HWLúWLULFLOL÷LQL�VÕQÕUOD\DQ�IDNW|UOHU�DUDVÕQGD�\HU�DOPDNWDGÕU��dDOÕúPDGD� VÕFDNOÕN� G�ú�U�F�� ELU� HWNL\H� VDKLS� RODQ� IDUNOÕ� \R÷XQOXNODUGDNL� J|OJH�X\JXODPDODUÕQÕQ� oLOHNWH� oLoHN�� ELWNL� YH� PH\YH� �]HULQGHNL� ROXPVX]� HWNLOHUL� D]DOWÕFÕ�YH\D�WDPDPHQ�RUWDGDQ�NDOGÕUÕFÕ�ELU�HWNL�\DSWÕ÷Õ�WHVSLW�HGLOPLúWLU��
%X�DUDúWÕUPDGDQ�HOGH�HGLOHQ�EXOJXODU�VRQXFXQGD�oLOHNWH�|]HOOLNOH�J|OJHOHPHQLQ�GHULP� V�UHVLQL� X]DWWÕ÷Õ�� YHULP� YH� NDOLWH� |]HOOLNOHULQGH� L\LOHúPH� VD÷ODGÕ÷Õ�� GDKD�J|VWHULúOL� PH\YHOHULQ� ROXúWX÷X�� ED]Õ� IHQRORMLN� |]HOOLNOHUGH� L\LOHúPHOHU� ROXúWXUGX÷X�WHVSLW� HGLOPLúWLU�� øQFHOHQHQ�|]HOOLNOHU� DoÕVÕQGDQ�X\JXODPD�NRPELQDV\RQODUÕ� DUDVÕQGD�JHQHO�ELU�GH÷HUOHQGLUPH�VRQXFXQGD�HQ�ROXPOX�EXOJXODU�*�6� NRPELQDV\RQXQGDQ�HOGH�HGLOPLúWLU�
$UDúWÕUPDGD� X\JXODQDQ� �� IDUNOÕ� \R÷XQOXNWDNL� J|OJH� PDWHU\DOL� LoLQGH� ����G�]H\LQGHNL� X\JXODPD� ELWNL�� PH\YH�� ED]Õ� IHQRORMLN� YH� LNOLPVHO� |]HOOLNOHUGH� HQ� L\L�VRQXoODU� YHULUNHQ�� ���� J|OJHOHPHQLQ� \DNÕQ� VRQXoODU� YHUGL÷L� WHVSLW� HGLOPLúWLU��8\JXODQDQ�VX VHYL\HOHUL� �6���6���6���DUDVÕQGD� LVH�HQ�ROXPOX�VRQXoODU�6� G�]H\LQGHQ�DOÕQPÕúWÕU��
%|OJHPL]GH� DúÕUÕ� VÕFDNOÕNODUÕQ� ROXPVX]� HWNLOHULQL� D]DOWÕODELOPHVLQH� RODQDN�VD÷OD\DQ� EX� DUDúWÕUPD� GL÷HU� PH\YH� W�UOHULQGH� \DSÕODQ� oDOÕúPDODUD� GD� WHPHO�ROXúWXUDFD÷Õ�NDQÕVÕQGD\Õ]�
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6g</(0(=��6���������1HNWDULQGH�6XQL *|OJHOHPHQLQ�%D]Õ�%LWNL�YH�0H\YH�g]HOOLNOHUL�h]HULQH� (WNLOHULQLQ� øQFHOHQPHVL�� +DUUDQ� hQLYHUVLWHVL�� )HQ� %LOLPOHUL� (QVWLW�V���<�NVHN�/LVDQV�7H]L��ùDQOÕXUID�����V�6723$5��� 0���� 5(61,.��� 0��� DQG�� =1,'$56,&��� 3���� ������� 1RQ�6WUXFWXUDO&DUERK\GUDWH�6WDWXV�DQG�&2� ([FKDQJH�5DWH�RI�$SSOH�)UXLWOHWV�DW�WKH�7LPHRI�$EVFLVVLRQ�,QIOXFQFHG�E\�6KDGH��1$$�RU�%$��6FLHQWLD�+RUWLFXOWXUDH�����������:$1*�� 6�<�� DQG� &$03�� 0�-��� ������ 7HPSHUDWXUHV� $IWHU� %ORRP� $IIIHFW� 3ODQW�*URZWK�DQG�)UXLW�4XDOLW\�RI�6WUDZEHUU\��6FL� +RUW��������������:$7621��5����:5,*+7��&�-���0&%851(<��7���7$</25�$�-��DQG�/,1)257+��5�6�7��� ������ ,QIOXHQFH� RI� +DUYHVW� GDWH� DQG� /LJKW� øQWHJUDO� RQ� WKH�'HYHORSPHQW� RI� 6WUDZEHUU\� )ODYRXU� &RPSRXQGV�� -RXUQDO� RI� ([SHULPHQWDO�%RWDQ\����������������<$.86+,-,��+���025,1$*$��.��DQG�212��6���������(IIHFW�RI�'LIIHUHQW�VKDGLQJ�WÕPHV�RQ� WKH� IUXLW�TXDOLW\�RI� 
IX\X
� -DSDQHVH�3HUVÕPPRQ� �'ÕRVS\URV�NDNÕ� O����$FWD�+RUW��,6+6��������������<8576(9(1��(���%$5$1��<���������6XODPD�6X\X�7X]OXOX÷X�YH�6X�0LNWDUODUÕQÕQ�%URNROLGH� �%UDVVLFD� 2OHUDFHD� %RUW\WLV�� 9HULP� YH�0LQHUDO�0DGGH� øoHUL÷LQH�(WNLVL��<�NVHN�/LVDQV�7H]�g]HWL��7�ELWDN�������������������
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g=*(d0øù
����� \ÕOÕQGD� $GÕ\DPDQ¶GD� GR÷GX�� 2UWD|÷UHWLPLQL� $GÕ\DPDQ� $QDGROX� /LVHVLQGH�WDPDPODGÕ�� ����� \ÕOÕQGD�.DKUDPDQPDUDú�6�Wo�� øPDP�hQLYHUVLWHVL�=LUDDW�)DN�OWHVL��%DKoH�%LWNLOHUL�ND]DQGÕ�������\ÕOÕQGD�E|O�P��o�QF�V��RODUDN�PH]XQ�ROGX��$\QÕ�\ÕO�+DUUDQ� hQLYHUVLWHVL� =LUDDW� )DN�OWHVL� %DKoH� %LWNLOHUL� %|O�P�QGH� \�NVHN� OLVDQVD�EDúODGÕ��$\QÕ�E|O�PH�$UDOÕN�����¶�GH�DUDúWÕUPD�J|UHYOLVL�RODUDN�DWDQGÕ��$UDOÕN������GH�LVH�dDOÕúPD�YH�6RV\DO�%DNDQOÕ÷ÕQD�DWDQGÕ��
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g=(7
%X� DUDúWÕUPD� ³0XLU´� oLOHN� oHúLGLQGH� GH÷LúLN� J|OJH� \R÷XQOXNODUÕ� YH� IDUNOÕ�VXODPD� G�]H\OHUL� X\JXODPDODUÕQÕQ� ED]Õ� IHQRORMLN� JHOLúLP�� ED]Õ� LNOLPVHO� |]HOOLNOHU��GHULP�V�UHVL��WRSUDN�VÕFDNOÕ÷Õ��oLoHN��\DSUDN�YH�ELWNL�|]HOOLNOHUL��]HULQH�RODQ�HWNLOHULQL�EHOLUOHPHN�DPDFÕ\OD�\�U�W�OP�úW�U�
³0XLU´�oLOHN�oHúLGLQGH�����������\ÕOODUÕQGD�DOÕQDQ�ED]Õ� IHQRORMLN�J|]OHPOHU��oLoHNOHQPH� YH�PH\YH� WXWXP� EDúODQJÕFÕ�� VRQXFXQGD J|OJH� YH� VX� VHYL\HOHULQH� ED÷OÕ�RODUDN� X\JXODPD� NRQXODUÕ� IDUNOÕ� úHNLOGH� HWNLOHQPLúWLU�� *|OJHOHPH� \R÷XQOX÷XQGDNL�DUWÕú� YH� VX� VHYL\HVLQGHNL� D]DOPD� oLoHNOHQPH� YH� PH\YH� WXWXP� EDúODQJÕo� ]DPDQÕQÕ�JHFLNWLUGL÷L� WHVSLW� HGLOPLúWLU�� � *|OJHOHPH� YH� VX� VHYL\HOHUL� GHULP� V�UHVLQL� GH�HWNLOHPLúWLU��%XQD�J|UH������\ÕOÕQGD�GHULP�V�UHVL�HQ�ID]OD����J�Q�������\ÕOÕQGD�LVH����J�Q�ROGX÷X�WHVSLW�HGLOPLúWLU�
%LWNLOHUH� YHULOHQ� VXODPD� VX� PLNWDUODUÕ� YH� ELWNL� VX� W�NHWLPOHUL� VÕFDNOÕ÷D��YHJHWDWLI� DNVDPD� SDUDOHO� RODUDN� DUWDUNHQ�� J|OJH� \R÷XQOX÷X� DUWÕúÕ\OD� D]DOPD�J|VWHUPLúWLU�
����������\ÕOODUÕQGD�J|OJH�YH�VXODPD�VHYL\HOHUL�VÕFDNOÕ÷ÕQ�HQ�\�NVHN�ROGX÷X�J�QGH� \DSUDN� VÕFDNOÕNOÕ÷ÕQÕ� ���� R&�� PH\YH� \�]H\� VÕFDNOÕ÷ÕQÕ� ���� R&�� � WRSUDN�VÕFDNOÕ÷ÕQÕ������R&�G�ú�UG�÷��VDSWDQPÕúWÕU��*|OJH�X\JXODPDODUÕ�NRQWUROH�RUDQOD�KDYD�VÕFDNOÕ÷ÕQÕ� ������ R&� G�ú�U�UNHQ�� J|OJH� LoL� KDYD� RUDQVDO� QHP� G�]H\OHULQL� � �����RUDQODUÕQGD�DUWÕUPÕúWÕU��'H÷LúLN�\R÷XQOXNWDNL�J|OJH�X\JXODPDODUÕ��NRQWUROH�RUDQOD�ÕúÕN�úLGGHWLQL�������������O�NV�G�ú�U�UNHQ��IRWRVHQWHWLN�DNWLI�UDG\DV\RQ�GH÷HUOHULQL�����������PROP��V�� D]DOWPÕúWÕU����
�0XLU�� oLOHN� oHúLGLQGH� ELWNL� EDúÕQD�PH\YH� D÷ÕUOÕ÷Õ� YH�PH\YH� LULOL÷L� �]HULQH�J|OJH�YH�VX�G�]H\L�LQWHUDNVL\RQODUÕQÕQ�HWNLOHUL�|QHPOL�EXOXQPXúWXU��(Q�\�NVHN�ELWNL�EDúÕQD�PH\YH�D÷ÕUOÕ÷Õ�����J�ELWNL� LOH�YH�HQ�\�NVHN PH\YH� LULOL÷L����J�ELWNL� LOH�*�6�NRPELQDV\RQXQGDQ�HOGH�HGLOPLúWLU��
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<DSÕODQ�DUDúWÕUPD\D�J|UH��\DSUDN�DODQÕ�YH��\DSUDN�NORURILO�LoHUL÷L�J|OJH�YH�VX�G�]H\L� LQWHUDNVL\RQODUÕQGD�|QHPOL�EXOXQPXúWXU��(Q�\�NVHN� \DSUDN�DODQÕ� ���FP� LOH�*�6� X\JXODPDVÕQGDQ� HOGH� HGLOLUNHQ�� HQ� G�ú�N� \DSUDN� DODQÕ� �� FP� LOH� *R6�X\JXODPDVÕQGDQ�HOGH�HGLOPLúWLU��<DSUDN�NORURILO�LoHUL÷L�����LOH�*�6� X\JXODPDVÕQGD�WHVSLW�HGLOLUNHQ���HQ�G�ú�N�\DSUDN�NORURILO�LoHUL÷L�*R6� X\JXODPDVÕQGD�VDSWDQPÕúWÕU��
*|OJH� YH� VX� VHYLOHUL� DUWÕNoD� \DSUDN�PHPUDQ� SHUPDELOLWHVL� G�ú�ú� J|VWHUPLú��WHUVL� GXUXPGD� LVH� DUWPÕúWÕU�� *|OJHOHPH� X\JXODPDODUÕQÕQ� PH\YH� �� 6d.0� LoHUL÷L��]HULQH� J|OJH� X\JXODPDVÕQGDQ� oRN� VX� G�]H\OHULQLQ� GDKD� EHOLUJLQ� ELU� HWNL� \DSWÕ÷Õ�VDSWDQPÕúWÕU�� $QFDN� VX� X\JXODPDVÕ� D]DOGÕNoD�PH\YH��� 6d.0� LoHUL÷L DUWPÕú�� DNVL�GXUXPGD�LVH�D]DOPÕúWÕU��*|OJH�YH�VX�X\JXODPDODUÕQÕQ�PH\YHOHULQ�3K��]HULQH�EHOLUJLQ�ELU�HWNL�\DSPDGÕ÷Õ�EHOLUOHQLUNHQ��J|OJHOHPHQLQ�DVLW�RUDQÕ�G�ú�UG�÷��VDSWDQPÕúWÕU�
*|OJH�YH�VX�X\JXODPDODUÕ�ELWNLQLQ�WRSUDN�DOWÕ�YH�WRSUDN��VW��RUJDQODUÕ�\Dú�YH�NXUX�D÷ÕUOÕ÷ÕQD�IDUNOÕ�HWNLOHU�\DSPÕúWÕU��*|OJH�YH�VX�G�]H\OHUL�DUWÕúÕQD�SDUDOHO�RODUDN�ELWNL�WRSUDN�DOWÕ�RUJDQODUÕQÕQ�\Dú�YH�NXUX�D÷ÕUOÕN�GH÷HUOHUL�D]DOPD�J|VWHULUNHQ��WRSUDN��VW��RUJDQODUÕQ�\Dú�YH�NXUX�D÷ÕUOÕN�GH÷HUOHUL�DUWÕú�J|VWHUPLúWLU��
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6800$5<
7KLV� VWXG\� ZDV� FDUULHG� RXW� WR� GHWHUPLQH� HIIHFWV� RI� VKDGLQJ� GHQVLW\� DQG�LUUJDWLRQ�OHYHOV�RQ�VRPH�SKHQRORJLF�SURSHUWLHV��VRPH�FOLPDWLF�FKDUDFWHULVWLFV��KDUYHVW�SHULRG���VRLO�WHPSHUDWXUH��IORZHU��OHDI�DQG�SODQW�FKDUDFWHULVWLFV�RI�³0XLU´�VWUDZEHUU\�
7UHDWPHQWV�LQ�WKH�VWXG\�ZDV�DIIHFWHG�GLIIHUHQWO\�E\�WKH�OHYHOV�RI�VKDGLQJ�DQG�LUULJDWLRQ� EDVHG� RQ� SKHQRORJLFDO� REVHUYDWLRQV� DW� WKH� EHJLQQLQJ� RI� EORVVRPLQJ� DQG�IUXLW� VHW� RQ� ³0XLU´� YDULHW\� ����� ������� ,QFUHDVHG� � VKDGLQJ� GHQVLW\� DQG� GHFUHDVHG�ZDWHU�OHYHOV�GHOD\HG�WKH�WLPH�RI�EORVVRPLQJ�DQG�IUXLW�VHW��6KDGLQJ�DQG�ZDWHU�OHYHOV�HIIHFWHG�WKH�KDUYHVW�SHULRG��7KXV\��LW�ZDV�REVHUYHG�WKDW�WKH�KDUYHVW�SHULRG�ZDV�IRXQG�WR�EH����GD\V�LQ������DQG����GD\V�LQ������
:KHUHDV�WKH�DPRXQW�RI�LUULJDWLRQ�DQG�SODQW�ZDWHU�FRQVXPSWLRQ��(7��LQFUHDVHG�GHSHQGLQJ�RQ�DLU�WHPSHUDWXUH�DQG�YHJHWDWLYH�JURZWK��LW�ZDV�GHFUHDVHG�E\�LQFUHDVH�LQ�VKDGLQJ�GHQVLW\��
,Q������DQG������WKH�VKDGLQJ�DQG�LUULJDWLRQ�OHYHOV�GHFUHDVHG�WKH�WHPSHUDWXUH�RI� WKH� OHDYHV� E\� ���� �&�� WKH� IUXLW� VXUIDFH� WHPSHUDWXUH� ����� �&�� VRLO� WHPSHUDWXUH� �����&� GXULQJ� WKH� KRWWHVW� GD\V�� +RYHZHU�� � WKH� VKDGLQJ� DSOLFDWLRQV� GHFUHDVH� WKH� DLU�WHPSHUDWXUH� E\� ������ �&� FRPSDUHG� WR� WKH� FOLPDWH� LQ� FRQWURO� WUHDWPHQW� DQG� LW�LQFUHDVHG�UHODWLYH�KXPXGLW\�XQGHU�VKDGLQJ�RI�HIIHFW�E\��������:KLOH��GLIIHUHQW�OHYHOV�RI�VKDGLQJ�GHQVLW\�GHFUHDVHG�WKH�OLJKW�GHQVLW\������� ������OX[�FRPSDUHG�FRQWURO��LW�GHFUHDVHG�WKH�SKRWRVHQWLF�DFWLYH�UDGLDWLRQ�YDOXHV�WR�����������PROP��V����
7KH�HIIHFW�RI�VKDGLQJ�DQG�LUULJDWLRQ�OHYHOV�RQ�IUXLW�ZHLJKW�DQG�IUXLW�VL]H� IRU�HDFK� SODQW� RQ� VWUDZEHUU\� �� 0XLU� F�Y�� ZDV� IRXQG� VLJQLILFDQW�� 7KH� PD[LPXP� IUXLW�ZHLJKW��IRU�HDFK�SODQW�ZDV�GHWHUPLQHG�WR�EH������J�SODQW�DQG�WKH�PD[LPXP��IUXLW�VL]H�ZDV�IRXQG�DV����J�SODQW�LQ�*�6��



��

$FFRUGLQJ�WR�WKH�UHVHDUFK��WKH�OHDI�DUHD�DQG�FRQWHQW�RI�OHDI�FKORURSK\OO�ZHUH�IRXQG� VLJQLILFDQW� IRU� WKH� VKDGH� DQG� LUULJDWLRQ� OHYHOV� LQWHUDFWLRQV� ZKHUHDV� WKH�PD[LPXP�OHDI�DUHD�ZDV�IRXQG�RQ����FP� LQ�*�6� WUHDWPHQW��WKH�PLQLPXP�OHDI�DUHD�ZDV����FP� LQ�*R6� JURXS��
7KH� PD[LPXP FKORURSK\OO� FRQWHQW� RI� OHDI� ���� LQ� *�6� DSOLFDWLRQ�� WKH�PLQXPXP�FKORURSK\OO�FRQWHQW�ZDV�IRXQG�WR�EH�DW *R6��DSOLFDWLRQ��$V�WKH�VKDGH�DQG�DPRXQW� RI� LUULJDWLRQ� LQFUHDVHG�PHPEUDQ� SHUPDELOLW\� GHFUHDVHG�� ,W� ZDV� GHWHUPLQHG�WKDW�LUULJDWLRQ�OHYHOV�DIIHFWHG�IUXLW���6d.0�PRUH�WKDQ�VKDGLQJ�OHYHOV��+RYHZHU��DV�WKH�LUULJDWLRQ�DPRXQW�GHFUHDVHG��IUXLW�6d.0���LQFUHDVHG�ZKLOH�VKDGH�DQG�LUULJDWLRQ�DSSOLFDWLRQV� GLG� QRW� DIIHFWHG� IUXLW� S+�� VKDGLQJ� UHVXOWHG� LQ� GHFUHDVH� RQ� OHYHOV� RI�DFLGLW\��
6KDGLQJ�DQG� LUULJDWLRQ�DSSOLFDWLRQV� VKRZHG�GLIIHUHQW�HIIHFWV�RQ�SODQW�RUJDQV�GU\�DQG�IUHVK�ZHLJKW�RI�WKH�SODQWV��$V�WKH�DPRXQW�RI�VKDGLQJ�DQG�LUULJDWLRQ�LQFUHDVHG�WKH� ZHW� DQG� GU\� ZHLJKW� RI� SODQW� URRWV� GHFUHDVHG� ZKLOH� WKH� ZHLJKW� RI� FDQRS\��FURZQ�OHDYHV��LQFUHDVHG�


